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ndoemoliol Lobgerdfoxgm 9bogg@lodgdol bembydol gogrosegdo
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Lbobgeddmgobgemml dmeml, dmygobogos @o@g@s@ydols Los goo-
dmASGHMA0Yge  Lodydomgddo  [o@mdmagboano  dolsgnols @™
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nogobo  0bFgtgbom  9dodygdebgb  dom  [obsdwgdomyg  39@lby
d9domdologgh.  og3Bmagdo @ {Oggmem  dspmog®bo  5@0sb
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dogagbol  mommgyen  gbodener  Mgogoboiosl  bomdoggds
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S>dmblbs:  Lodo®m bmdgdo ool gOmspgdmo m=1, oxg@gdo
>@0l Lyeo 10 (300, (0,1,2,3,4,5,6,7,8,9) 9bos sodbgl 3 300360 oly,
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Lo, 71— gOmosogog3g 9Jb39M0dgbBol ho@o®gdosms Momgbmdss,
boarem m— 4 —-3dmgagbols gJl3g®0dgb@gddo dmbpgbsms Momwgbmds.
dogogomgdo:

) 39dbogg®o  3mbdmeol  gobymxzommgdsd  sdm@dhgygao 100
geodog@osb s@dmshobs 5 {ybogdaao. gosdmgmm [ubwpgdyemo gao-
dogangdol go®@mdomo Lobdo®y.

>demblbs: 53 dgdmbgggsdo n=100, m=5 sdo@ma

5

m
=12 2 005,
P =210

2) 20 gol®merowsb, 18 dmbgws dobobl. godmgmo dobsbdo
dmbggo®@ol go®omdomo Lob'dody.
9

smblibs: WAy =22 _09.
20 10
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3) 3o3mbgdol godm@Eobsl @oeyobos, MM go®golio gogmbgdols
Bo@mdomo Lobdodgs 0.9. godmgmm godgolo gogmbgdol @ozbgo,
09 dgbolifogamo oyem 200 gopymbo.

Sdmblibs: W(4)=0.9 n=200, m=?

W(A) == m=W(4)-n=09-200=180 goamb0.
n

4. sSgpodosnmdsms Uggdgdols ©o
25dM5gemgdols mgm@gdgdo

3oblobpgMgds: m@o 4 s B dmgangbols xsdo gfmegds olbgm
dogan gbol, @mEgbsi swyomo oJgl ob A4-U b B-U, ob¢yy 53 dmgang-
bomogob gom-gaml ds0bgs.

dogomomo: 4 — m@0 godomgmols spgdolol xsddo 8-ob -
xEemds; B — m®o godsmgaols spegdolols bod®ogendo 12-ol o-
xmds;  A+B — oo 3odomgeol sgogdolsl xoddo 8-ols 5b bod-
@ogen'do 12-0l oxmds.

2oblobwgmgds: m®o 4 s B dmgangbols bsddsgmo gfmwgds
obgm Jmgangbsl, GmIgemols EMLsE sEaomo 5]l m®o 4 s B
dmgergbols gOm@@OmYs dmbogbsl.

dogomomo: 4 — m®o godomgmol spegdolsl xoddo 1l-ol o-
xemds; B — m@0 godsmgmol sagdolsl bod@sgendo 30-0L  o-
xMds; 4B — m@0 3odomgerols sagdolsl wogds SA6 5b 6AS.

3oblobgmgds: m® A4 s B dmgangbsl gfmogds s@smsgbgdswo,
09 dg9dengdgenos domo gOAmEAOM Yo dmbogbs.

dogomomo: 4 — m@Ao godomgmols spgdoliols @afo xodol o-
x©Mdd>; B — m@o jodomgmol spegdolols xoddo 7-ol ox@mds; 4
> B s@osmogligboo dmgangbgdos.

3obLobwg@gds: m@ A4 o B dJmgagbsl gfmegds @sdmygzomg-
dgao  dmgargbgdo, o9 gOmol dJmbogbs 5@  obpgbl  dogagbsls
dgmeg dmgegbsby.

0 g gds sSOsmsglgdseo dmgamgbgdol xodol sgndsmmdbols dgL-
5bgd: A0 sAomogligdowo A4 s B dmgagbol xodol sgodsmmds od
deogan gboms sgndommdgdols xodols Gemanos:

p(A+B) = p(4)+ p(B). (7)
d9b0dgbs: 0 gm@gds dognsdos bgdolidog®o Lobdgao omwgbm-

ol {gg0e-{ggoemo@ s@osmsaglgdowo dmgagbgdol xsdobomgolss, g.o.
P(A + 4y 44 A,) = p(A) + p(4;) +-+ p(4,) 5 (8)

by p(lan: Aij - ZZHI‘,p(AI-)- )

12



0gm®gds M@0 ©EIMY oEgogmo dmgargbol bsd@msgmol Sends-
0mdol globgd: m@o sdmyzogdgero dmgenrgbol bod@sgmols san-
350mMbs 53 JMgangbosms sandsmmdgdol bod®ogeol Gmeros:
p(4-B)=p(A4)- p(B). (10)
d9b0dgbs: 0 gm@gds dognsdos bgdolidog®o Lol gao Gomwgbm-
ol {ygoa-{ygomom ©odmyzomgdgero dmgergbgdobomgols.
p(A -4y A,) = p(4)- p(4y)---- p(4,) 5 (11)
obey

{E{AJ:]j[p(A,-). (12)

0gmMgds  OH00gONESIMJogdbymo  Imgegbgdol  bsd@sgaols
S dsmmdols globgd: M@0 YO0 MM EsIm goegdgao  dmge gbgbols
bod®ogamols sandosmmds godols gOm-gOmo domasbol sepdommdols
bod@oganls dgmeg dJmgergbol 300Md00 SeEwdsnmdsby, My 3oMggero
degangbs 99339 dmbgos:
p(4-B)=p(4)-p,(B) (13)
p(4-B)= p(B)- py(4)°
p,(B) — B dmgamgbol dmbegbol osmdsmmdbss, oy A4 9339
dobes,  bogm p,(4) — A dmgengbol dmbegbols sapdsmmds, e B
9439 dobgo.
0gmAgds m@0 moglgdseo dmgmgbol x5dol SeEdsMMISDY: MA0
0ogligdoo  dmgangbol xodol sgdosmmds go@ols 53 dJmgangbgdols
SEdomMdsms xodl, 399300909 ls Jomo bod@sganols sendsmnmdom.

p(A4+B)=p(A)+ p(B) - p(4-B). (14)
Lodo dmgangboli xsdolbomgol 339]69ds Fe@dyens:
p(A+B+C)=p(A)+ p(B)+ p(C)— p(4-B)~ p(B-C)—p(4-C). (15)

dogogomo:

do@o®mgderols goambdo 15 dgbog@os, domasb 5 gdoggmms. @g-
g3obm@o 5dm{dgol 3 dgdmbgggom dgbogdl. godmgmo s@dsmmbs
0dolbs, @™M3 @ggobm®o s@dmshgbls gohm gdogogmml doobgs.
>demblibo:

B — ®930bm@0 s@dmsohgbl 1 ¢doemgmmls;

C — ®930bmG0 50dmshgbls 2 9gdoangoml;

D — ®930bm®0 50dmshgbl 3 gdoengmmls;

A4 — ©930bmA0 >@dmshgbl 1 ¢9doagmnml dsobgs.

A=B+C+D, p(A) = p(B) + p(C) + p(D),

p(B)= S = 0= St =2,
C;-Cp 2

D =—=—’
p(D) ci ol

13



45 20 2 67
A)=—+—+—=—.
P = o o T o

3oblbobwgagds: 4 dJmgergbols Lado@oldo®m dmgamgbs gfmogds
olgon — 4 demgegbol, Gmdgemog bgds 35dob, dm@Es 4 demgangbsls
sMo oJ3l sy ogo.

Lodo@olb3do@mm dmgangboms xod0 Fo®dmowygbl 9gkgger dmgang-
bol, 530@™d dobo Sepdsmmds gHomol EGemanos:

p(A+A4)=1. (16)
3930900l Bm@Igaols 35dmygbgdom dogowgdm, @I
p(A)+ p(4) =1, (17)
ob9y
p(A) =1-p(4). (18)

20dMm3094gbmm  gm@Iygeos (18) o sdmgblbom  {obs  sdmzsbs
dgm®g a%boo.

A4 — @930bm@0 s@Imshgbl 1 gdoggomml ds0b(s.
A — ®930bmA0 390 >0dmshgbl ggmEgmm Ydoggmml.
p(A)=1-p(4),

— Gy 24
P(A):C—éZE,

24 67

0. p(d)=1-2_5"
0. P =1=="

dogoomygoo:

1) Amds@sdo osGol mgm@gyeol 10 3md3grgdBo, dompsb 4
SOSLGSboM@GYaos.  aodEomgdgeno ‘dgdmbggzomn 5Im{dgdl 3 3md-
30 9JdL. go3mgmm sgdsmmds 0dols, G™3 ol bobogl gOm s@OSL-

Gobs@R e 3md3egdBl do0bgs.
sdmblibe:

A — 25330 gdgemo bobogl g0 s@oLESbLsOF Y 3md3e @l
doob(s;
A — 25930@gogmo gg® bobogl 390390 m  SOSlESbSM e
333 9Bl
c; 5

P(A)=1—P(Z)=1—C—13O=g-

2) A 0o A, ©odmygogdgeo dmgergbgdols dglsdsdolo sgndo-
06905 p; @S Pr. §03MZ3mMm  sSendsmmds 0dobs, @md o3 dmgegbg-
b0sb dmbpgds Jbmerme gOHmo.

sdmblbo:

B; — 3mbpgds dbmame A4;;

B; — dmbpgds dbmermo A4,.

14



B, =4, 'Zzs

B,=4,-A,.

S dommds  0dobs, @M A;-ob s Arsb dmbrgds dbmenmo
9JOHN-9MO00:

p(Bl+Bz):p(Bl)+p(Bz):p(A1'Zz)+p(‘q1'Az):

:p(Al)'p(Zz)"'p(Zl)'p(Az):pl'(1_p2)+p2'(1_p1)~

b'dodo 1-p-b o@bodboggb g-mo, d5dob

p(B +B,)=pq, +q,p,.

3) sgo®ool Loabognobsioobomgol goambby oygbgdymos m@o
©5dMY30gogs©  dmdydogg  Lopabosgrobos@mmo. sadsmmds  0dobo,
@m3d  5goMoobols  3odggero  Lopbosgobos@m®o od9dogegds, godol
095, bogrm dgmag Logbsg@obs@m@obsmgols — 0.9. godmgmm sende-
0mds 0dolbs, @m3 sgo®oolsl o3y doggds dbmermo gm0 Log-
bognobos@m@o.

S>dmblibs:

Bi— 539do3090s 30039e0 Lopbosgrobos@medo A4;;

By — o39dogpgds dgm@g Logbogrobs@mmo A,.

B, = 4, 'Zza

B, = 4, 'Zla

P(B, +B,) = p(B))+ p(B,) = p(d, - 4,) + p(d, - 4,) =

= p(4,)- p(4,) + p(4,)- p(4,)=0.95-(1-0.9) + 0.005-0.9 = 0.095 + 0.045 = 0.14,

4) m@o ddgogeembsbo oligdol dobsbdo. 0dol sandsmmdbs, G®I
3003900 dmo®MBYyogl d0bobdo 0.7-05, dgm@olosmgol — 0.8. godmgmm
S0 dsmmos 0dolbs, @®3 LOm@olsl dobobTo dmod@Gyoglh dbmenme
gomo ddgogrembsbo.

3obbo:  p(4)=038.

5) Bgdbogn®o 3mb@Omaol gobymagoggds sdm{dgol @ o g-
b0l LEobos®@gmmdsl. 0dol sgrdosmmds, Gmd gfogo LEsbps®-
Aae00s, Yo@ol 0.9. godmgmm sadsmmds odobs, G m@o dgdm§-
d9099@0 gRsoEsb dbmame gOhmos LEsbos®Fygano.

sdmblibs:

A — 30039@o0 5dmEgdbygmo B oo LESbos®EYuos;

A — 3003900 SIMWISPE0 A0 SOSLESbESOG YE0s;

Ay — 3gm@ g sdmegdbyeo g @omo LESbos®FYaos;

A,— d9m® 9o 53m0gdgeo g0 SMLESbEsOE Y 0s;

A — dbogme 9O00 ©gH oS bESbES®GHYEo;

A=A A, + A4 - A,,

p(A) = p(4)- p(4,) + p(4,)- p(4,)=0.9-0.1+0.1-0.9 = 0.09 +0.09 = 0.18.
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6) Logmbeool domgdbyano 3o@E00©sb Lodmbgedimwby s®hggls
gdoaglo bo®olbbols Lombgenl. 0dol sgdsmmds, G™3 dgdmbgg-
3000 50090 bofo®do s@ol Yds@erglio bo®olbol, s@ol 0.8. godm-
3000 sgdsmmds 0dolbs, MM smgdygmo 3 bofo@dowsb Ibmenmo 2
>Mol ¢domenglio bo®olibols.

sdmblsbo:

B=A A, -A,+ A -A, - A, + A, - 4, - A,
p(B)=p(A, - A, - A)+ p(A, - A, - A) + p(4, - A, - 4,)=3-0.8>-0.2 = 0.64-0.6 = 0.384.

7) bEegbdo gdgdl Lodko®m gm®dyesl Lbsd 3bmdsdTo. 0dol
SEdomMds, AMmd  GmAIPas s@ol 3oMgger, dgmeyg, Igbsdg (3bm-
d5@do, Jgbodedolbow  go@ol 0.6; 0.7, 08. go3mgmm sa@dsmmds
0dobs, MMI Q@I Yas >@Oob:

>) dbmgme 9O (36mds® do;

d) dboerme ®@ 36mdo®do;

a) Lodogg (36mdo® do.

3oligbo: o) p=0.188; d) p=0452; ) p=0336.

8%) dobobdo dmbggo®ols sadsmmdbs s@ol 0.8. @sdpgbo aob-
OO@ss bodo®m, M3 sepdommds odobs, Gm3 5@ 0dbgds sOEgOMO
530965, 04-bg bogangdo ogmls?

SAMblLbs:

A — 30Gggero LOmeolsl dmbggods;

Ay — 3gmeg LEmerobsl dmbggo®s;

A, — n-960 bOm@olsl dmbggo®s.
P4 -4, A4,)=p(4) p(4,)- p(4,)<0.4,

08" <04 < n-1g0.8<1g0.4, n> lg0.4 _ logys
1g0.8 ‘

3obgbo: n>5
5. 30006000 >Ed5MMES

9) d0d@ommgzodo serdsmmdbol mgm@ool 6 Lobgerddwgsbgermo,
AMdgEmsasb 3 yoomss. dodemommggo®o dodpggamdon omgdls 2
bgdolidog® Lobgaddmgobganml. g03mgmm  sgdosmmds  odols, @™
M©039 Lobgerddwgobgerm gwosbos.

Sdmblibo:

A, - 306390 (oabo goomoso,

4,-3gmeg Foabo goomss.
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Sandsmmds 0dols, Gmd dqgmE@ 0ab0 omss 0dol 999 ,
< HAARH) 6b0G deR d9RJ%

@53 gOmo yoosbo (oabo 9339 @osjmes mo®MU, pAl(A2)=§ (30-
AMO0M0 SEDESMNMES).

1
25 5

10) byddgddg®do mdogroldo IJm@Oydmyao mggdol Goibgo
S5O0l 6. g03mgemm sepdsmmds odobs, @md 1 ©s 2 U@ gddg@ls
0J690s @OYdaosbo >dobgo.

>deblbo:

Sendommds  odobs, @md 1 Ugd@gddgdl od0bpo @@ gderosbos

6 1
A)= — =—.
p(4,) 30"

300Mb0m0  sadsmmds 0dols, @md 2 LgRgddgdlsi dmow@ -
a0 gdo

PAl(Az)Zzig, J-0- p(Al'AZ):p(Al)'pAI(AZ):%'29 29"

1) xa9xdo 7 geoambs ©s 3 dodos. dgdmbgggomn odobgdgb 3
LA YEIbAL. godmgmm sepdommds 0dolbs, MM yggas godmdobgdyao
20mbs 0dbgde.

sdmblibo:

A, — 3003gemo© 25dm0dobgls gmambs;

A4, -39 g aodmodobgl amambo;

A, —-3gbsdg godmodabgl ymambs.

7

A)=—,
p(4) 10

Py (4,) =

2 1
dodobosdy, p(4,-4,) = p(4)-p, (4,)= 5

51

Nl NN

2
3 2

5
Py (4;) = g s

DU Ay ) = OA) Py (Ao p g () =52 =T

12) bayegbdds ool 25-@sb 20 Lsgombo. godmgmom sandsmmds
0dolbs, @m3d  LEHYEgbo dogogmols  Lsdogg Logombl  Lfm@ow
935b9bgdl.

>dmblibo:

A4, - bAYgbdBo 93sLybgdl I Logombls;

A, —9935L9bgol 1T Lsgombls;

Ay —935Lbgdl I Lsgombl.

20
4)==,
p(4) s

19
Py (4,) =£’

17



18
Py (4;) = 2_3 s

p(A, - A, .A3)_§.E.E_ S7
13) 1891 {enols 50§ g@om 0byerolido aodmgmobes, G®3: dogmge-
@ gds 35dgd0 o dgogngdo dgoagbgb (4-B) 5%-U, dogmgogmgds do-
dgdo o (30LYgAMgoegds dgogmgdo (4-B) — 7.9%, 30LggOmgogds
053930 s Yogmgomgds dodgdo (4-B) — 89%, (obgg@mgomgds
353930 s 30LYYOMgoEgds dgoengdo (4-B) — 782%. godmgmm gog-
‘do@0 dodols s dgogmol mgogms 9@l dm@olb.
>dmblibo:
p(A-B)=0.05; p(A4-B)=0.079;  p(4-B)=0.089; p(4-B)=0.782;
300Mb0m0 S dosmmds 0dols, @M dgogmo dogmgoggdss, ey dodos
‘Pogmgoem gdos
p(4-B) p(4-B) 0.05
P.4(B) = = ==
p(4)  p(4-B)+ p(4-B) 0.05+0.079
Sendommds  0dols, Gmd dgoemo  olggemgogdss, ey dods
‘dogmgoa gdos
p,(B)=1-p,(B)=100.4=0.6;
Sedommds  0dols, @md  dgoeno  dogmgogmss, oy dods  (30L-
RJON GO gdod
pZ(B):p(Z;B): _PAB) 0.
p(4)  p(4-B)+ p(4-B)
S0 domMds, Mmd dgogro 30L8gOMgoEgdss dodslisgom:
p;(B)=1-p.(B)=1-0.102=0.898.

=039~ 0.4;

6. ®53mgbodg dmgmgbosb, gHmols ds0b(3
dobegbols sadsmmdol yodmmgens

aobgobognmo  odmygogdgeo  bpmdoangdgdols  LolEgds
A, 4,,....4,. gmdzom, Ebmdognos mommgygmo  domasbols dmbogbols

>e0domnMds: p(4) =p,, p(4y)=py,....p(4,) =D,
@53 dmgmge 93 gabsodsw hoogdgds:
p(A)=p, i=Ln. (19)
dgbododolbo o3 bpmdogngdosms o6  dmbogbols  sgrdosmmdgdo
0J6g0e:

p("zi):l_pizqi' (20)

aobgobogrmm  obgmo A dmgergboli  sepdommds, @mdgenlis
5000000 5Jgl d5Tob o Ibm@me dodob, myy begds bpmdoangdsms
4,,4,,...,4, LobEgdowsb gdmo doobz. @bowos, @md A dmgeogbols

18



Sendommds ‘dgodengds 2odmgmgsmmm o3 dmgagbols Lofobssmdwgym
A _Imgargbols sandsmmdols 399g9md0m, A=4 4,4, ©
p(A)=1-p(A)=1-p(4, -4y 4,), (21)
ob9y

p(A)=1-q,-q,q,. (22)
09 4ggees 4, bpmdogngdoli sgodsmmdgdo gOmAsbgmols Gmeoos, do-

‘dob (22) gm@Igas dJoowgdl dgdwgy Lobgls:
p(A)=1-q". (23)

dogogomygdo:

1) geodsgenols gangd@d®mJlgendo dodwggdmdom s@ol ho@myao
Lbodo gergdgb@o, GMIangdo d9domdgb gOmIsbgmobogob ©odmeyzo-
©0gd@o. 0dol SeEndommdgdo, MM sbosbEgds 3oMggaro, dgmmdg Sb
dgbodg gangdgb@o o Jlgando w@gbo 5@ 33946905, dgLododolow
9@l

p,=01, p,=015, p,=0.2.

3030300 >endonmds 0dols, Gmd Jlgendo ©gbo 0bgde.

Sdmblbs: @o@ash ganrgdgb@gdo dodpgg@mdomn s@osb  Jlgendo
homoao, gOmoiE Gmd sbosbpgl, ©gbo dgfywgds. Lodgdbo san-
dommds dgbodsdobo@ godmomgagds (22) gm@dyeon:

p(A)=1-q,-q, ¢, =1-0.9-0.85-0.8 ~ 0.388 .

3) sgmdommos 0dols, M®A Lbbsodg®o gohmbger doobz dmo®@yogl
dJobobdo Lodyxg® gob®maobsls go@ol 0.875. godmgmm sa@dsmmds
0dols, MmI 1bo03gmo ssb0sbgdl badobbgl g@mo asl®menom.

>dmblbs:  dobobdo  gOombger  do0bz dJmbggedoli  sgodommds
bodo aol®mmenols dgdmbgggsdo godmomgergds Bm@IPaom:

pA=1-¢",
booi g— o®ol gomo aobdmaols s3oergdol sgndsmmdo,
0.875=1-¢’ © ¢’ =1-0875= ¢’ =0.125< ¢ =0.5;
dodolowadg, In@EFYIol sendosmmds 0bgdo:

p=1-¢=1-05=0.5.

4%)  @omoi gobogy® Lowowgl ddsgomxg®  bemdsggh. sende-
0mos 0dobs, M gobmdgs 0dbgds Igpeo Yool p—b. godmgmm
3obmdgoms ol n Jobodogny®o Gomgbmds, OMIol OMLsE oS-
d5mmobs 0dobs, MM ghmo gobmdgs ds0bz 0bgds Ipeto p>a.

>dmblsbo:

P(A)=1-q">a <

g <l-ae(l-p)<l-ae

<lg-p)' <lgl-a)<=n-lgl-p)<lgl-a) <

Jlgl-o) {lg(l 0{)} ‘L
lg(l-p) lg(~ p)
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ONTCRNS
l1-p<I.

7. LOgEo sSeEndsmmdol BmAIs

09 B,,B,,....B, bpmdoggdboms ©@sdmyzoegdgeo LOyeo Loldg-
dos,  35dob A4 dmgengbol  sendsmmds,  Mmdgeroi  begds  0d
dgdmbgggsdo, my saomo 53l Ibm@mme gaHol 53 bpmdogngdoms
(Godmmgboms) {B,}
ol gem@IYeom:

p(A)= p(B)) py (A)+ p(B,) - py, (A) +---+ p(B,) py (4) . (24)

dogogmomgdo:

1) yyodo, G@Igendoi ogm 2 dy@omygms, hogl gOHmo mgondo
dyg@mges. odoll dgdpgy dgdmbgggom  Sdmowgl gOmo  dydomygas.
3030300 > dsmmds 0dols, O™ sdm@gdyeo SYdmgms  0dbgds
0900, o9 Lsfygobo m@o dg@nygmobsmgol ygges Rg@o  sbe-
‘d3960 ©s Y3bmbdoo.

sdmblibe:

A — s3mmgdygao dg@mygas mgon@os.

‘dgbodergdganos  dgdgao  d03mmgbgdo  9Ebmdo  dydmyegdols
dglobgo:

B — :go@o 5@ oym dsm dm@ol;

LbobiGgdowsb, aodmomgangds LOYmo sendsmm-

1

B; — g®mo0 mgm@o 0gm;
B3 — m®039 04m 0gm®o;
@o©yob B,B,,B; — 53m{y®o396 g3gms dglodmgdamdsls g.0. LeYy-

@0 LolEgdss, ©> om0 SEdsmMdIE0G HME0S  p(B,) = p(B,) = p(B,) = -

3
FgLododolo@ 30MMdMmmo sgndosmmdgdo 0bgds: pBl(A):%’ pgz(A)zg,
P, (A)=1. 35T0b A-dmgamgbols sandsmmds (24)-0l dobgogom 0dbgds:
2

p(A)=p(B,)- py (A)+ p(B,): py,(A) + p(By) - py, (4) = 3

) g9mdo oym n dy@myens, hogl gohmo mgodo, dgdogy
>dmomgl ‘dgdmbggzomn gamo dyg@mgms. 303mgmm sendsmmds 0dobs,
Amd  sdmWgdgmo  dY@mPgms  sGol  mgmco, oy Lsfyolbo dyc-
0y gdol 93g@ol dgbobgd ygggers 30dmmgbs mobsdos®o sadsmm-
doloo.

Sdmblibs: A —sdmmgdygeno dy@myges mgm®os. dglsdanem dodm-
0 gbgdo 0dbgds:

B; — oym 0 mgo&o,

B; — oym 1 mgo&o,
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B3 — o4 2 mgm@o,
By — oym 3 omgmeo,
By — oym n ogmeo.

Goaob 0Lobo MobsdsMobomy@bo >@0sb

1
p(B)=p(B,)=--=pB,,)=—7
n+l
JgLodsdolo 30MMdomo sendsmmdgdo 0bgds:
1 2 3
Py (A4) = il P, (A) = Tl Py (A)= Tl P (A)=1.
do'doboady,
P(A)=p(B ) py(A)+ p(By): py, (A)+---+ p(B,,) ps, (A=
1 1 1 2 1 3 1
— . + . + . 4+t 1=
n+l n+1 n+l1 n+l n+1 n+l n+l

1 ( 1 2 3 j 1 1+243+--+(n+1)
= + + +--+1|= . =

n+l\n+l n+l1 n+l n+l1 n+l1
_ 1 2-1+n+1-(n+1): n+2 ‘
(n+1) 2 2(n+1)

8. d509Lol @Iy

o9 (B}, bomdomgdoms LEgmo, ©sdmyz00gdgeo  LoliGgdos
> A dJmgmgbs bpgds 0d dgdmbgggedo, Gm@Es  saoeo  oJ3l
dbo@me 900l o3 LobEgdosb, dslmsb Gbmdbogos, @®md 4 dmg-
@gbs 9339 dmbs, d5Tob dodmmgbgdol sepdommdgdo  ‘dgodengds

@b YLBgoye 0dbgl dooglol gm@Iyegbdbom:

_ p(Bi)'pB,- (4) .
pA(Bi)_T i=1,n, (25)
boos(s
p(A)=p(B,): py(A)+ p(By) py, (A)+---+ p(B,): pg,, (A). (26)
dog o 0mo:

M@0 Losd]@m 9dgzgol gOmboo® ©g@omgdl, @mdergdoz dog-
Towgds Logdhmm  3mbggog@l. 3oéggemo  Losd@ml [omdopmds  2-
x9® dgBos Igm@glbmsb dgosdgdom. 3o@ggao Losdd®m Lodygsmme
«9dggol 60% (ubwoymgdge  Lombganl, bmeom dgmeg — 84%-L.
3Mbggodosb  ‘dgdmbggzomn  smgdgmo  g@Eoo  s@dmbbps  {4b-
5Y©IOJE0.  g03MgMm  Sedsmmds  0dols, ®mId gl g@owo
sdboes 3oMgger Losdd®mdo.

>dmblibo:
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A — pgBomo [ybosyggdgemos. 339d69ds 303mmgbgdo:
B; — og@omo I bosddOmwsbss,
B, — og@omo II Lssddmoabss
@o©aob I Losdjoml Fomdopmds 2-x 9@ dg@os dgmmgbyg, 239690

2 1
p(B) =3 p(B,) =3

Py (A)=0.6  (60%),
Py, (A) =084 (84%),

2 1
p(A)=p(B,): py (A + p(B,): pg, (4) = 3 0-6+5-0.84=0.68.

bodogdgero @sbylEgdbyero serdbosmmds 0dbgdes:

(B)_p(Bl)'pBl(A)_3 ' _&
Pato P(A) 068 17

9. 3563gm@gd0mo gJl3gMmodgbdgdo. dg@Mmbymols gmEAIyas

9O®os0degg 9Jl3gm0dgb@gbol n-xg® ho@omgdolsl GOmEglsg
Lbodo®ms  o@aobogl dmEgdye  ©sdmyzogdge  94b3gMm0dgb@gdls
do@ol A dmgagbol aodgm@gdol @oibgo ¥bws gobo®ygdbermm
bg@byaols mgm@gdoom.
3gMbgeol mgmmgds: serdommds 0dols, MM 1 MY J0Ydgeno
9Jb39®039b@GHol  ho@odgdolsl, 4 dJmgagbs, @®dgrol sepdbommdss
000mmgyee 9dl3g@0dgb@do s@ol p, dJmbegds k-x 96 go®ol
p.()=Cyp"-q"", (27)
[SNYCRYES
g=1-p. (28)
S0 dommds 0dolbs, @M 4 dmgangbs dmbogds:
5) k-bg bogergox g®;
d) k-%g 398x90;
2) k-bg 5@5bs 3 gdx g@;
©) k-by >G>939(9L,
‘dgLododolbow aodmomgangds Bo@I Y gdom:

2,0+ p, M) +-+p, (k=1 (29)
p,(k+tD)+p,(k+2)+--+ p,(n), (30)
P.(K)+p,(k+1)+---+ p, (n); (31)
p,(0)+p,(D)+-+p, (k). (32)
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dogogomgdo:

1) god@oggdgemo  mggdo SLdymgdl 10 @gobl. sedsmmds
0dols, ®md ol gogmbl dgedm{dgdl @ggobm@o, b o@ dgodm{dgol,
gONbs0M0s. g0dmgmm sepdommds 0dobs, @md mggdo dgdm{dgdoms
@oibgo o0dbgds:

o) 3-bg bogargdo;

d) 3-%g Ig@o;

2) 3-bg o®sbogangdo;

©) 3-bg >@o9dg@gLio;

9) 0dbgds 1.

>dmblsbs:

. 1 k 1 IO—k_ 10! ‘ l 10
pw(k):Cm(Ej (Ej k(10— k)! [2} '

) P (0)+ pi(D+ py (2);
&) D@+ i (5) + Py (6) + iy (1) + piy (8) + Py (9) + py, (10);

6) Zplo (k);

Q)) Zplo (k);

101" 1"
8) Plo(l):ﬁ(EJ 210'(5j .

2) mGo geOmbso®o Lodgog@ol JmmsdsTdg modsdmdl do@s b
@S YROM S@dsmyg@os: ol, Gmd Jmoggdl gOm-gOmo 4-sb 2-x 9@,
09 ol, ™3 JMoagdl 6-sb 3-xg®? (4o0dgdo 5@ 0mgengds).
>dmblibo:

50356 JMko®o39960 Mobodo@o Loderog@ols 5@0sb p=%, 9-0.

g=1-p :% o dodobswsdy,

1 k l n—k 1 n
k — k - - — k - .
ra-ci(2) (1) -ei2):
S dsmmds 0dolbs, M3 4-sb 2-1 dmopgdl gom-gdmo, s@ol:
1 41 1 4 1 34 6
N=C*=| = L
P+(2) C“(zj 24-2)1 16 2120 16 2-16 16°
S dommds 0dols, HMI 6-sb 0dbgds 3 dJmygds:
1Y 6 1 456 5
N=Cl-| =— =22,
P 6(2) 3131 2° 6-64 16
9:0. p(3)<p,(2). 5by mobo 35OF00©SE MGl dJmygds YROM

SE0bomYM0s, oAy gdgbosb Lsdol dmggds.
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3) Loddmdosdm  dogos@odo 5 dogdgos. §o3mgmm  s@dsmmds
0dols, GmI o3 653d390L dm@ols:
S) ™Mo bodoos;
d) m@o ds0bz s@ol bdoko,
09 d0dol odogdol sgmdbommds p=0.51.
sdmblsbo:
4.5

|
S>) ps(2)=C:-p’-q :%-0.515 -(1-0.51)° :7-0.515 -0.49° = 0.31;

8) ps(2)+ps(3)+ ps(B)+ps(5) =D ps(k) =D CE-0.51"-0.49°F .

10. @sdmyzowgdge 943903963 gdT0 Jmgegbols Imbogbols goao-
dsmglo Gobgo

3oblbobwgagds: 0y mommgye  94L3g@m0dgbRdo A dmgengbols
Jobegbol serdommds gOmbso®os ©s godol p-L, d5dob gJl3g@o-
dgb®ol n-x 90 aodgm@gdolsl, dmgdyemo A4 dJmgergbols dmbogbols
MomEgbmdoms  g4ggerobyg @M  dJobognmebge k) Gomegbmdsls
9o dsmgl Goibgl fmogdgb.

goebdomglbio @oibgo ko 53dsgmxzoamgdls m@dsy gBm@mosl:

np—q<k,<np+q, (33)
5>dolmsb

o) my mp—g [ogoswo @oibgos, 357ob gagodgl  gOmogdMo
gogdsmglbo @oibgo ko;

d) oy np—g Jmgero @oibgos, 35Tob a35J3L M@0 Yogdomglio
@obgo, ky, ©> ky+1;

a) 09 np dogeo @oibgos, d5Tdob gomdsmglbo @oibgo k, =np.

dogogmomgdo:

1) gendsgenol 15 gergdgb@ol dgdm§dgdoliols, godmgmm 0d geng-
dgb@®gdol goadomgbo ®oibgo, Gmdmgdo godm@Esl gogdengdgb,
09 dSeErdommds  0dols, O™ mommgyero  dompobo  asdmisls
2o9dggdls, g@mbso®os s gomol 0.9.

S>dmblsbo:

n=15 p=0.9; g=1-p=0.1;
goedamglio ko @oibgo o3d5gmxzoegdls gEm@mosls

15-09-0.1<k,<15-0.9+0.9;

5bu  13.4<k, <144;

o050, 020 9bos ogml dogmo @oibgo dogowgm, G™I k=14.

2) bodmbgadimwby 5dm§dgol 3@mwadizool 24 bodydl. sends-

0mos 0dobs, mI mommgyeo bodygdo s@Mol godmbswgpo, go®ols
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0.6. go3mgmom 0d bodydms ogdbomgl @oizbgms @osmEgbmds, O®I-
@ 9dlboi Lombgerdzmeobyg dmofmbgdl.

S>dmblsbo:

n=24;, p=06; g=1-p=04;

9-0. 24-0.6-04<k, <24-0.6+0.6 06‘3 14<k, <15;
@oaob, np-g=14  dogeo  @oigbgos, gPomdsmglbo  @oibggdols
@omEgbmds s@ol m@o, sby k, =14, k,+1=15.

3) sgmdommds 0dobs, OMI dgamodo®o gopgzowodgdl s@ol 04,
@5dgbx g0 9bws dggbgogmn Igamos®lL, ™I owodgooms  Poao-
domglo @oibgo oymls 25?7

Sdmblsbo:
n=25 p=04 q=0.6;
np—q<ky<np+gq, §.0.
0.4n—-0.6 <25, 25<0.4n+0.4,
nﬁﬁ:64, Ko nzﬁ:ﬂj.
0.4 0.4

sbg, (7;003 62 < n<64.

11. §o®3m03]J3bgemo 960

>dodg gobgoboasgwom gJl3g®0dgbRgdl, Mol EMLsis A4
dogangboll dmbpgbols sendosmmds p  gOmbso®o ogm  gmggeo  gd-
139®0dgbBol wAmL.
sbens asbgobogrmo gJl3g®0dgb@gdo, G®Immgdoi jgersyg goOm-
dobgmologob ©sdmyzogdagdo 5@0sb, dopa@od A dmgangbol sends-
0nmos 3039 9JL3g@0dgbGdo  s@0lL  p;, dgmdg  gJL3g®0dgbE do
SO0 po,..., n-9@ 9JL3g@0dgb@do p,. pu(k) s@ob n gJl3g®modgb@do A
dogagbols k~xg® dmbogboli sadsmmoes.
Du(k) sSendommdsms Fo@d8mdJdbgero g9b6Ji30s gfmwgds
Y.(2)=(piz+q )Pz +qy) .. (p,2+4,) 5 (34)
396J0o0.
Da(k) @oibgmd@ogeo godol {os®dmd]dbgamo gybliools sdsm-
3039005 gegado 2" -l 309503096 L. spsmomsw, 0 n=2, 5ob
Y,(2)=(pz+q )Pz +q,) = p, - py 2" +(014, + 290) 2+ 40q,,  (35)
p,(2)=p,p, 5oL z?-0l 3mggxoEogbdo, (2 gJb3g®odgb@o, 4 dmb-
©)6> 2-%90),
p,(N)=pig, +p,g, 5@0L z-0l gmggzoEogbdo (2 gdL3g®odgbdo, A
dobegds gOnbge),
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p,(0)=q,q, oMol z’-0l gmgxoEogbdo (2 gJu3gM0dgbdo, 4 o6
dobogds).

dogoe@omgdo:

1) gendogo@l o3l Lodo g@mIsbgmolopgsb  w@sdmyzogdeso
dmdydogg gergdgb@o. ¢ @OMmol  aobdsgermdsdo  mommgymo  od
g gdgbBol  dgy390mgdemo  dgdomdols  sepdbommds  glodsdolow
go®ol p, =07, p,=0.8 p,=09; go3mgem sSepdsnmds odobs, @mI ¢
OAOMOL 2obdsgermdsdo dgyz9mgogo 0dydoggol: o) Lodogg gengdg-
260; d) mAo ganrgdgbBo; ) gOmo g gdgb@o; ©) SMEgOMo  gergdg-

0.
0 Sdmblibo:

p, =07 p,=08 p;=09; g.0. ¢=03; ¢q,=02; ¢;=0.1

930030600 Fo®dmdJdbgero g3ybjios:

Y,(2) = (p,z+q)(p,z +q,)(p3z +g5) = 0.504z° +0.3982% +0.092z + 0.006.

S) Sgdommds 0dols, Gmd Lodogg gergdgbGo 0dydoggdls dge-
39090@s© 9o@ols 3Jm9R030gbdL 2 -msb, g.o. p,(3)=0.504;

d) sendsmnmds 0dolbs, M Mo gargdgbBo 039doggdl dgyz9my-
dans ool jmggo3ogbdL z2-msb. g.o. p,(2)=0.398;

2) dadsmmdbs 0dobs, @mI gOmo gargdgb@o 0dydoggdl dgiy-
3909d@s© @0l 3Jmgxno3ogbdl z'-msb, g.0.  p,(1)=0.092;

©) Sepdommds 0dols, MMI sO3YOM0 gargdgbGo >@ 039 doggdls
391390 90@s G0l mogolygomo Fg3@o, g.0. p;(0)=0.006.

12. woligtgdgero dgdmbgggomo Lowowggdo

3oblobegmgds: dgdmbgggom Lowowgl gfmegds ©olg®gdgmo,
my  dobo dgbsdene  dbodgbgermdgbols  Lod@ogang LobGyaos ob
0 gE0S0.

dogogomag: X={2; 3; 7; 5; 1}.

3obLobmg@mgds: wolig®gdyao dgdmbgggomo Lowowols gobsfo-
@gdol  gobmbo gfmwgds @Ebdoal, Gmdgeoi dgoiogh dglodanm
db0dgbgamdgdl dglodsdol sgrdommdgdmsb gBmsg.

olg®gdgero  dgdmbgggomo  Loowol aobosfomgdols  3obmbo
3903036 @@ LE®oJmbl. 3odgger  LE®oJmbdo dmzgdygmos  dobo
4ggeos  dgboderm  dbodgbganmdgdo, bmeom dgm@dgdo — dglodsdolo
S0 dsmmdgdo.

dogogomasg:
X X7 X, Xp
P Pi )2 Pn (36)
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p1 oMol sgndsmmds 0dobs, G®3 wobg®gdyero X dgdmbgggomo
ooy doowgdl x; 3b0dgbgeomdsls;

P2 depdommds 0dolbss, HmI X bowowyg doowgdl X, d60dgbgamdsls
s .4

@oaob  gobofoergdol  3obmbdo  dmbofoagmdl  X-ol  gggens

dglodanm  dbodgbgermds, olbobo  sagbgb  bpmdogngboms LAy
LoliBgdol, @o@ 0dol bo'dbogl, @™

le,:l- (37)
olgMgByero dgdmbgggomo Lowowol aobofoggdols 3obmbo  ‘dgod-
@ gds IM3999@0 06l Mm@ sbogobydsw,

P(X =x)=p(x,). (38)
51939, MR Y os3,  dsdobamgol  do®mgymbs g EobsFms
LobBgdodo 59696 {9d @G0 gols:
M, (x;5p,), My(xy5p,),- M, (x,5p,)- (39)
999y o3 VgoRoamgdl 590mgdgb dmbsizggmgdom. dowgdyen Qoae-
@ols aobsFoggdols ddsgoem 3gmbgol «fmogdgb.

3oblobgmgds: gobofogdols 3obmbl dobmdosagmo gfmegds,
09, 3oboboangds 1 sdmygoegdger  9Jb39M0dgbBgdl  dm@ols X
dogangboll  dmbogbols £ @smpgbmdoms  @oibgol  ©olig®gd oo
‘dgdmbgggomo  Lowowyg pu(k), GmIemols dglsdsdobo  sendsmnmdgdols

aodmmgms  [o@dmgol dg@byeol gm@dygemom. g.0. aobosfoagdols
3o6mbl 543l Lobg:

X 0 1 2 3 n
p Ppn(0) pn(D) Pn(2) Pn(3) pa(n)
p,(k)y=Cyp'q"™. (40)

09, 9439003963 gd0l n-Gogbgo wowos (n>200), bmeom dmg-
@gbol JmbEgbol sendommds p-3g@ow dzo®gs (p<<1), d5Tob sends-
0950l godmbosbyo®odgomam 094gbgdgb dosbenmgdomn @m@Iyeosl:

e
p,(k) = I; , A=n-p; (41)
5ddmdgb, @md Jgdmbgggomo Lowowyg aobsfoemgdymmos  395Lmbols
356mboo.

dogoe@omgdo:

) ©olg@gdygero dgdmbgggomo X Lowpowpg dmigdygemos  o-
bofogmgdol 3obmbom:
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X 1 3 6 8
P 0.2 0.1 0.4 0.3

5353mm aobs{oagdols IGsgog 39mbgo;

odmblibo:
M,(1;0.2), M, (3;0.1), M ,(6;0.4), M ,(8;0.3),
A
Pi M3
M,
M,
M,
> X,

2) obg®gBgeo dgdmbgggomo X bLopowpg dmEgdygeos gobsfo-
@ gdols 3obemboom:

o) X 2 4 5 6
P 0.2 0.1 0.4 0.3

3) b'e 10 15 20
P 0.1 0.7 0.2

5539m obsfoangdols dMsgom 39mbgo.

3) gogmbo dgoEegl Lsd gOmdsbgmobogob @sdmyzowgdemse dm-
d9dogg 90 gdgb@l. mommgyemo g gdgb@ol [ymdbowsb godmlgmols
Sendommds  godol 0,1, dggoaobmm  Fymdowsb aodmlya  gang-
d96@ms @5mEgbmdol gobsfoergdol 3obmbo.

Sdmblbs:  @o@ash  mommgymo  gergdgb@ol  Fymdbowsb -
doliganols sgrdommdgdo g@Omdsbgmol Gmenos, hggb a3s5Jgl dobmdo-
Seo@o gobsfomgds. Tymdowsb aodmlyga gangdgbBms Gomwgbmdy-
b05: 0 1 2 3. wogmgoenemm dglsdsdobo sadsmmdgdo:

3!

2,(0)=C"p°¢*° =@~1~(1—0.1)3 =0.9° =0.729;
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|
pgnz(gﬂq“:7%TQL092:30109ZZQZB;
|
pxmzcﬁff2=§%ni?ay=301?09=Qm7;
|
;g(3):=c§p3q33==§%;-013-05f =1-0.1"-1=0.001.

9-0. 6060%’0;@360.1) 3obmbl gdbgds Lobyg:

X 0 1 2 3

P 0.729 0.243 0.027 0.001

‘dgdm§dgoe:

4

Zpizl‘

i1
4) dggo0p0bmm  dobmdosgy®o gobsfoggdols jobmbo X wols-

9B geo  dgdmbgggomo  Lopopobosmgol —  g9@dol  sdmgo®bols

@5mM©gbmds dmbgBol mOxg® sgogdolsb.

S>dmblbs:  dmbgBol mOxgd  spaegdolol g9ddol  sdmgo@Ebs
dgodemgds  dJmbegl: 0, 1 ob 2-xg90. @o3 (o®dmopygbl X-ols
dglodanm  360dgbgemdgdl. dglodsdolo  sgrdommdgdo s0mgegds

g@byyerol geo@dygeom, Lowss p:%.
LYY -1
= 1[2] -,

N1y 11
D=C| =]z =2—==,
pz() 2(2j (2j 4 9

1 1
p,(2)= sz(g) =1
X 0 1 2
P 1/4 172 1/4

5) Lobgerddwgobgerm asdmi3gdgaos  Go@sgom 100 000 gabgd-
3 oM0. SeEndsnmds 0dobs, GMI Lobgarddmgsbgerm 3yo©ss o30bd-
9o s@olb 0,0001. godmgmo sgrdosmmds 0dolbs, G™MI Fodogo dgo-

3o3aL bgbioe S Fibrgdgm Lobyerddegebgeml.

>demblbs:  n=100 000 p=0.0001, k=5 @owpyob n wowo ®oibgos,
boerm  p d30@gs, hggb dgagodemos  aodmgoggbmo  3gslmbols  go-
bofogangde:
Aet
pn(k)= k!

2
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303(*)3(*)00 A=n-p=100000-0.0001=10
b (5) = 10°-¢™ _10°-0.000045
100000 \9) = 3) 120
6) JoObobod d5bodby googbogbs 500 bsggmmds. G@SELIMO-
B0®gdobols boggmmdol @obosbgdol sgrdsmmds s@ols 0,002, godm-
3o Sendsmmds 0dols, MM Wsbosbs bylFsw 3 boggmmds.

=0.0375.

>deblbo:
n=500 oo ®oibgos, p=0.002 — di30@g. goblboboanggeno dmg-
@9bgdo  gOmdobgmobogeb ©odmyzogdgenos, odo@md  gbws  ob-
gobogrmo 3995Lmbols gobsfoangds.
A=n-p=500-0.002=1;
et e 036788

3) = =—
Psoo(3) 3 6

=0.0613.

13. @olgMmgdgmo dgdmbgggomo Lowowggdol Goibgomo dsbsbosmg-
dangd0

‘dgdmbgggomo @olg@gd o Lowowols Lsdygsam db0dgbgarmdols
doboslbosmgdmo asbobogrsggh  domgdo@ogy® @mwobl.

3obbobwgmgds:  wolig®g@yero dgdmbgggomo  Lowowols  dsmg-
35303900 @mpobo gfmegos Lowowol dgbsdam  dbodgbganmdsms
‘dgbododol  sgdommdgdbyg bod®ogergdol xodl. os@obodbgds M(X).
9-0.

M(X)=xp,+x,p, +--+X,p,. (42)

0y dgdmbggzomo Lopowpg omgdl mgmso Gomgbmdols 360dgbg-
@®bgdl, dodob

M(X):ixipi . (43)

i=1
3500995303900 @mEobol mgolgdgdo:
1. 39wdogo Lowowol domgds@ogy®o gmobo mgomn 3 @oib-
gols Bemgoos:
M(C)=C. (44)
2. @wolg®gdygero dgdmbgggomo Lopopggdol «odol domgds@o-
3960 @mEobo domo domgds@ogzg®o @meobgdol xodol Gmeros:
M, +x,++x,)=M(x)+M(x,)+--+M(x,). (45)
3. 900dobgmobogeb  sdmyzogdgan  dgdmbgggom  Lowogms
bod@ogerols domgdoBogyco @mobo, 53 Loowgms dosmgds@ozgco
e mE0bgdols bod@sganols Geanos:
M(x;-xy-eee x,)=M(x;)-M(x,)-----M(x,). (46)
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4. dobmdosgryg@o gobsfoargdol djmbg dgdmbgggomo Lowowols
d0009do®049M0 @mEobo 9Jl3gM0dgbRgdol 1 Gosmegbmdols ©s gOHm
9Jb39®0396@do  Jmgangbols dmbgbols p s@dsmmdols  bsI@sgaols
GO0, §.0.

M(X)=n-p 47)

Lodygoene  db0dgbgeomdols  go®dgdm, dgdmbgggomo  Lowowols
dbodgbgamodoms  godbggol dobosbosmgdger  Lowowge gsbobogrsggb
©ol3g@bosls ©s LosTgomm JgoEMsg e aosb@sb.

3oblobmgmgds: oldgdlLos glmegds dgdmbgggomo  Lowowolbs
©> domgdo@ogg®@o meobols Lbgomdol jgo@s@ols domgds@ogg®
emEobl, 5b9

D(X)=M[X -MX)]. (48)
©ob3dg@lool (48) gm@Iyms dgodergds 2o35doMF03MmM, MY yo-
dmg0g4gbgdm domgdo@ogg®o gomobols mgoligdgdl:
DX)=M[X -MX)} =M(X*-2-X-MX)+(M(X)))=
= M) =2 (MO + (M (O) = M) = (M (X))
9-0. @oli3g@los aodmomgengds Bo@IYEom:
D(X) = M(X*)—(M(X)). (49)
ol3g®dlools mgoligdgdo:

1. 39edogol @oldg@los bygrols Fmenos:

D(C)=0. (50)

2. 3ypdogo dsd@ogemo aodmeol olidg®loowsb jgo@s@do oy-
39b0gno:

D(C-X)=C?-D(X). (51

3. odmygogdgero dgdmbgggomo Lowowggdol xsdol wolidgm-
Los, o3 Lowowgms woldg@logdols xsdols Gemanos.

DX, +X,+-+X,)=D(X))+D(X,)+-+D(X,). (52)

4. dobmdosgny@o  gobsfomgdol  woldg@los  godmomgegds
ROOIYYED0m:

D(X)=n-p-q. (53)
3obLob@g@gds: olig@g@ o dgdmbgggomo Lowowols LsBgsm
33°ROSG Yo 3dRsboS  gfmrgds  geerds@gm  Fabl wobsg@lo-

0@sb:
o(X) =D(X) . (54)
dogogmomgodo:
1) godmgmo wolig®gdaao dgdmbgggomo Lowowols dsmgds@o-
3900 @meobo, m9 dmigdyeos dobo gobsfoggdols jobmbo:

o)
X -4 6 10

P 0.2 0.3 0.5
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%) x 0.21 0.5  0.61
p 0.1 0.5 0.4

sdmblibo:

5) M(X)=-4-02+6-03+10-0.5=6;

d) M(X)=0.21-0.1+0.54-0.5+0.61-0.4=0.535.

2) godmgmo Z Lopowols domgds@ogy®o grmoobo, 0y dmzgdey-
@0s> X @s Y bowowpggool domgds@ozycdo amwobgdo:

5) Z=X+2-Y, M(X)=5 M(Y)=3.
3) Z=3-X+4-Y, M(X)=2, M(¥)=6.
>dmblibs:

5) M(Z)=M(X)+2-M(Y)=5+2-3=11.

&) M(Z)=3-M(X)+4-M(Y)=3-2+4-6=30.

3) X-wolgtgdygero dgdmbgggomo Lopowpg omgol Lsd dgbodenm
db0dgbgermdbol: x;=4 sgmdosmmbom p;=0.5; x,=6 sandsmmdomn p,=0.3;
©5 X3 SE0E50MS0m pP3. §03MgeOIm X3S pzmyy M(X)=8.

sdmblibe:
‘dggo00bmm gobsfoggdols 3obmbo:
X Xy X X3
P P1 D2 &
ob,
X 4 6 X;
P 0.5 0.3 P;

@oa5b DY p, =1=05+03+p, =1= p, =02;

M(X)=) x,p;=4-05+6-03+x,-02=8=

=02-x,=8-2-1.8=x, =%3x3 =21.

4) ©obgdgdgero dgdobgggomo X bLowowpyg ©gdoyemdl 36o'dgbg-
bgbl:

x,=-1 x,=0, x; =1,
obggg bmdogros 53 Lowowol s dobo ggo@s@ols domgds@ogydo
gomeobgdo M(X)=0.1 s M(X?)=0.9.

3030030M  x,,x, ©> x; Lowoggdol dglsdsdobo p,p, ©s p;
S0 dsmMdgdo.
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sdmblibo:

ptp,+p =1

-D-p,+0-p,+1-p, =0.1 H

(=D*p,+0% - p, +1° - p; =09

>d Lol gdol sdmbsblibgdos:

P =04 Py =2 p; =05

5) dm@igdyos X olig@gdygeo dgdmbgggomo Lowowols dglsd-
oy db0dgbgenmdgdo:

x =1L x,=3 x;=3,

51939, 3bmdogros o3 Lowowol s dobo 3go®s@ol domgds@o-
3960 @mEobgydo: M(X)=2.3 © M(X%)=5.9.

03mg9m X Lbopowol dglodene dbodgbgermdgdols ‘dglodgnm  san-
b5mmbgdo p,,p, ©S p;.

oA bLbs:
pi+p,+tpy =1
l-p,+2-p,+3-p, =23
1> p, +2%-p,+3"-p, =59
o>d LobBgdol 5dmboblibgdos
Py =02 P, =3 p;=05.
6) 03mg390 X ©obg®g@yero dgdobgggomo Lowowol olidg@los.
09 gobobogngds A4 dmgagbol dJmbegbol Gomegbmdgdo m@o  ©s-

dm9300gdgeo 3obsl, m9y m®ogg @esdo dmgmgbols sendsmnmdgdo
gOMbsoMos s 3bmdognos, Gmd M(X)=0.9.

>dmblibo:
X 0 1 2
p p2(0) p21) p2(2)

9:0. 235J3L dg@byaols asbsfoangdols 356mbo
M(X)=n-p=2-p=09= p=045
D(X)=n-p-q=2-045-(1-0.45)=0.9-0.55 = 0.495 .

7) 5809096 3090l A4 dJmgangbol dmbgbol gO®MbsoGo sandos-
0mdgd0m. godmgmm A dmgergbols dmbogbol serdosmmdbs, m9e Lado
aeobsl  dmgagbol dmbogboms ®oibgol dgdmbggzomo  Lowowols
©olbisdg@dlbos gomols 0,63.

Sdmblbs:  @oasb  (3gdo  odMYYI0EIdgEos  ©S  MOMMGYED
Gesdo dmgergbols dmbegbol sgrdosmmds gOmbsoos, 239]b9ds do-

bemdosgra@o aobsfoangds: Lodo eolsl n=3, D(X)=0.63.

33



DX)=n-p-q=3-p-(1-p)=0.63=p-p° =021
=p'-p+021=0= p,=03;p, =0.7.

aobgobogrmo  g3mbmdogols ols dJoGomso sdmi3ebgdo, @@mIenols

>dmblbs dglodgngdgmos mobodgedmgg domgds@ogyg®o dgmmegdols
Lodygoa gdoom.
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bsfoao II. g3mbmdogzol doGomswo domgds@osgdo
dmEgegéo > @sdmAOSGMA0Ymo bodygdomgdo

993> 1: ®92006T0 LoJmbaanbq LLoTqoemm asbols s bol LRo-
H] HES JeE0 by YOO G \SIY| V)
GoLE0gY®o Igmmeo

oo dnEgemdol  0bgm®dsigool  sdydoggdolsl, g3mbmdo-
35700 Qo@mmE a5dmoygbgds dmbsgdms sSbogobol LEsEolLEgy®o
dgomegdo. asbgoboammm LEsEoLEg0lL ol 3bgogdo s @oibgomo
dobggbgdergdo, @mIangdoz  oYEoEgogmos  Jmgdygeo  sdmsbols
3o boVg396 o5

bEos@obEogol (36909dLs @ dohggbgdergdls aodmoygbgdgb, dm(3g-
dge M9a0mbdo, @AMl dJmygarg dmbsyzgmgddo, gslol Iygwdogmdols
300md96do, LoJmbanol Lodygoenm gsbol dgbfegenobomgols, d5Tob
Om@Es  bogok®m  [gd@Goangdols  @omgbmds N oo  Goibgos
(N>1000) @o dom dm@ol dosbdogngdo Usgzdo®olos odolosmgol, ®md
doygbg@bgdgero gobogl yggers domgobol ‘dgdmgans.

do@omso (36g69d0:

2oblbobegmgds:  Mgaombol  Logod@em  F9@@oggdols  Logdomm
@0i3bgl glmegds ggbg@omy@o gOmmdgomdol dmiEygemds.

aobgobogrmo  dgdmbgggs, GmEgbsi agbgdsmyco  gOmmdeno-
Mool do@Eyeemds N=1000, 35Tob dobobdgfmbogros dmgsboobmm
Sdm@hggs  2gbgdomy@o  g@mmderomdowsh.  Lbgobso®o  @md
30350, yggees  Logokdm  {[g@@oggdoesb (N=1000) sdmgodhomo
dbmgrme bmgog@mo domyobo, dop. n=100, obg, G™I segoeo o0gml
od (90@oagdol dgdmgens o glodsdolo ggoligbols goggds. Sdm@-
hbggs obg 9bps aobbm®zogmogl, Gm3 dmEgdygero Ggaombols yggens
G50mbo 3OM3M@ oY@ ogml [omdmwa gbogro.

3obLobmg@gds: Sdm@hgg@o  Logod®m  [g@Boggdols  Log®om
@o3bglb gfmegds sdm@bggol dmEyemds.

hggbls dgdmbgggsdo sdm@hggols dmEyermds n=100.

dgdamd  dggobfogemon  sdm@bggol  LoTgomm  dsbslbosmg-
dangdo s dowgdyo dggagoo  3osgodobmm  (3bmdogro  Gem®-
dyegdom 2gbgdomy@ gOmMommomdsby.

30 Jgom sdm@hgyeo Logoddm §gdGoergdols dgdmgaols ‘dgdwgy
hggb dogowgm ®o0dg 3OmEY]Bol (dog. 3ydol) gobol dgdwgao
db0dgbgermdgdo mgm@gddo(dmbsizgdms LEsEobEGozn®o 3§ 3@og0):

40;40;40;...;40; 50:50:...;50; 45:45;45; 60:...:60; (1)

N R Nt it Nyt

10 - %96 70 - x9® 17 - %96
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Robgdol @ogbgms od dosbogol oliodydoggdemse dggoy0bmm-
g5@053090 3§ 3Mogo.

3obLobmg@mgds: X dobobosmgdeools 360dgbgermdsms  Gobgodg-
b0 gb@oanls, dgbsdsdolbo F Lobdodggdom go@osaogmo 3F3®ogo
aVorgos.

() dmbs3gdgdobomgols LEsAoLGogn® IF 3603 o3l dgdogao
Lobg:

X 40 50 45 60 (2)
F 10 70 3 17

3obLobmg@mgds: goliols dmigdyeo X, 360dgbgermdols aobdgm@g-
doms @obgl gfmegds F; LobDomg.

(2) LEsGobBogg®o IV 3050056 bowos, @M F;=10 330h3969dL,
@md goboll X;=40-0l Gmero dbodgbgemdgdo ggbgogds Sdm@hggols
10 Logod@dm (gd@oeQo, F,=70 g0, @md X,=50-0L @Fmeanro 3bodgbg-
emds — 70 Logok®dm {g@@oendo s ..

(2) bHSAoLFgy®o 3F3@0g0L Jmbogdms sdydoggds 0fygds
@5bgodgdoo.

3obLobwg@agds: LEsEAOLGH Y IF 3D03L, bowsi dobolosmgdenols
dbodgbgamdgdo  gobmoglgdyeos  bOwosmdol  ob  Jangdomdols
dobggom gV mwgds 567009090 0(35M05(309)800 97 30030).
20537 90mm  (2) LEsGobEogydo 3§ 30030 godosiEogmo 3IF3@0g0b
Lobom:

X |40 | 45 50 | 60
F |10 3 70 | 17 3)

20530090 (3) goMmosioygmo d(3@ogol Lodgogem doboslbosmg-
dagdol dgbfogersby.

Lodgoem  Isbsbosmgdangdo.  @obgo®gdagao  goMos30go
7300506 Lodgogm  dobosbosmgomgdls  Fo@dmowagbgb:  dgwosbs,
dops s sdm@hggol LoTygomm 360dgbgemmds.

3obLobrgMgds: goMosgoygeo IF 30030l Igoosbs gfmwgds dob-
Sboomgdgol (gobol) 0d dbodgbgemdsl, GmIganoi wasl I 3Mog0ls
‘dgodo (MeX).

MeX=50(mngmn o) . (4)

2obLobwgmgds: goMosioygaro 3F 3@0g0l Jmes (MoX) gfmogds

dobobosmgdanols  obgon 3dbodgbganmdsol, @mIgeolsi  dgglodsdgds
439805bg do@sgo Lobdomy.
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hggbl dspoemom@o (3) ydowenglbo Lobdo®g Finaw=70, 5J3l mgolg-
b0l dbodgbganmdsls Xi=50, 5do@mad (3) go®osioyero I(3Mog0lL dJmws
0690
MoX=50. (5)
2oblbobwgmgds: sdm®bggol  Lodygosenm  dbodgbgermds  gfmgds
goMosiogao 3§ 3@ogol dgfmboan Lodygoemmls.

iXi E
X = : (6)
F,
hggbls dogomomdo 7
4
SXF
le‘a = = 4 * (7)
25
i=1

P.S. Mathcad—"do dgx5dgdolol 300393 @0 i 03ge0gos 0—wsb, 0y
535G goom 5@ dJogymomgdmn dgbsdsdolo m3g@dsGm@om.

3506930L dsbsliosmgden gdo.

golbol  dbodgbgermdoms  aodbggol  Iglogolgdbemsw 04969096
99009y (3690901 obdg@bos - (DX), LsTgomm jgo0MSEYm@o Se-
Sb@o - (6X) @ goMosiool 3mgxo30gb@o - (vX).

2oblobpgagds:  dobobosmgdaols  Lsdyogrem  db0dgbgermdow@asb
aoab@ol  33o@o@ol  Lodygogom  3bodgbgermdsl  olidg@los

aVorgoo.

n

Z(Xl _lerﬂ )2 ) E
DX =" , ) (8)
2F
i=1
hggbl ‘dgdmbgggsdo:
4 2
Z(Xt _ler('l) E
DX =2 - ) 9)
2F

ob3gdLool d60dgbgamdsl X; dobobiosmgdgermsb dgoo®@gbdbom
5Jgb  3go®s@ygero aobbmdogngds, Sdo@md goboboasggh aodbggols
bbgs doboliosmgdgenls, ®mdgeolsi gl bogemo s@o@ goshbos.
3oblobwg@gds: dobolosmgderols bodygogm dbodgbganmdbo@ab sdey-
SEN M 3350M0H @0 aosb®ols dbodgbgamobs asdmomgan gds,

oX =/DX . (10)
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P.S. LoTygomm 3go@s@gmo aosb@s oX (o@mdmopygbl X; dob-
sboosmgogmol Xy » Lodygoenem  3db0dgbgeomdbopsb gopob@ol (s6bim-
@9 9o 3remdoamgdol) bowowols d60dgbgamdsls.

aobgobogmo 2566930l (Fodmdomo emdogngdol) 3mgeo-
(309630, OMIgaolsi go@mosiEool 3mga0i30gb@o (vX) gfmwogds s go-
dmomgangds Geo@dyerom:

oX

VX = 2 100% . (11)

o9
35M05300L  3m980309bGH0  0d@gges BOMEMI0m  A5dbggels 3@M-
396® 94 do.
296g@oy@o  gOmmderomdol XGy,g Lodygoaem dbodgbgermdbols
2o055ba5M0dgdolomgols aodmoygbgds dgaslgdgdo:

oX oX n
lerﬂ ——== XGI;Q'H < le'ﬂ + ﬁ) mlﬂ N

Jn

[(ox) [(ox)
X, (“n) (1—%)3)((;1)0.33)(1”“ (“n) (1—%), % 0.1<%s0.9. (13)

dobobosmgdgools  db0dgbgermdgdol  LobTDodgms gobsfogdols
Lol ogamoe godmoyggbgds sp@9mgg aMsxg0i9eo dgmmegdo.

3oblbobwgmgds:  Lobdomgms  aobofoagdols  dsbsbosmgdanols
d60dgbgermdgdbg ©odmgogdoygmgdol g@sxgosl Lobdo@gms dmero-
ambo gfmwgds.

Lbob'doGgms 3maoambols 2gmdgB@oygemo mgolgdgdols dgbogslg-
doo  dgdmedgm  sSLodg@@mool 3mgxo30gbGols ws gdlggbol (3bg-
dgdo0.

2obLbobwg@mgds: sbodgd®ools 3mgxnoEogb@do gfmwgds dglsdy dm-
dg96@® b

<0.1 ; (12)

n

Z(Xl _le"d)3 E
=T (14)
(X)) S
i=1
hggbl dgdmbgggsdo:
4
Z(Xi _le"a)3 Fz
=" (15)
(X) - F

i=1

P.S. oy Lobdodgms 3meogmbols g@sggozo dgwosbol dodo®m
LodgB@oyeos, dodob uX=0. my uX>0, 35dob Lodg@®os odwgg3s> Ig-
©05b0Esb doMxgbog, bmam ny wuX<0, 3>dob — do@3bbog.
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2o9bol bo@dograg®o aobsfoamgbols 3obmbmsb dgoo®gdomn Lob-
dodgms  3meoambol  33eoemgdols  Lob{@sggol  dgbogeligdansw
aoboboangds dgmmbyg JmdgbBo, MmIganlsi gJbglo gfmwgde.

n

Z(Xi _le"d)4 E
EX =+ , -3 (16)
(ox)'- D F,
i=1
hggbo dgdmbgggsdo:
4
Z(Xl _Xls.\'f] )4 ’ E
EX =" . -3 (17)
(o) 3F

gL @oibgo (16) Rm@Iyesdo 9bOYbggeygmal 0d Rodl, GmI
aogbols  aobofoangdolbomgols  gJligbols  dbodgbganmdbds  EX=0. oy
EX>0, 3530b Lobdo®gms gJl3g@odgb@yeo aobsfomgds goglols go-
bofoamgdobmob  dgoodgdom  gu®m  LlGsgs oggmgds, bmerm
EX<0-0l dgdmbgggsdo — 96 m bgeos.

53 BSBMGozao bodndse Ne 1

sdm@3abs:  sdmdhggol (n=100; N=1000) Lsdygoeoe  gsbol dgb-
Fogaoolsl dowgdyganos  go®osioygeo 3 3@ogo0.

X 45 49 50 55 60 65 70
F 10 30 40 5 2 3 10

godmgmo: MeX; MoX; Xsash; DX; oX; vX; uX; EX.

o5gomm  Lobdo®dgms  f=S(x) 3mgroambo. dggoxzolmmn  g9bg®-
SEY@0  gOMMde0mbdols bodygognm dbodgbgeomde.
>dmblbs:  @sbgo®gdyano  3F 30030l dJmbo3gdgol  aosg(gdo  do-
A®oEgo Loboo:
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3Omp@sds> Mathcad-by

Lo gobo dmbszgdgdo
N :=1000 n:=100

45 10
49 30
50 40
X:=| 55 F=|5
60 2
65 3
70 10
Lodygoene dobobosmgdangdo
dgosbo,
Mex =50
dos

MoX = 50,
Lo'dygogom dgfmbogno d60dgbgenmde,

Xsr=52.1

olidg@loo,

bo'dygogm 335OSFY0 gosb@,
S :=/DX
S =6.956
35005300l 3Mgxn0309b30,

S
Xsr
v = 13.352

01
N

Vo= - 100
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Xsr—i:51.404

Jn
S
Xsr+——==52.796

Jn
29bgOo @0 gOHnmdmomdol  Lodygomm  dbodgbgermds  dmmogly-

dagaos dyoggodo (51.4, 52.8).
dmbs39dms gmIgd@oyeo dosbsbosmgdengdo:

sbodg@®ool 3mgx03096@0,

6
(Xi - Xsr)3 -F,

=0

6
s3~z F,

1

o=

adbiabo,

Lbobdo®gms 3meoymbo

40

30my®sds Matlab-bg

% dmbo3gdgools dg@obe:

n=100; N=1000;

X=[45,49,50,55,60,65,70]
F=[10,30,40,5,2,3,10]

%Lodygoenem dsbobosmgdangdols godmmgens
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%3900565

MeX=50;

%Lsdygoemem dgffmbogno db0dgbganmds
Xsash=sum(X.*F)/sum(F)

%586930L doboliosmgdengdol godmmgans:

% olidgdlos

DX=sum((X-Xsash)."2.*F)/sum(F)

% Lodgomm 33oM>F Y0 Qoob®S

S=sqrt(DX)

% go®osool 3mgx0(3096@0

v=S/Xsash*100

% dmbsgdms ggmdg@Boygeo dobsbosmgdagdol godmmgans:
%obodg@@ools 3mgx03096@0
mu=sum((X-Xsash)."3.*F)/(S*3*sum(F))

%09dbGabo

E=sum((X-Xsash)."4.*F)/(S"4*sum(F))-3

% Lobdo@gms 3merogmbo

plot(X,F,'r"); grid on; title('Poligon'); xlabel('X"); ylabel('F')
grid on; title('Poligon'); xlabel('X"); ylabel('F")

dgegsgdo:
45 49 50 55 60 65 70

10 30 40 5 2 3 10

Xsash =
52.1000
DX =
48.3900
S =
6.9563
V=
13.3518
mu =
1.7842
E=
1.8975
>>
% 39bg@oey®o gOhmmdgmomdol Lodygoerm dbodgbgarmdols dgxgoligds
>>n/N
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ans=
0.1
>>Xsash1=Xsash-S/sqrt(n)
Xsashl = 51.4044
>>Xsash2=Xsash+S/sqrt(n)
Xsash2 = 52.7956

40

FPaligon

35

30

bogomaco der

03mggom. MeX, MoX, Xsash, DX, oX, vX, nX, EX.

‘dgoxnoligm 3969G o g®0 9JONMber0ombols Lo'dygogom
db0dgbgeomde.

oo gm  f=5(X) Lobdo®dgms 3menopmbo. 2sobds@F g  domgdayano
dmbo3939g00, 09y N=1000 doEyermdol ggbg@oma® g@HnmMdgomdsdo
LoJmbaool goligdol dglfoganolisls dmbos sdm@hggs n=100 doy-
mbdom s doMgdymos goMosioyaro 3§ 3@ogo:

l.

X 7 6 5 8 9
F 70 10 S 5 10
2.
X 25 30 28 20 10
F 5 30 5 50 10

9390 LEYogb@ds dgoaobml msgolmgol sbogmpoyg®@o dmbe-
(399900 o 5dmblbols sdmobs Mathead-bs s> Matlab-do.
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093> 2: LoobgglEoEom 3Omg@ol Ggb@sdgemmdols s @olgol
3odmm g

boobgglBoEom 3@mgddol @gb@odgermdols s Goligol (36909-
ol dgbolifogmo gobgobogrmm 3mbg®gdero sdmzabe.

3oblbobwgmgds:  dmbogrmebgamo  dgdmbsgaol  dmEyemdols
BoOOMdSL  LoobgglBoEom  godo@ogol dmEyermdslmsb 3Gmgd@ols
Mgb@odgemmdbols 35hggbgdgemo gfmgde.

dogogomas, oy hggbo 3OmgJHol @gogobsioobomgol Lodo-
@mo $20000 I germdols 0bgglBoEogdo s dmbsgmebgeo (evo-
@0 dgdmbsgogros $30000, 35Tob @gb@odgermdols ReX dshggbgdgeno
0Jbgde:

:300()0:1.5 1)
20000
3obLobmg@mgds: wolig®gdyeo dgdmbgggomo Lowowols gobsfo-
@gdol B9b6J3os gfmegds dgdmbgggomo Lowowols db0dgbgamdoms
gb®oal dglodsdol sgndsmmdgdmsb gomsg.

X X7 X Xn

P p[ p2 pn

pi 5Gol  sandsmmds  odobs, Gm3  dgdmbggzomo X Lowowols
dbodgbgemds 0dbgds x;.
©obg@gdyeo dgdmbgggomo X  Lowowol Lodygsgom dbodgbg-
@emool  dgbogslgdbamow  dgdmeol domgds@ogygmo empobols (MX)
(369%o.
2obLsbgmgds: olgdgd o dgdmbggzomo X Lowowol dsmg-
35304900 @meobo (MX) g{megds X; 3b0dgbganmdsms ‘dglisdsdols p;
S bomMdgobg bodMogegdols xodl, oby
MX=Yx p, )
i=1
‘dgdmbgggomo  Lowowol ©oldg@los DX sbobosmgdl dgdmbgg-
gomo X Lowowol 360dgbgermdoms  258bggol  dolbo  Lodyogom
d60d3bgemmdo@sb - Fomgds@odyg®o crmobo@sb.
DX = (x, - MXY -p, 3)
i=1
3oblbobwg@agds: jgo®o@ e gl oldg®dboowsb bsdgsgm
3350@5@ gm0 goEsb@s gimgds.
SX =DX (4)
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P.S. 0bobliyg® obogrobdo  Lodyoenm  3300@0@ e  aoob®sls
@olgol sobmeny@y@o 3bodgbgemds gfmgds.

3obLobmg@mgds: @olgol Godmdomo dbodgbgarmds  gfm@gds
@olgol odbmey@dyg®@o dbodgbgemdols o dmbogmebger  bsdy-
seom  ‘dgdmbisgsgmols Lowowols Go®mbsls godmbs@yal  3@m34b-
®godo.

=X 100% (5)
MX

580G BmGonao bsdydser Ne2

sdmzsbs:  dmEgdgmo  30mgd@ol  $20000 Imigermdon  0bggl-
Ao®gdoboll  dmbogrmebgero  Paroyg@o  dJmagds  dgopygbls  30%-L.
30mgJBHol  hogo®bols  sgmdommds  p=0,05. dgolfogmgm @ gb@e-
dgamds s dgoxgolgm dgdmmsogsbgdygamo 3@mgJdol olgol dglsd-
com dbodgbgermdgdo.

odmblbs:  3GmgJeol  $20000 dmEyermdom  0bgglBomgdolsls
Teool dmemlb hggb a35J3L m@o dgbodengdemmds: o) [o®do@gds,
do'dob dogomgdm: 20000 +20000-0.3 =20000-1.3; &) hogo@bs, dodob gmwg-
d@modon 0= (g.0. hogdyeo Gugao 035My96s). Lodydoml dgbsb-
(990 gbeo  Loko@ms  sadsmmdsmns mgm@ools bmyogdmo (369ds,
@mam@03ss dg8mbgggomo Lbopowols asbsFoangdol 9bj3os, omy-
95304900 @mEobo, ©oldg@blos, LoTdysmem 3goEASEYmO goEsb@s
> goMmosi3ool jmgxozogbdo.

Jobogrmebgano Faroy@o dgdmbagamols aobsfomgdols 9biosls
>Jgb dgdgao Lobyg:

X 20000 - 1.3 0
P 0.95 0.05

odmgblbsm  dmgdyero  sdmizsbs Mathcad—ols  ©s Matlab-ols
3OMA M3 3539B9o0l Ladygoggdoom.

30ma®sds Mathcad-by

LboFyolo dmbsozgdgdols g ebs

20000-1.3 0.95
X = P=
0 1-0.95

dobogrmebgano bodygogm dgdmbsgogo (domgds@ogsy®o comobo),
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1
MX := Z X, P,
i=0
MX = 24700

9b@odgemdols dshggbgdgeo
RX:=MX/20000
RX=1.235

©olidg®boos,
1
DX := Z (Xi - MX)2 P,
i=0

DX = 32110000
@olLgol sdbmeny@u®o 3b0dgbgamds (bodygoem 335OSE YT
aoob@Ms),
S :=/DX
S = 5666.569
0bsbly®o @olgol godwmdbomo 3bodgbganmds (goMosiool 3mgxo-

09630),
X

Vv =

v =22.942

3Oma®sds  Matlab-%g

% Lofgobo dmbszgdgdols dg@obs
X=[20000*1.3, 0]

P=[0.95, 1-0.95]

% dmbogmebgmo Lodygsgm dgdmbogogoo
MX=sum(X.*P)

% olidg@los

DX=sum((X-MX)."2.*P)

% @obgol sobmeny@ydo dbodgzbgermds
S=sqrt(DX)

% ¢0bsblyg®o @olgol godomdomo dbodgbgamds
v=S/MX*100

dgegsgdo:
X —

26000 0
P =
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0.9500 0.0500
MX =
24700
DX =
32110000
S =
5.6666¢e+003
V=
22.9416

bogomaco der

dmgdygeo 3Gmgddol I dmaygmmdom 0bgglGodgdolsls dmbe-
amebgmo Faoydo dmpgds yo®ol m%. 3Gmgd@ol hogo®wbols sen-
dommds p=PA. dgolfogegm @gb@odgemds ©s dgogslgm (od-
dmeygboeno 3@mgdBol @obgol dgbodgrm 3bodgbgermdgdo, mey:
1. I=$30000, m=25%, PA=0.01
2. 1=850000, m=20%, PA=0.02
3. 1=$60000, m=30%, PA=0.03
4. 1=870000, m=15%, PA=0.011
5. I=880000, m=35%, PA=0.1
6. [=$20000, m=25%, PA=0.07
7. 1=840000, m=35%, PA=0.03
8. I=860000, m=18%, PA=0.001
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093> 3: m@0 >San@g@bsgoymo LsobgglEoEom 3GmgJ@ol Igos®gdols
&agdbemamyos

3oblobmgmgds: Mm@ LoobggbGogom 30mgddl gfmwgds sen@gd-
boGoygmo, my ghmo domysbols 0bggb@odgds aodm@oibogh dgmemg
30mgJBoL 063gLE0MgdSL.

MO0 30m39Jdol  ser@g@bs@oygmmdbols dgdmbgggsdo  godmomg-
@osb ™m®0gg 30mgJBobomgol @9bFodgermdol dohggbgdangdls o
@obgol 3m9x03096@gob.

aobgobogrmo Lbgoslibgs dgdmbggggdo:

S) Y MmM039 30myJAHL Ogb@Godgemdols gBmo s ogogg dohgyg-
bgdgemo oJal, 35Tob 0®hgzgb 03 3GOMgJRL, GmIaols Golgol Go@-
mdomo dsohggbgdgao bogangdos;

d) oy m®03g 30mgJdol Molzol godOmdomo 3mgR030gb@ol
dohggbgdgemo  gOmMbso®os, sdmodhgggb 0d  3OMgJRL, OmIgeols
@9bBodgermdols dowogmo dohggbgdgero oJgls

a) 09 30039@0 30mgBHol MgbFsdgarmdols dohggbgdgero dg@os
s Mobgol 3mgxnoEogbdo bsgargdo, gow®g dgmeg 3GOmgJdols, do-
‘dob 930@5@gbmds gbodgds 30Mg9e0 3GMg]EL;

©) m9 30039800 3OmgdBol Ogb@sdgmmdbols dohggbgdgeroi wo
@olgol 3mgxo3ogbdo dgBos dgm@g 30mgJdoloby, 35Tdob >@hggsbls
539990L d9bgxg®0 0b3gLEAM@olomgol wsds@gdbomo dJmbs393go0w@sb,
390dm, @olbjol ©olodggd Lowowggdls ©s MgbFsdgermdol Go®-
OMO0m0 3Mg5030gbRol @oMmgdymgdsby woyMwbmdoom.

M5dgbosiz gl odm@obs  gdys@mgds dgm@g  @sbm@sF M@y
Lbodygdomdo dmgdye (3696900, Tgag0deros 30MOS30M Q505300 M

36309H 9 5dm30b5Dy.

@ 35MO5GMA0geo bodygdom Ne3

3dm3bs:  0b3gLEHMAOL  Fomdmywaobgl M@0 seo@dg@bo@oygeno
Lo0bgglBoEom 4 s B 36mgddo. 4 30mgddo dmombemgl $100 smsbo
doygermdol 0bggbEoEogdl 25%-05bo Feroyg@o dmpgdom s dobo
hogo@bols  sgndosmmdss PA=0,011. B 3®mgddo dmombmgl  $250
sonobo  doEygermdol  0bggLEo30gdl  30%-05bo  Feroy®o  dmpgdom,
hogo®bol sendsmmdss PB=0,012.

2035390 m0 sMhggebo o3 M@ 3OmgJdlL dm@olb.

s>dmblbs: m@ogg 3Omgdobsmgols dggoaobmo dmbsgrmobgeno
‘dgdmbogergdols s dgbodsdolo sedsmmdgdol ds@@oigdo.

‘dggo00bmm gobsfomgdol gubiiogdo:
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A4 100-1.25 0

P4 10.989 0.011

B | 250-1.3 0 (D
PB | 0.988 0.012
305bg5M0dmn  MgbRodgemdbols

Mommggero  30mgd@obsmgols
dobggbgdergbdo s Molgol 3mgx030gbdgdo, @o5i3 dgdwamddo dmy-
33996 30m3JBgdol Jgos@mgools Lodygoamgdol. aobsfoengdols (1) 93b-
J3000sb  godmdobomyg dgzoaobmm 3GMa®sdgoo Mathcad—do o

Matlab-do.

3Oma®@sd> Mathcad-byg

Lo gobo dmbszgdgdols dg@obs

100- 1.25
A=
0
250-1.3
B =
0

0ol
1
MA = Z A, PA,
i=0

MA = 123.625
9b@Godgenmds
_ MA
" 100
©olidg@dlos
1
DA := Z (Ai - MA)2 - PA,
i=0

DA =169.984

@olbgol sdbemery@y®o dbodgbgamobs

SA = \/ DA

SA =13.038

49

0.989
P4 =
1-0.989

0.988
PB =
(1—0.988]

dobogomebgero  La'dygogom  dgdmbogsgno

1
MB ::Z B.- PB,
i=0

MB = 321.1

_ MB
T 250

1
DB := Z (Bi - MB)2 - PB,
i=0

(Y)O(Y)(“)(‘]"(‘]Q’()

DB = 1252.29

SB ::\/ﬁ

SB =35.388

30mgJBobe-



}0bsbbygmo @obgol godomdomo dbodgbgamods

SA SB
vA =—— - 10( vB:=—— 10(
MA MB
vA = 10.546 vB=11.021
RA =1.236 RB=1.284

3Oma®msds  Matlab-%g

% Lofgobo dmbs39dgdols dg@obs
A=[100%*1.25,0]

PA=[1-0.011,0.011]

B=[250%*1.3,0]

PB=[1-0.012, 0.012]

% dmbogomebgeo Lodygogrm ‘dgdmbsgsgno mommgygmo 3Gmgd@obe-
0ol

MA=sum(A.*PA)

MB=sum(B.*PB)

RA=MA/100

RB=MB/250

% olbdgdlos
DA=sum((A-MA)."2.*PA)
DB=sum((B-MB)."2.*PB)

% @olgol sdbmeryRydo 3bodgbgarmds
SA=sqrt(DA)
SB=sqrt(DB)

% 10bsblyg®o Molgol Rodemdomo 360dgbgermds
vA=SA/MA*100
vB=SB/MB*100

dgegs Joo:
A:
125 0
PA =
0.9890 0.0110
B:
325 0
PB =
0.9880 0.0120
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MA =
123.6250
MB =
321.1000
RA=
1.236
RB =
1.2844
DA =
169.9844
DB =
1.2523e+003
SA =
13.0378
SB =
35.3877
VA =
10.5463
vB =
11.0208

od dogomomdo Mgb@odgamdol dohggbgogmgdo s Fo@EMdomo
@0l3gd0 ®Mogg 30mgd@dobomgol  momJdol  gOmbsodos, sSdo@md
30mgJBHol  sdm@hggs bogds ©sds@goomo  dmbsb®gdgdowsb 0bgg-

LEm@obomgol gyeols @o®gdyangdols s 3GOMgJ@gdol dosbosbosmy-
dangdl dm@ol aoblbgoggdoms dgbodedolo dbodgbgeomdgdols dobggo-

300

bogomaco dea

0b3gLAMOL  [odmgoaobgl m@o 4 ©s B sen@g@bs@ogao 3G M-
9J60. 4 30mgdo dmombmgl I4 dm@Eymmdol 0bgglb@ogogol ma%
Feoygdo dmggdom, 30mgJdol hogodwbols sendommdss PA. B 3Gm-
9J60 dmombmgl IB dmEygermdol  obggbGoiogdl mb% Fevoydo

9000, 3OmMgdBol hogo@bols sendsmmdss PB. 3003909, s®hggsbo
>3 M@ 30mgJdL dmeol, me:

1. 14= § 80 000, ma=30%, PA=0.02
IB= 870000, mb=40%, PB=0.04
2.14=$ 100000, ma=15%, PA=0.011
IB= 8 200 000, mb=15%, PB=10.02
3.14= 890 000, ma=20%, PA=0.05
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IB=$90 000, mb=18%, PB=0.02
4. 1A= $ 400 000, ma=15%, PA=0.02
IB= 8 500 000, mb=20%, PB=0.05
5.14= $ 1.5 man., ma=20%, PA=0.03
IB=§ 2.1 man., mb=15%, PB=0.01
6. IA= 8 4.5 man., ma=15%, PA=0.02
IB= 8 5 man., mb=18%, PB=0.03
7.14= 8§ 30 man., ma=20%, PA=0.02
IB= 8 35 man., mb=25%, PB=0.04
8. IA= 8 15 man., ma=18 %, PA=0.01
IB= 8 20 man., mb=17 %, PB=0.01
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093> 4: sAAM>T@obo doasblol ggmb@oggol dmepgamo

aobgobognmo  oGamsdm@dolo  dogrsblols  sdmiobs, @mdanols
sOLo dEamds®gmdl 0dsdo, @M gobgmogro faol oGamsdm@olo
doenablol  Loggydgganby dgyu@bgmdbols (30039990 oMy gdols 3G0-
@03 9B Y0 3obg0moMgdol sy gdemdol JoM@mdgddo, LFm@sw
5029330 d0dobsdg Faroli gggms odaol 3Gmeydiool Logdmm
3odmdggds. gl sdmzebs dgodengds aobgobogmm, GMAM®O 3 (3o 39
smgdygmo  @mdgerodg Moombol ob Mgyombol  godaagddo, obiggg
dogao Lobgedfogml dsbd@sdom.

dgLododolbo domgds@ogy®o dmwgmols slspgdoe dgdmgo@sbeomm
ombodgbgdo: godgom, x;— i-g@0 oMol Logdhmm godmdggdss igy-
o A5dmbobymgdsdo, x; —i-g@0 o®yols 3Gmydiool JmEyem-
b5, OMIgeroi odmoygbgds j-g@o ool [o®@dmgdol 4bm@ybggen-
Lbogmaggoe,  y,— i-99@0 ool bodm@mm 3OmEgJdol dmEgmmdss
>O5LO[oMIMm ©obodbyamgbolomgol gumo godmbsbeyan gdsdo.

do'dob, ggdbymdm osGamsdm@olio do@sblols @gmb@oggols
2obB M gdsls dgdwgyo Loboo:

xi:Zn:xgj+yi7 (1)
j=1
‘dgdmgo@obmo s@bodgbgdo:
a, =L 2)

J

a; -96M0 s®yol 3OmEyYJiool JoEyammdss, O®dgmoi obs@-

g

Xgos j-g0o oMol  3OmEyiool  gOmgyemgsbo  doEygamdbols
Toddmgdoby.

=

aoblodbmgmgds: a; do@@oiol gimgos  Ggdbmmmgoy®o  do-

A®0@3o.
(2) o (I)-ob gwgdymmdn @gmb@oggol aobGmengdsls dgd-
g0 Loboo:

xi=2a[j~xj+yi . (3)

s@msdm@olo 60;@061)015. (3) 2obGmengds ¥bes Sdmoblibsls
x;-0l dodo@m. sdobomgols dgdmgodobmo ds@G®oiEyeo swbodgbgdo:

x=|", 4= Sy | P2 (4)

‘xn an]anZ i ’ann yn
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dodob, @gmb@oggol (3) aob@mangds dgodagds gosegfgOmm
do@@oigeo Lbabom:
X=A-X+Y (5)
(5) 3ob@mEgdols 5dmloblibgans X-ob dgdggeo dgbogzmgdgdo
25053005bmm  Gmermdols  dodibgbs  dbodgl o gogo@obmm
R@hboagdls aodgm:
(E-4)-X=Y . (6)
(6)-ob sEgogmor  gugdygmmdm  @imb@oggol (5) doG@oEygmo
3obAMEgdol 5dmboblibls:
X=(E-A)"7Y. (7)

580G 3B3mGonao bsdydse Ne 4

Sdmobo:  aobyggoo  Faools gobdogenmdodo  dgy@bgmdol  Loddes
o@ads: bogeol dgy@bgmdsd, dobdobomddgbgdermdsd s  gbg®d-
2960359 Lodygoggds dJmygis 99839030bs @os@ymsdm@olo dognsb-
Lol 3bGogngdo:

beovganols dsbfo- | 9bgm- | bodem- | bog@orem

MNe A9@b9m3s | bsomnddy- | 89050- e Sodm d-
bgoarmds | yo IO )- 3965
Joo

bmg),qnob )C11=]0 X12:20 )C13=30 y1=40 X1:]00
1 | 992936909385
(?(56;706-00’)(?ﬂ X21:30 X22:20 )C23:10 y2:30 )C2:90
2 | gbgdermds

(75(7(5- X31:20 X32:30 X33:20 y3:50 X3:]20
3 1 8a604°

‘dggo0a0bmm dodpobodg (ol Logdmm godmdggdols agads 0d
300mbom, MmMI 300390 sMyol (bmgaols dg9y@bgmds) Lodbmanmm
30mEyJBo 9bws goobodwml 10%-0m, dgmeg wos@yol (dobgsbom-
ddgbgdenrmds) — 20%-0m, boanm dgledg odpobs (9bg@agBogs) —

8%-0m.

>dmblibo:
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3Oma®sds Mathcad-by

bodogg oMol Lsdmermm 3OmEy]@ol dnEygammdols @g3mdgbeg-
b0 360dgbgermdgdo.

40- 1.1
Y:=| 30-12
50-1.08

1020 30

100 90 120
100

30 20 10
A=l — — — E=1010

100 90 120
001

20 30 20

100 90 120

dm9dgeo bsdo ool Loghmm aodmdggdol gads.

X=(E—A) .Y

111.362
X =] 103.481
132.919

3Oma®sds Matlab-%g

% ULodogg odyol Lodmgmem  3Omeyddol doEyemdols  @gim-
dgbgdyao 3bodgbgeomdgdo

Y=[40*1.1;30*1.2;50*1.08]
A=[10/100,20/90,30/120;30/100,20/90,10/120;20/100,30/90,20/120]
E=eye(3)

% dm3gdygeo bodo ool Log@mm godmdggdols gads.
X=(E-A)-1)*Y

dawgagdo:

Y:

44

36

54

A:

0.1000 0.2222 0.2500
0.3000 0.2222 0.0833
0.2000 0.3333 0.1667

E=1 0 O
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0 1
0 0 1
111.3617

103.4809
132.9191

bogo@xzo deo:

Fobs (gaol dg9@bgmdoll @gs wompds Lodygoggds dJmagie dgy-
390005 @oMamsdm@olio dognsblol gb®ogngdo:

bsdmganmem Z;o(;ygo 0787(:7
N | 1| 2314|3561 78] comegiso 3&7 o
1 | 10| 20|30 | 40 | 20| 10 | 30 | 40 100 300
2 20|10 | 40 | 30 | 10 | 20 | 40 | 30 150 350
3 140 | 20| 10 | 20| 30| 10 | 30 | 40 200 400
4 12020 10| 40 | 40 | 30 | 10 | 30 100 300
5 11040 | 20 | 20 | 30| 30 | 40 | 10 200 400
6 | 10|30 | 20| 40 | 20 | 40 | 30 | 10 150 350
7 140 | 30| 10 | 20 | 40 | 30 | 20 | 10 100 300
8 | 10| 10 | 20 | 20 | 30 | 30 | 40 | 40 50 250

03m390 dodobo®g {aol Log@mm godmdggdol gg9ads 0d 3o-
AMdom, MM 300390 oMol Lodbmemm 3OMEYJGHo ao0bO©gds
m;%-om, dgm@ag ©styolbs  my%-om, dgbosdobs  m3;%-om, ..., dgAgg
oM0bs> ms%-0m, Lowss:

1. m;=10%; m>=20%,; m3;=5%; m,~=8%,; ms=20%, ms=5%, m;=0%,; mg=9%:;
2. m;=5%; m>=9%; m;=10%, m,=8%, ms=6%,; ms=0%; m,=0%, mg=0%,;
3. m;=10%,; m,=5%, m3;=-20%, m,;=2%,; ms;=-10%; ms=5%, m,=2%, ms=9%,
4. m;=9%,; m,=9%; m3=20%,; m=5%, ms;=10%; ms=5%  m;=2%;
m8=]0%,'
5. m;=8%; m,=-10%, m3;=-25%; m,=2%, ms=-40; ms=2%, m,=4%,
mg=20%;
6. m;=5%, m,=10%; m3=10%;  m;~=5%, m;=8%; ms=20%; m,=5%,
m8=10%;
7. m=20%, my=-10%; m;=50%; m,~10%; ms=50%; ms=10%, m;=2%;
mg=20%,'
8. m1=]0%; m2=35%; M3:45%,' I’}’Z4:]0%; m5=6%; m6=-]0%; I’I'Z7:8%,'
m8=15%.
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093> 5: gOmgbyeo dgdmboganols obsdogols boa‘ggsmbm[i-éojbob
de©geoo

93bmdogolbmgol @sdsbolosmgdgeos gobgoms®mgool Fogy®o
d99bgds,  sdo@md  gOmgbymo  dgdmlsgoeo  bob  0bO©gds,  bob
dEomgds.
9306m30g0lL  gobgomedgdol Fogmydo dybgdol dglslfogmow
bodyggeolbembds o dodlds  dgoaobgl  dglsdsdobo  domgds@ogy®o
dogao. od Jopgado  X(1) 9Omzgbyao  dgdmlsgenols  Lowowols
Mbgggdo soblbgds oJbgamgdoEool 3@0bi0doms ©s I odeogs-
A&l 3mbigdiEoom.
>bgemg®oiooll  3@obzodo  sdG3o3gol,  Gmd  0bgglb@oiool
dol'dBodgdo  odm oEgdygeos  Ladmeme 30meygddby dmmnbmgbols
bAOwol Fgd3bg. LoobzglBoom dJommbmgbs Lodmamm 3Gmydd by
deonbmgbols 3OM3MA (309000, 330309 mbols bo®olibl
9Vmegds oJlbgang@siools g @mao.
bodyggeolemb-3oJlols Jmegendo olgerg@doEools 3@0bi03by ©o-
39dbgdyyan 0b6g3gLB0E00L 2ob@Bmagdsls 53l dgdogao Laby:
1(e)= X -1)- X(t-2)), (1)
Lowsi B — odLgamg@siool 3mgnoi30gb@os (Bod@mo).
C(t) bsdxol Lopowpg (OR0gom ©sdmzogdyemos dommbmgbsby,
bosg aoboboagds gomgyamgsbo ansyo (dgymgbgds):
CH=a-Xt-1)+4 (2)
bows, a €(0,1) — aobolbobwgdgds Gga@gboygao sbogobol Loggy-
4390 by (J399mm 0gbgds gobbognyeno).
A=(LooObgdm dobodydo)x(dzbmg@goms Goibgo). (3)
09 3530mg35¢00L{0bgdm  dmmbmgbols s dofmwgdol Fmbsl-
Toambdols 300mdsl, dogowgdm:
X)) =C()+1(1) 4)
0y dggodobo  (4)-9o C(t) o I(t) 360dgbgenmdgdl o dggol-
@@gdm  dgbodsdol  godsJdbgdl, dogowgdom  Lodyggeniemb-3olols
2ob@MEgdsls:
X(t)=(a+f)-X(1t-1)- B -X(t-2)+ 4 (5)
B >JLgamg@siool 3mgx0309b@ol dobgogom, (5)-sb dgodengds
dogo@mm gOmgbyao dgdmbogmol Mbgggdo Gmam® 3 Ibos®wo, ol
38090500 533 0@ gEom.

@r58m@G3BmGozemo bsdydsem Ne 5

sdm@3obs:  dggolifogmmmm  gdmgbyero  dgdmbogerol  @obsdogs
Lodygeemb-3oJlols asbGmergbom, GmEs a=0.5.
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Joensd mdogolobomgol godmgmo A 3mgxgoiogbdo s B 3mg-
303096@ 0L bbgoolbgs  dbodgbganmdbgdolomgols  dggol§oganmm
X(1)-l ©obsdogo.

>dmblibo:

>dmobol sdmboblbgersw go®bggm Lofyol 300mmdgdl.

30my®sds Mathead-byg

9gOmgbyao dgdmbsgarols Lofyolbo dbodgbganmdgdo
X,=10" X =10
(Igbmgmgdms @oibgo) X (Los®lgdm dobodydo)

A:=15- 108

a:=0.:

>Jbgerg®oizools 3mgxnoogb@o, ;
:=0.8

Lodyggeoemb-3oJlols 93969630 Jmgero
n:=2.12(

Xn::(oc+[3)~Xn_1—B«X + A

n-2
6-1(% | |
410 -
X
—af it -
| |
0
0 50 100 150

Xn::(oc+ﬁ)-Xn_1 B-X ,+A
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3
2'16‘11111‘

ol 1

0 20 40 60 &0 100 120

-2.10°

Matlab 3@mg®odol olio(gdom aodmgoygbmm for...end (303e0ls
M39A5FGHMA0.

3Oma®sds Matlab -%g

% 96 mgbyeo dgdmboganols Lofgolo dbodgbgermdbgdo
X0=10"6;

X1=10"7;

% (3bmgagdms Goibgo) X (Los@lgdm dobodydo)
A=1.5%10"8;

alfa=0.5;

% oJlgang@siool gmga030gb@o

betal=0.8;

beta2=1.2;

beta3=1;

%Lodygenbmb-doJbols G939 96@ o dmpgero
x(1)=X0;x(2)=X1;
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x1(1)=X0;x1(2)=X1,;
x2(1)=X0;x2(2)=X1;
for 1=3:120
x(1)=(alfatbetal)*x(i-1)-betal *x(i-2)+A;
x1(i)=(alfat+beta2)*x1(i-1)-beta2*x1(i-2)+A;
x2(1)=(alfat+beta3)*x2(i-1)-beta3*x2(i-2)+A;
end
n=1:120;
subplot(3,1,1);plot(n,x);grid on;title('beta=0.8");
subplot(3,1,2);plot(n,x1);grid on;title('beta=1.2")
subplot(3,1,3);plot(n,x2);grid on;title('beta=1")
xlabel('n")
ylabel('Xn'")

dggp930:

 10° beta=0.8

0 20 40 50 30 100 120

60



bogomao deo:

‘dgob{ogergm  9Omgbyao dgdmlsgerol ©obsdogs Lodygeliemb-
3odLol gob@mengdols dobgogom, GmEs o 3bmdogros. JognsJolsmgols
N-dgbmgagdom s 1 boo®lgdm dobodydom, B oJlgeg@dsiools gemg-
303096 0L bbgosbbgs 360dgbgermdgdolsmgols dgoli§ogango  X(t)
©0bsdogs, m9y:

1. a=0.3; N=3-10°: [=80; f3-?
2. a=0.2; N=3-10°; 1=80; p-?
3.a=0.1; N=3-10°; 1=80; p-?
4. a=0.4; N=5-10°; 1=100; p-?
5.a=0.5; N=5-10°; 1=100; p-?
6. a=0.6; N=5-10°; I=100; p-?
7.a=0.1; N=3-10°; 1=100; p-?
8. a=0.1; N=3-10°; 1=100; p-?
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0 gds 6: %3630‘3531)@)015 dmegmo 356390 5bsd@gdols obsdozolsm-
g0l

g3ndgom, X,  gygenseo  sbod@gdols dmaymmdss n §gerofewdo.
5b38M9d0L BoMPmbomo bab®ol 3mgno30gbdo sw@gbodbmm R-om,

dodob p39Jbgde:

X -X
R: n+l n 1
e ()
obey X . =X +R-X,, (2)

bogo3, R=R, =const.
5bo0@Mgdol obsdogols aodmbsggaggem (2) gm®dyms gowsg(g-
Oeoo dgdogao Laboom:
X,.=(+R) X, 3)
gbowos, MM MY Fymowo sbodbdgdol Lofyolbo dbodgbgenmds
0gm Xy, d>dob

X, :(1+R0)X1 :(1+R0)2'X0 ) 4)
X, =(+R))" - X,
(4) 0®gMo30YEo  BMMIY@oEsb 25dmdoobs@gmdl, ®md n-ob
bOWsLmsb  gOhmow  gyaswo  dgbo@obgdols  @omgbmds  gLolidy-
@ 0bMEgds, MoEash

limx, — o (5)

n—>x0

(4) ge@dIgeos oo gosl agodagagli sdmgblbosm sdmiEsbs R-Is
YOOl sbsdggdo 3MMm3gbEgdol dglobgd. Jogooms, go304Mm
OEAmO0 ¥Ybos 0gml Ry, @M 5bsd®gdols gom®ddoggds dmbogl 50

Voerofowdo. agod3b

TR =2, (6)

d>dob
R, =%2-1 (7)
9:0. 300396 godmbobyangdbsdo gmgdygmmmdm bsb@ols bea@dsls
(¥2-1)-100% (8)

©5g379dgom, MM 3@0gbRgdol dmbsbowsw ds5bzol wodg]Bm@ms
boddkmd goolygods R bob@wol 3mgn03096@0L 20b®s. 25307 g-
dologob  mogol  oboogo  @oMgddmdms  Loddmd  gomsfygods
S0@ o9 dgol obod®gdols dgdwamdo bOws, mey dobo Lowowg do-
>m§ g3l 1-b — 3o JLodogoy@ dbodgbgamdsol. 30l dgdpgy  3Mgeo-
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(30960  gbps aobogl Yodymxzgomo, @mI dgdaodegl  sSbodbdgdo,
300@g olobo oM gobegds 1-bg bogamgdo.
>d 30m3gbol gbOYbggabogmgsw aows(yws, ®md

R=r(1-X,) 9)
dodob (1) gm@Iymowsb dogowgdbm
Y =X 1x),  Losg Ry (10)

(10)-ob 23906905 9390 9b@ e MobsRs@EMdS
Xa=0+r)X,-r-Xx; (11)
>d LobEgdol gfmwagds gg@3oygelGol dmgeno. gsdmgosgeomm
dobo Fmbsl{mdmdol §g@@Eoagdo.

25bLbobegMgds: M93909b@ Yo LobEgdol Fmbolfmamdol §gm-
Ao gdo gfmegds Xy—ol 03 dbodgbgermdgdl, @mdggdoi oG o8-
@gds n-ol bOslmsb ghmow, g.o. X,—ob ol db0dgbgemdbgdo, @m-
dgeomomgolsg

X=X, (12)
Fo®dmowagbgb 53g@3oye ol dmwgaol (11) (embsbfm@mdbols §9m-
Boggdl.

3bowos, ®mI gl 360dgbgermdgdos:

o) X,=0; &) X,=1.

0dobomgol, @md [mboslfm®mdol (g9d@Goo aobbm®ogewgls
3@53039@o, badko®ms dobo dpgdoomds d300g dgdgmmgdgdols
dodo®o.

259030430000 gl damds®gmdgdo JpaMomdsby:

S)  mogadnMmggma  asbgobogrmm  Ymbolfm@mdols  dwam-
do@gmds X,=0, 5byy Jgmds®mgmds, @m@Es hggbl obyo®odby gueo
S5O >5A0b. wogydo@mm “dodyg d9dxgmmgds” —6,<<I, (mbslfm®amdbols
VaoBoml  ©o  godmgoggemomon  dJobo  ©obsdogs  ©@™To,  oby
X,=0+6,,35d0ob (11) gm®dymowsb dogomgom

S, =0+r)8,—r5; (13)

306500056 §,<<1 , gbowos, @@ 5 =0(5,)<<Il , 5do@™d (13) gob-

Amegdsdo ol dgodangds Yy yegdgerggmo. sdol dgogasw 239]b90s

5n+l = (1+r)5n (14)
>Jgob swgoens dogowgdm, GmI
)

LIPS | 15

221, (15)

9:0. 9493g8mmgdgdo @AMTo 0bOEgds, Go53 bodbogl Fmboslfm@mdbols
Va0 @ool X,=0 s@sdpy@oomdsl. sdmiEsbol s@bols dobgogom gl
2odmobs@gos 035do, M WOMmS gobdsgermdsdo  sbodb@ol  goob-
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@©gds> M9 30 5baomodby wogmoibgds Fymol oo bygar Ji30My
@omEgbmds 5, .

d)  godmgoggeomm  [mbsbm@mdol dgm@dg (gd@oewol  X,=1
Joa®omds. [mbsbfmamdbols §gaRoml ojoi dogpgm 3oy bob-
o  6,<<I, oby gobgobogrmmn X, =1+6, dbodgbgamds s po-
dm30438000m o3 damds@gmdol ©obsdogs n @OMol asbdsgamdsdo.
(11) mEAIYoEsb grgdbyemdm:

146, =(1+r)1+8,)-r(1+5,) (16)
o0 J3bgd0l dgeayor pgodsh:
146, =1+r+(1+7r)5, —r—2r8, — 15’ (17)

049 3ogomgomoliobgdm, @md 52 =005,)<<l @ odol godm

DI YOI YO Bn IsL, 3396900
é‘n+1 = (1_}")5’[ (18)

Xo=1  Feboslfm@mdols Tao@oaols doa@smdolsmgols 9b>
LOYEEgdbmEgl J0Omds

O], (19)
oby -7 <I. (20)
nogol db®og gb 30@mds bodbogl, @md

0<r<2. (21)

Sd@ogo, g LOYmegds (21) 306mds, do5Tob gg@d30ygelEols
Lobgdol Fmbsb{mdmdol (gd@oo X,=1 dpa®owos. (obosswdwogy
dgdmbgggsdo  dggod@gdom  s@sdpa@smdol  bmbsdo, @mIgenocs
bogbgs dmygermEbgermdgdom.

390dmE, Gm@Es 1723 smodg®gds Xy-ol 3g@ompygmo Gbgggdo
(bob.1).

1.5

o

I I I I
0 20 40 60 80 100

bob 1. obsd®ol 3g@ompyao dbgggdo

1=2.57 ‘dgdmbgggsdo Ly@omo Goygmegds ©s hbpgds m@IsysE
3g@omEgmo Obgggéo (bob 2.).
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I I I I
0 20 40 60 80 100

bob 2. 5bd®0l m@dopo 3gMomeyeo @bgggdo

bob@ols 1 3mgxnoiogbBol dgdwymdo bOobsl grgdbymmdm
390000l 2ommnbdoggdols s o.9. m9y r=3.0 dgobodbgds Jomlydo
@bgggdo (bob 3.).

1.331, 2

Xn 1 l

J.704x107°, | | | |
20 40 60 80 100

O, 100,

bob 3. 5bod@ol Jomby@o @bgggdo.

SdM0 00, 9gadoygebBol  Godol s@s{®030 @930 9bGH Y0
Lob@Bgdgoo dmoEsggh 6930  Loowed@ml s dom  sloblbgansw
bodo@ms @ado@goomo  ggargggdo 3omggae §obgdghaw dgdmbyg-
3o'do. domydgdal, @md ygmggmmgol @ bgdbogds ©93909b¢ 0
Lob@gdom  dm@Egdyeo o0 gasgogmo  3OmEgbol  3®gdsmbols

A mdogg@o dgxoligos.

@583 G0aao bsdydse Ne 6

0dm(3065: 3>53M033@o0mm Rg@3oyelEol dmgano:

X, =(+r)X,—r-X? (22)
r bob®Ool 3mga303096@G0L Lbgowslbgs dbodgbgammdgdols s Lofy-
olo 30Mmdgdolomgols.

n+l

oA bLbs: @ obm@s@m@oyeo  Lbodydoml dgbobdygergdas dg-
dmgogs@aymmn X) Lofgolbo 300mbgdon ©s 7 bob@ols 3mggro304b-
&ol 360dgbgemdom.
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3Omp@sds> Mathcad-by

Lo gobo 5bsdo@0 30Mo© 5bas®m0dby
X,:=0.1

5bod®ol dmyemdols obsdogol aodmmgens gg@3oygeo ol dmgo-

900 3MM3gbG o aobsjggmom 1=2,3.
r:=23
n:=0.. 100

Xn+1 =(1+r)- Xn—r~ (Xn)2

1.5 T T T

0.5 1

I I I I
0 20 40 60 80 100

0

390309 bBol JmEgeom sbsd®ol doEyermdol wobsdogol godemm-
geos 30M39b@ Y0 3obs3ggmom r=2,57.

r:= 2.57
n:= 0. 100
2
X =(+1)-X —r (Xn)
1.5 T T
11— A
XIl
0.5
0 | | | |
0 20 40 60 80 100

}90309bBol JmEgeon sbsd@ol JmEyermdol wobsdogol godmn-
geos 300396 Yo 2obsiggmom r=3.
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J1.331,

Xn 1 )

J.704x107°, | | | |
0 20 40 60 80 100

O, n 100,

30ma®sdoll Matlab-%g obo(gdo odmgoygbemom for...end (304-
@ols m39Mo@m@o.

3Oma®sds  Matlab-%g

% LoFyolo obsdo®o oo sbyo®modby
x0=0.1;
%9590309@bEol dnpgmmom  sbsd®ol dmEygmmdbols @obsdogol go-
domges 30m39b@ Yo aobsjggmom 1=2,3;2.57;3;
r1=2.3;
12=2.57;
r3=3;
x1(1)=x0;
x2(1)=x0;
x3(1)=x0;
for 1=2:100
x1(1)=(1+r1)*x1(i-1)-r1*x1(1-1)"2;
x2(1)=(1+r2)*x2(i-1)-r2*x2(1-1)"2;
x3(1)=(1+r3)*x3(1-1)-r3*x3(1-1)"2;
end
% 89O309lEol dnpgmomn sbodb®ol dmEygamdols obsdogol go-
domgans  Lbgowslbgs 30m3gb@ o  aobsgggmom s g®ox0z9600b
5390
n=1:100;
subplot(3,1,1);plot(n,x1);grid on;title('r=2.3");ylabel('Xn")
subplot(3,1,2);plot(n,x2);grid on;title('r=2.57");ylabel('Xn")
subplot(3,1,3);plot(n,x3);grid on;title('r=3");
xlabel('n")
ylabel('Xn'")
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g J3960:

r=2.3
1 : : : :

1k Rl " i I Il R " . I I _

X

1)) R M AR S -

; : : : :

[ ! ! ! !
-'] L. __ 0.1y I i ! B ol ‘I. _ 11 _ __ |

X

05 L LU LA L0

; : : : :

e : : : :

#n

0 20 40 60 80 100

bogomaco der:

25d003380090 BgadoygelEols dmwogeno

Xo=0+r)X,-r-Xx;

r bobOwol 3mgx03096@G0L Lbgowslbgs 360dgbgamdgdols o
LoFyolo 3o@mdgdolomgols, Mathcad-ols s Matlab-ol a®og039a0
bodgoagdgdol boeyydgganby.

00006900 Sbosgmaog®o M939096@ o s@sF@xogo LoliGgds,
030390 {ebsbfmamdbols {g@@oergdo, godmoggmogomn olobo dpg@e-
©OMdsby
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093> 7: g@5ba0dgoeo-mdasdol dsmgds@ogn®o dm@gero

aobgoboanmo  Ymbolfm@gamo  g3mbmdmgs,  obyy  ggmbmdogs,
Am@Es dmnbmgbs Gmeros dofmwgdols. Lbgobso®ow ®md gmigom,
ofo@dmgds bylEoe 0dpgbo X(2), @sdwgboi Lio@egds dsbo®dl Y(7).
X)=Y@). (1)
X(t) 5@0l dofmegds (Foddmgdols dmEyganmds), Y(t) - dmmnbmgbs.
() Fmbslfm®mdol 3odmdoon dgodengds dggoaobmo  gob@m-
0 gdo:
X(t) = C(t) + I(t), (2)
bowsi,  Ct) — dJmmbmgbol gubdioss, I(t) — 0bggl@oiools ¢gyb-

Jioo.
bodyggeolemb-3oglol  oJLgag@sizool  3M0bi03by oy Pbmdom

‘dgodangds og(gdmm gob@mangdes:
I(1)=pX(1) 3)
Lowsi f-odbgeg@siool jmgnocogb@os.
2o0©s  sdols, dJmbdomgds [o@mdmowygbl (o®dmgdol dmEgamdbols

396J0sL, mIgenoi odmgowgdygaos Fo®dmgools dmgenr Fobs ol-
B®MO05bg aogeog f wdmdo. Lbgobso@og,

C(t)=jF[X(r), r]dz, (4)
Pebslfmemdols (2) 606@«)%61% 4) ws (3) Bobdoo dogomgdon:
X(0)= p () + [ FLx()r . (5)

(5) aob@mangdols m@ogg dbs@ol ggocBa(ﬁ;]Ggoé)aE)om dogomgdm:
X(t)=p-X(0)+ Fx(). (6)

oby, dogowgdm  GOsbyodgomo-mdasdol  @obsdogol  wogg®gb-

(30SEY@ asb@megdsls dgdogao Lobom:
1 1

}(t)—E)'((z)+EF[X(t)]=O (7)
30 Jgom:
p=-1 (8)

e
dodob dogowgdm [mboslmdyeo 93mbmdogol ©obsdogol gob@meng-
dol dgdwgao Laboo:

X(0)+ e X(0)+ RLx()]=0, ©)

bogo(s:
e=const, bogne F[X(¢)] Imbdsdgdols Lbodzg@oggs.
09, aobgoboansgm dgdmbgggol, dmogbag
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Flx@]=[x (] - x(e)-4-cos(a-1). (10)
d5dob (9)-@sob 30300900 ©0R0byol obEmengdsl dgdogao Lobom:

X(t)+e - X(0)- X(0)+[X () = Acos(w-1).  (11)

(I1) ob@mangdols  sdmboblbgersw  9bws  owsg(gOmon  ogo
bo@dogyy@o, g.o. 30M39e0 Gogol m@o gobFmagdol  Lolgdol
Lobom. sdobomgol ybws dgdmgodobmo smbodgbgdo:

Xit)=x,; x(@)=x,. (12)
dodob, (11) aobBmangds aosnfgmgds ‘dgdwogabsodsr:
/?VO(I):XI (13)
X1(t)=Ac0s(a)~t)+X0—Xg—e-Xl

@5809G3gmBogaro bosdydsem Ne 7

Sdm35bs:  yobgobogrmm  woygobaol  g3mbmdogy®o  ©obsdogols
2obBmagds dgdwgao Lofyolo 306Mmdgbdbom

X,(0)=1
{Xxo):z (14

>  A=025w=10e=02 Jdmbs3gdgoom, dgdwgy  Sdmblgbom
>demobs Mathcad-'do o> Matlab-‘do.

S>dmblibo: oygx0byols 2aobRma gdols >demboblbgeo s
‘dg3o00bm0 3OMY@Ss.

3Oma®sds Mathcad-by

09938300960l 3OM3MAOGoYmdol 3mgn0309bEo,
c:=0.2

dombmgbols godg dgdgmmgdol Lybmbydo Lobdomy,
o:=1.C

dJombmgbol godg dgdgmmgdols s33@o@ s,
A:=0.25

Toddmgdol dmayermdols s dobo Ggmoggdols LobJo@ol Laofgolo
306md9d0
iczz(lj
1

©00gx0byols yobGmengdoms LoliGgdol do®yxggbs Fbodols do@@oc3o.
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X

D(t, X) = ;
A-cos(o-t) + XO—(XO) —c X, +03

hgg9e0 gd®0go 009390 9b(305@ YO0 3obAME gdoms Lol gdols
5dmblboll m3g@s@m@o O9byg-39Bo>L dgnmom (33eo0 box 0.

S := Rkadapt(ic, 0, 100, 500, D)
Voddmgdol JmEygemdol ©sdmgoogdgagds ©@mbg ©s ©obsdogols
byy@omo 3obyd LoddEFYygby

i:=0.. 1ast(S<0>)

0 20 40 60 80 100 120
Q. 0 100,
2
b -
&
- L _
-1 L I
0 0.5 1 1.5 2

(v

3Omg®sds Matlab-bg
296305 RS0EPO:
function dydt=obg(t,S)
A=0.25;w=1;e=0.2;
dydt=[S(2)
A*cos(w*t)+S(1)-S(1)3-e*S(2)+0.3];
SOMG OIS RS0EPO:

t=[0 120];

yO=[1;1];

[t,S]=ode45(@obg,t,y0);
subplot(2,1,1);plot(t,S(:,1));xlabel('t");ylabel('S(1)")
subplot(2,1,2);plot(S(:,1),S(:,2));xlabel('S(1)");ylabel('S(2)")
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g J3900:

a 20 40 & =20 100 120

bogomaco deo:

aoboboa g @oyR0baol AobGmagds bo@dsgny@o Laboom:

{)’(0 - X,
}21 = Acos(a)t)+X0 - X —eX,
> >dmblgbom Lsfgolo 30®Mmdgbdbom
X,(0)=1
{Xl(o):l
A,0 € 3505d9BMgdol bbgomslbgs 360dgbgermdgdolsmgols

3993009, olig dgo®@bomo 3o®sdgB®gdols 360dgbgermdgdo, GmI
doo@mo g3mbmdogol aobgome®gdols Lbgowslibgs @ggodgdo.
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093> 8: 930bm3oz9@0 ©obsdogol Io@ogl gobGmengds

aobgoboanmo {mbslfmdyeo g3mbmdo .
Feboslbfmamdbols 3o0@mdgdols dobgogom gowagbo Fmbslfm®mdols
2ob@ M gdsls.
X()=C()+I(1), (1)
bowss, C(1) Imbds@gdss, I(1) —obgglBoogdo.
Lodyggemb-bo Lol sJlgag@dsEool  3M0b3o3by  woydbmdom
‘dgodangds hog(gomm obgglBoogdol gobdmysegdygmo gobGmangds
1(e)= ple)- X (1), (2)
bogogs, Blz) >JLbgergdoiool  3m9x0309bG0s. Ao®s  sdobs, C(t)
dJobds@gds  [o@dmoagbls  [o@dmgdol  dmEyermdol  gubiost,
5dobmob ol odmgogdygaos dnbdo®gdol dmnger Fobs olGmmosby,
oby gOmgbyero dgdmbogmols dmEyemdsby:

Clr)= L’F[X (1)]at . (3)
(2)-0L s (3)-ob (1)-do IgBoboo dogomgdm
X(6)= Ble)- X(e)+ [ FLx (o)l (4)

(4)  gobHmemgdol  ™m@ogg dbs@ol 0o  ©0xg@9b30Mgdom
dog0@gbdm

X()= ple)- X(0)+ ple)- X () + F[x(0)]. (5)

oby  gwgdygemdm  ©obsdogol 0 Mgbos Y@  aobFmagdsls
‘dgdgao Loboo:

A0+ (40~ 0) ¢ L ()]0 ©)

Goaoh,  Bt)#0, Tgodangds (6) gobdmegds  goggmm  Br)-by.
d0go@gdm ©obsdogols ob@Gmergdsls dgdwgao Laboo:

o BO-1 e L

X(r)+ 50 -X(t)+m-F[x(t)]—O. (7)
2 (7)-3o ggodbggm Bt) 0o Flx(t)]

ple)=1 ®

Flx(e)]= t(a)2 +&£c08 2t)- x(t)
dogomgdm g3mbmdogndo ©obsdogol dsGogl gobmemgdsl:
X(r)+ (coz +£cos 2t)x(t) =0 9)
od  gob@mengdol  sdmboblbgersw  9bws  poweglg@mo ol
bo@dogyy@o  Lobom, obyg 303900 @ogol @0  gobFmangdols
Lol gdol Lobom. sdobomgol ‘dgdmgodsbmm smbodgbgdo:

X,()=x,; X()=x,. (10)
do'dob (9) Igdwgaboodow aomsnfg@mgds:
XO (t) = Xl (1 1)

X,(1)=—(@® +ecos2t)- X,
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580G BmGogamo bsdydse Ne 8

Sdmsbs:  aobgobogomo  g3mbmdogy@o  obsdogol  dsFogls
2ob@mangds dgdwgao Lofgolbo 30Mmdgbdom:
XO(O)ZI
o )
> JdJmbsigdgoom  w=05¢=03. dggolfsogermon ggmbmdogy®o  o-
bodogs @ -bs s e-0l Lbgowslbgs d60dgbgarmdgdolomgols.
535300 X (1) ©5dm300gd g gdols g@oxg0z0 3oMdgB®gdol Lbgo-
obbgs  dbodgbgermdgdolbomgol o  dggolfogmmm  @sby®o
30O A A JE)0.

o>dmblibe:
3Omgy®sds Mathcad-by

Fo®dmgdols dmEyemdbols wgddxzodgdol 3mgznoiogb@ol dgdgmmgdols
d(3009 5330 o.

=0.8
‘dgdgmmgdols Lobdomy

o :=0.01

Foddmgdol dmayermdols s dobo gmogrgdols LobJo@ol Lofgolo
dosbaomgdgdo

(1!

()

do®0gl gob@magdols doMxggbs bofogrgdols ds@@ozs

X

1

D(t, X) :=
—XO'((DZ + 8~cos(2~t)) + 1.1
hggergd®@0g30 ©0RJM bY@  aobBmagdosms  LobEgdol @by g-
396°L  dgmmon  sdmblbol  ™m3g@sGM@0  3gmso  doxol
25d0ygbgdom
S := Rkadapt(ic, 0, 100, 500, D)

Foddmgdol JmEygermdol ©sdmgowgdygmgds ©Ombg ©s wobsdogols
byg@omo Boby® Lod®EYgby [odmwagbogros dgdogy bobobgdbyg

1:=0.. 1ast(S<0>)
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40

S<1> 20 —

0 20 40 60 80 100 120

30ma®s3s> Matlab-%g

BIbJGoo Goowo:

function dydt=f8(t,S)

w=0.01;e=0.8;

dydt=[S(2)
-S(1)*(w™2+e*cos(2*t))+1.1];

SOMZGSIS RS0ED0:

t=[0 120];

yO=[1;1];

[t,S]=0ded5(@18,t,y0);
subplot(2,1,1);plot(t,S(:,1));xlabel('t");ylabel('S(1)")
subplot(2,1,2);plot(S(:,1),S(:,2));xlabel('S(1)");ylabel('S(2)")
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g J3900:

-5 0 ) 10 15 20 25 30 35

bogodxco deo:

dgob{ogergm  ds@ogl  dmpgemo ¢ > @ obdLsbwgdgao
30M5d93Mgdol bbgowslbgs 3b0dgbganmdgdobsmgols.
‘dgob{ogeogm Lofgolbo 30Mmdgbdols yogengbo.
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093> 9: gg@sboml gjmbmdogg®-3maodoin®o
d@dmgools dgmmeo

domermaosdo  s@olobydgger  domermaon®  Lobgmdsbomsb
d@dmenols  bbgoslbbgs  dgmmegdo  s@Lgdmol.  ghmo  dompysbo
3bmbdognos “d@dmaols 3g@sbomlb dgonmeo”-l Lobga(mwgdom. dobo
sOLo  dgdwgaamddo  Joamdo®gmdl: Gomsi3 oMgogby  I3bmgmgd
Lobgmdoms  3m3ygesoodo, @mdgrol  aobosaydgdsi 2obobmsbyl,
OgagEotges©  d939o3m  bGg®omy@o obwogowo. gl LEg®og®o
0bogogdo 5@  Jmbofoamgmdgh  33emogfe@dmgbols  3Gm39Ldo,
dop®od bbgo obo®hgbgdmsb 9JOMS© debofogngmdgb
Joslbobgmddog  d@dmensdo,  GomsiE 033009096 3m3ygansizools
d99bgd®ogo  b@ol  Lohdo@gl. opgogg begds g3mbmdogsbs o
30000 35dogs.
aobgobogrmm dglsdsdolio dmwgeno.
gndgom, Nit) — bo@dogoy®o obpogogdols Goibgos, M) —
LbobhJomg, @mdmomsiz o3  3m3yesiosdo  dgdgsgm  LEgOog @O
0bogowgdo, @OMIgmms  @omEgbmds  Ny(1)-l  Fegoos.  sdm3zobs
damdo®gmdls M(1)-b ‘dgdengdolispggotsw 0d dobodsgny@do LobhJs®ols
3obLobwg®sdo,  @mIenols OOmbsg N 3m3gmsagos  JOgdes.
aobgoboamn 39g@sboml dgmmeols dgdegao ©obsdoiy@do dmegano:
%:a—m(gN1+hN2)
dN,  M(p)
Nodt Ny ()

Lo, m— 3m3gasiool dg@dbmbos®mdol jmgxnoiogbdos Lsigg-
b0l 93d500bmdsby, a—do®do Logggdol 300mbdgddo  3m3yesiools
omEgbmdols b9bgdbMogo bOwOlL 3m9x0(309630, g ©s A, 30 PoEgdoMO
3MbLESbE o0 (3m3ygmoiool yomdsde@mdbols 3mgx0(3096@0).

05379 dgom, Amd LB g®oey®o 0beogogdo ‘dgdgogm
3039905300l N(2) I gemdol 3GM3MAE0YsS©, g.0.

(D)

—m(gN, +hN,)

M(t)=K-N, () 2)
>bggg ™y 930090m dgdegy o9dsd@Amdol 3m9R0(309b3HgOL
g=h=1 (3)

(D) o (2)-5b 30300900 3g@sboml dmogenls:
{Nl :Nl[a_m(Nl +N2)]
N, = N, @)k =m(N, + N,)]
aodmmgegdo a30hg9bg0lL, @™I:

4
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>) 0y a>k , bm@dogy®o 3m3Ymsos oSO 330gds dodobsi 3o,
Am3d> Nx(0) dogrosh owos. 9@ dgBoE, >3 dgdmbgggsdo LEgm-
0g09M0 0b©0300900 SMg MY 23050 3g0gd0sh,

d) oy a<k, 357906 bo@dogy®do 3M3PYS30s  3gLgds, beane
bHgOoga®o  obpogogdol  3m3ymsi3os  0bAEgds s dobo
@omEgbmds o0 gzl mogol dsJlodogry®  N,=k/m 3b0dgbgeomdsls.
sdol  Jgdegy LEYOoE@  obwogoms  dMm3Paszosiz  0fygol
330mdsbs.

39Osbomls dgomnmeols 9ON-96H00 LEAHOSA g 00o: (2)
5dM o gdamgdols  boagmow  dobo  doJlodogoydo  LEsdogny®o,
O@mdo Yagegero sdmbsblbol godmygbgds

2
_g.k_k (5)

m m

M=M,=K-N

2 max

>d  d9dmbgggodo  domgdymos, @M a s m  35M5dgFMgdo
(3bmdognos, bmerm k 3mgx03096@0Lsmgols LOYEgds 30Mmds k>a,
@0l dggaowsi bm@dsgryg®o 3m3ygesizool @osmgbmds Ni(t)— 0.

49360909550 sbogmoyg® sdm3obsl gofygoom, dspsmomsw,
Hmdgen0dy ‘dgdm Jdgogdomo 3O gdBogols Lodgzbog@m
3R gbosgol  osbogrobols  @OML,  Gemdawols  gzlgos  bpgds
5533560030300 90Y0 3O Jdom.

930b6m3ogy@o  sbogmmpooll  Lobom  godmeagds  ggo®golo
sbspas®gdol ‘dgdgbe.

Sbogrmaoy®o  sdmzebs  dgodangds  ogoamm  @s0dg  Lofo®Imm
N3 9YRIO0L  gmbgy®gbizools  sbogrobol  @®ML,  Lsgmbaooli  sbogn
Lobgmooms [o®@dmgdol smgolgdolsl, @mwglsi, dogomomswe, gom-
goOmo dmfobsowdogag “dgo@dgngol” mogol 3mbin®gb@l 3mbLE®Y-
Jogeo ©sd9doggdol sbogobols bogargdo 390L3gBonm aboby,
Amdgeoi  d00ygobl ol 5@o3mbi@gb@ybodosbo  3Gm@yiools

‘d9J3bsdgoy.

@580G33mBogaro bsdydsem Ne 9

sdmisbs:  dgobfogerge  d@dmaol  gy@sloml  dgmmeols
dom gdo@Bogydo dmgeno:

N, = N,[a—m(N, + N,)]
N, =N,[k—=m(N, + N,)|

Lo gobo 3o@mdgdom:

N, (0) = 2000
N, (0)=2000"
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OIRICHLING
o) m=+0.00001 ; a=9.9; k=10 (a<k),
&) m=0.01; a=10; k=9.9 (a>k).
>dmblibo:

30my®sds Mathead-bg
obom®yybo 3m3yemsiool d9bgd®ogo bOwol Fgdso

a:=99
obsn@Abo s dgBsboao 3m3yesiogdols Lofyobo JmEymmdgdo

(2000
1C =
2000

bBgOoey@o 3m3gamsiool ol Ggddo

k= 10
30399 o300L goydsd@®mdols dshggbgdgero
m = \/ 0.00001

39G5Loml dmpgarol do®xggbs bofoggdols ds@@oizs

XO.[am.(XO+X1)}}

D(t, %) := X, -[k— m- (Xo + XI)J

hgger gd®@030 ©0xgMgbos Mo AobGmegdoms Lob@gdol @by g-
3965L dgmmwom sdmblbols Mm3gAsGm@0 (33e0o©0 dbox0m

S := Rkadapt(ic, 0,200, 300, D)
303990 5(300L ©065d03> EOMLmsb ©sdm jowgdbyegdsTdo

i:=0..last S<O>)
e S(o)

SV
X0 =S

5000 [~ 1

0 50 100 150 200
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3Omy®sds  Matlab-%g
296300 RS0EPO:
function dydt=f9(t,S)
a=9.9;k=10;m=sqrt(0.00001);
dydt=[S(1)*(a-m*(S(1)+S(2)))
S(2)*(k-m*(S(1)+S(2)))];

IOMZHSIS RO0EPO:

t=[0 200];

y0=[2000;2000];

[t,S]=ode45(@19,t,y0);
plot(t,S(:,1),",t,S(:,2),":b'");xlabel('t");ylabel('S(1);S(2)")

10000
8000 F
& /000
n
% 4000 |
‘#'—.-__I-I-I-I-I_I-I-I-I
o000 | g™
|:| 1 5
0 &0 100 150 200
[jotyorf’))cvoﬂm

dgob{ogergm d@dmerol gy@obomlb domgds@ogy®o dmgeoo m,
a, k 3665993 ® 900l Lbgowslbgs 3b0dgbganmdgboll @M. gobobogogm
LoFgolbo  300mdgdols  Lbgowslbgs  go®osb@gdo.  soggm  mJ3gbo
F9©093900L 3Mox03900 s sbligbom Jomgdyemo dgogygdo.
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0gd> 10: FOxgogo ©s30my@Msdgos

3a5]J@ogols 493® 5@y do Fodmod@gds >dmbsblbols
3@ 0dobsiools nog30Lgoyco >dm30bgdo0, Amdgemsmngolbsi
sdobsboosmgdgaos dgdogao mgoligdgdo:

o) 989Jd9Omdol  dohggbgdgemo L(x;, x5 ... x) [o®dmowaqgbls
Sdmbablibol x; x, ..., x, ga0gdgbBgdol (Ogog 39bjiost;

d)  dgbodener  3mboblibgdby  gogdgEgdyge  dgbeywgols
300690 o3l [{®x0g0 2obGmegdgbols 5b YBHm@mdgdol Loby.

sbgm o3m3obgol [M3030 @o3@Mma@sdgdols sdmobgdo gfmwgde.
aobgoboermm [®x0g0 ©s3@Ma@Msdgdol 3mby®g@gmo sdmzobe.

530G BmGogamo bsdydser Ne 10

sdmsbs:  g3bmggegmdol  gg@dsdo  dOmbgdols 33950l @o-
(30mbo dgodangds dgoagl Lodo 3OMmEYJBobogsb — mogs, Lognmlo,

363963 MG gd0, @mdggdo dgoeggbh (o gdl, gogioydls  ©o
30%5d0bgol. Moibgomo Jmbsigdgdo Imgdygeros bGogTo:

bogggd0 bogmogmgdgdo
SOOR G J30 (3000 Jom0980 (3/38) | §05>F0bgdo
(5/43)
0055 a,, =50 o, =10 oy =2
bogrebo a, =70 a,, = a, =3
J76:96(3@505g | a;; =180 Ay =3 a; =1
30

gogobs ©s gogoioydol dJmbds®@gbol @g-msdyg@o  bm®@dgdo
9O Lyga dOombobg 2o0s0ba500dgdom dgoagbli o®obsemgd 2000y
> 210y  dglodosdobow.  go@odobgdols  dJmbds@gds I o@owE
©OMboO dgmos s gbos dgoagbogl 87da-b mg-msdgdo.

‘dggo020bmm  gzgerobg 000 @s3ombo, My gOmo 3y mogols
oM gdygemgds 150 @ydenos,  Lognembols — 200 Gydero  ©o
30b3gbB@s@ols — 600 @yodemo.

S>dmblbs:  dmgobobmm  sdm@Eebol  gm@dsgroboizos  oby
‘dggoa0bmm ‘dgbs@yggolo domgds@ogzyg®o dmwgeno.

30300,  ®3@odogu®o  @omgbmdss:  mogols  — X1 3o
Logombobs — X2 33, 3mbigbd®s@ols — X3 3a. 35dob  dobbols
3964305 (@s3omboll @o®gdyangds mg-0sdgdo) 0dbgds:

L(X1, X2, X3)=150-X1+200-X2+600-X3. (1)
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>dm3bols 300mbgddo Lodo®ms 53 g4biools dobodobo@gds.
dmgobobmm dgboyogsms gm@dsgnobgds: mg-0sdgdo ool
@omEgbmds  >2000p, goenioygdobs  >210p,  bmgom  go@odobgdo
bybEow =87dy:
50- X1+70-X2+180-X32>2000
10- X1+6-X2+3-X3>210
2-X1+3-X2+1-X3=87
X1>0,X2>0,X3>0

2)

3Oma®@sds Mathcad-by

dobbols g39bjiz0o
f(x1,%2,x3) = 150- x1+ 200- X2+ 600- X |

(3305 gools Lo{yolo dosbeomgdgdo

xl:=1

x2:=1

x3:=1
5dm@3obol  sdmblbols  ©s  Igbweywggdbol  3Omy@sdygamo  dane 3o
Mathcad-‘do.

Given

x1>1
x22>1
x3>1
50-x1+ 70-x2+ 180- x3 > 200(
10- x1+6-x2+ 3-x32>21(

2.-x1+3-x2+1-x3=87
R:=minimize(f,x1,x2,x3)

dobbols 39bjizools dobodydol 9@ Eowo

5.833
R =1 24778
1

dJobbols 39600l dobodsgny@o 360dgbgermds
f(Ry:R}.R,) = 6430556
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3Oma®sds> Matlab-%g

% 30bbols g96ios,
=[150;200;600]

% dmbo39d9d0
A=[-50,-70,-180;-10,-6,-3]
b=[-2000;-210]

Aeq=[2,3,1]

beq=87

ib=[1;1;1]

% 5dmi3obol gosfy3gde
[R,fval]=linprog(f,A,b,Aeq,beq,ib)

F92g8Joo:
f=
150
200
600
A=
-50 -70 -180
-10 -6 -3
b=
-2000
-210
Aeq =
2 3 1
beq =

b=
1
1
1
Optimization terminated successfully.
R =
5.8333
24.7778
1.0000
fval = 6.4306e+003
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bogomao deo:

g3ndgomn dzomg Lofo@Iml Losdj@dmad 9bps @osdbopml Lsdo
Godol 100  boggomds. mommgyero  bojgomds  9bes  @sdbowwgls
5O5bogagd 20 ogobs. bs3g9mmdsby dJowols dgbsdsdobo 4, 34 o
2 3a d9Boo, Om@Es dobo Log@mm do@opo 340 ga-5, 5a@gmgy
475,11 @o 2 gpy 3gsb@dobs 700 ga Log@oem doEyermdon. omo-
nmgygeeo Aodol X1, X2 oo X3 @sdogbo boggmmdbs 9bes oodbopogls,
@md dogoemon aodmdggools dsJLodsgry@o JmEymmds PGy  o-
dolbobyangdsdo, 09y boggmmdol goligbo gog 3gesizools dobgogom
‘dgoagbl 4, 3 o 2 @o@ls?
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093> 1I: bLos@bgdm dobodydol oeagbs Imzgdgen Joems]do,
dm3999e @50m6do

V03030 ©o30ma@5dgdols  5dm 3069l 2obgznmgbgds:  sdmzobs
Loo®lgdem  dobodydbg, [o@dmgdobyg, sa@gmgg  Lo@@sbldm®@m
5dm3obs  2ooboEggdbbyg,  sdm@Eobs  dobpg®ol  Logo®yyergdols
3R 0do@y@ aobofoamgdoby wo o.9.

odmzobs:  yobgobogmm  Loos®lLgdm  dobodygdol oy gbe.
3ndgom, 353t gggdol  n 3Omeyddo  (3g®o, bm3dzo, @dg,
3°0G™Rogro, doGogro, do@ol gbgbogno, ...), GmIwgdoi dgo3o396
Lobogm@bamme  sy@omgdger  bogmogdgdgol ((3bodgdl, (0@ gdl,
bobdod(yergdl s g30@od0bgdl).

3bmbognos dgdpgao 3o@sdgBMgdo:

a;— Jj-960  30mg]dol  gOnggedo  i-g®o  bogmog@gdols
‘39933950 ™ds (a; 20);

b,— -0 bogmodgdol dobodogryy@o Gomgbmds, GMIgeroc
9bos dmobdo®mlb 0bpogowds AMolL dm3gdyger o gedo (©pg-
®sdgdo, wgdo, mggdo, ...);

¢, —J-9640 30mEg]dol gomnggmmol Lodsb@m gslo (¢>0).

339%0L  gggems  @di3ombl (X X5...X,)  dm@ol,  @emdagdo
>3d5gme30e0gols obpogowols dobodsgny@® dombmgboangdsls
Lobo®agdgm bogmog®gdgddbyg, 9bes sdmgodhomm dgoo®gdomn o0s%0.
X, (o®dmowagbl obpogools dog® @®mol dm3gdye  dygomgodo
dobds@gdyen j-g@0 30mEY]Bol Oomgbmdsl. go®s sdobs ¥bws
2530m35@olfobmm, Gmd amol dmEgdyge dygomgodo obpogoods
9bs doo@ml Jogrm®ogdol dm3gdyao g MomEgbmobs;

t— =90 30mEy]Bol gOhmgymdo gomm®ogdols dgdggermds.

Sdmblbs:  hodmgogogodmm  sdmaobs  Los®lgdm  dobodydols
50 9b5by.
dJobbols 39bJizos (AsE0mbol Wodgdyegds (X1,X2,X3,...Xn))

L(X1,X2,.,Xn)=> C,-X, > min. (1)

J=1

dggoa0bmm  Igbmyeggdbo  ©AOmol  dmigdyger  dygomgodo
3b0dgdol, oagdol, bobdo®(gagdols s go@Eodobgdols syio gdgen

@5m©gbmdgdby:
iaij'Xiji’ (2)
=

bowo3, i=1Lm,m og@og@abggﬁo bogmog®gdgdols @oibgos.
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ao@s (2) dgboygogobs g35d3L aobGmengdol Loboo dmyg-
gm0 dgboyogs Jogrm@mogdol oo gdge doEygermdsby:

Zti'Xi:‘J- (3)

(D)-(2)-(3) Sdmzobo Vo@dmowaqbls, OOAMO3 V®g030
53MMaM5dgdol sdm3obsL.

g303mgmo (X1,X2,...,Xn) m3@o0dsgry@o 3b0dgbganmdgdo, @mdgen-
0o @AMl Jobbols gybios (1) doowgdls dobodsgy®@ dbodgbganmdsls.
sdobomob, gl dbodgbgamdbgdo  9bps  Szdogmgoggdegl  (2), (3)

dgbrgoggol.

@38mBS5G G0z bodydsem Ne 11

0dM(3065: 0535020bmm  Los@lgdm dobodydo @s0mbdo, Lowpsg
33900L  do@omo@  3OmEY]Bgdl  dgopagbl:  3y@o,  joMEMPoo,
bo@o. Lodosb®Om golbo 39abg — 05 @, 3oOFHMRogbg — 0.6 @,
bo@3bg — 10 gos@o.

Sdmblibo:

dobbols 3ybjizos 0dbgds:

L(X1,X2,X3)=0.5-X1+0.6-X2+10-X3—min.

bi — @3bodgdol, @Goggdols s  go@sdobgdol Sy gdgEo
5M©gbmdols db0dgbgeomodbe, 530 9m39 >d bogmog®gdgdols
39933920mds  aj; 3OMJBgddo, Jogrmmogdol syEomgdgeo g Gom-

©gbmds, s dmEgdge 3OmEedRgddo  f gomm®ogools dgdig9mmds
2obmogligdbyamos 0b@gmbgd do.

dogoomolomgols (o] @oibggdo smgdbyaos bgdolidogHow), my

100 0.10.2 0.1 20
b=|80 |; (a;)=[0304 0.2]; g=15000; 1=|15 |,
90 0.20.1 0.5 30

dodob dogomgdm dgbwyoggdl:
0.1-X71+0.2-X2+0.1-X3 >100;
0.3-X71+0.4-X2+0.2-X3>80;
0.2-X71+0.1-X2+0.5-X3>90;
20-X1+15-X2+30-X3=15000.
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3Oma®sds Mathcad-by

>dm@i3obol dobbols g9bios
f(x1,x2,x3) :=0.5-x1+ 0.6- x2+ 10- x3 .

>dm3obol 33eogdol Lafyolo dosbanmgdgdo
xl:=1
x2:=1
x3:=1
Jgboyeggdols s 5dmbsoblibols 3mgbol 3GMy@sdyemo denm 3o
Given
x120
x220
x320
0.1-xI+0.2-x2+0.1-x3>100
03-x1+04-x2+0.2-x3>80
20-x1+ 15-x2+ 30-x3= 15000
02-x1+0.1-x2+ 0.5-x3>90
R := Minimizgf, x1,x2,x3)

>dmi3obol dobodydol §g@@E oo
600
R = 200}
0

>dm3obols sdmboblibo
f(Ro, RI, Rg) = 420

30my®sds  Matlab-bg

7 30%60l 3960,
£=[150;200;600]

% dembo399900
A=[-50,-70,-180;-10,-6,-3]
b=[-2000;-210]

Aeq=[2,3,1]

beq=87

ib=[1;1;1]

% o5dm3obol gowsfyggde
[R,fval]=linprog(f,A,b,Aeq,beq,ib)
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dgegs Joo:
f=

150

200

600
A:

50 -70 -180
10 -6 -3
b:

-2000

Optimization terminated successfully.
R =
5.8333
24.7778
1.0000
fval = 6.4306e+003

Joemod  mdogmolols olbol  @s0mbdo  Lss®lgdm  dobodyndols
52965 (05030 ©53GMM5dgool sdmEsbol boggydggan by

Lboos®ligdm dobodydols aodmbomga gen s Lodo®ms
20dmMgog3800mm 33900l ol 3OMEYJBHgoo, GO®Imgdby3  Loggergs
@50mbdo yg9eobg oo dmmbmgbss.

olboll  @s0mbdo  yggmoby oo  dmobmgbs  dgdwgy
30m]Eg0bge:

3940

3bg®ol bm@aio
bodm

3OO @MGoao

@ mb0M
LoJmberols bo@z0
d®0byx0

YVVVYVYVYY
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3bmdogros, ®md  Logmabaol  dglsbo@hybgdmo  s@sdosbds
9bos doomml: (3ogrgdo, 3bodgdo ©s bobdo®(yegdo, G gdlsc
‘3903086 dob dog@® dmbdodgdyao 33900L 3GOMEYJBHgoo (Imbsi9dgd0
dmygobogros d9degy (3b®oando):

bsbdod fgangdo <l @ bodgdo
1 I9H0 a;=5.0 a=7.9 az3=0.8
2 Gbgbol bodo | a;=16 a=2.0 as=0
3 bogm a;3=2.8 ax;=13.2 a33=20.0
4 JOOBR0a00 a;~16 a=2.0 az=0
5 300 a;5=46 as=21 azs=0
6 bsgerbgools a;6=0 a~=18.9 az=12.4
borcigzo
7 3@0bx0 a;~=1.0 a~=71 az~=0
P g}f’:"aﬁ'ﬁ” bi<500 b,<90 bs<100

30ma®@sds Mathcad-by
L(X) := 0.40-X1 + 1.10-X2 + 2.5-X3 + O.SO-X4 + 2-X5 + 4-X6 + l-X7
1
X 1
X = 1
X 1
X 1
X, =1
X, =1

o
\Y

0.500

o
\Y

0.500
0.500

e
\Y
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[\

0.500
0.500
0.500

0.500

xoXox X
\Y

\Y2\%

3950X1 + SOOX2 + 13200X3 + ZOOOX4 + 210()()X5 + 18900X6 + IOOOX7 > 9(
4OOX1 + 83500X2 + ZOOOOX3 + 0 X4 + 0 X5 + 1240()X6 + O-X,7 > 10(
250000X1 + 1300X2 + 2800X3 + 16000X4 + 46()00X5 + 0 X6 + 71000X7 > 50(
255-X1 + 781-X2 + 94-X3 + 94-X4 + SS-X5 + 187-X6 + 351-X7 = 120(

R := Minimize (L, X)

0
0.5
0.873
0.5
0.5
0.5
0.5
0.5

L(R) = 6.161

30my®sds  Matlab-bg

7 30b6ols §96JG0o

£=[0.4,1.1,2.5,0.5,2.,4,1]

% dmbo39d960

A=[-3950,-500,-13200,-2000,-21000,-18900,-1000;...
-400,-83500,-20000,0,0,-12400,0;...
-250000,-1300,-2800,-16000,-46000,0,-71000]

b=[-90;-100;-500]

Aeq=[255,781,94,94,55,187,351]

beq=1200

1b=[0.5,0.5,0.5,0.5,0.5,0.5,0.5]

% 5dm3obol gowsfyggde

[R,fval]=linprog(f,A,b,Aeq,beq,ib)
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g J3900:

f:
0.4000 1.1000 2.5000 0.5000 2.0000 4.0000 1.0000
A:
-3950 -500  -13200 -2000  -21000  -18900  -1000

-400  -83500  -20000 0 0 -12400 0
-250000  -1300  -2800 -16000  -46000 0 -71000
b=
-90
-100
-500
Aeq =
255 781 94 94 55 187 351
beq =
1200
ib =

0.5000 0.5000 0.5000 0.5000 0.5000 0.5000 0.5000
R =

0.7354

0.7964

0.5000

0.5000

0.5000

0.5000

0.5000

fval =
6.1702
Loo@lgdem dobodydo Jognsd mdbdognolols olbols Gsombolsmgols

‘dgoagbl 6.161 @odl egdo s 184.83 ano®dls mggdo.

bogodxco deo:

5520090  Los®lgdm  dobodygdo  mdggbll  @s0mbdo, Lows
33900L doGomspo 3Gmyd@gdos: 39M0, 3oOBMABomo, bo@30,...
d960d96o: 25dM094gbgom LodobHm 3olgdo de 3999

30mYJHgoby.  osygEomgdgeo  g3zgms  0bgm@dszos  dMm03mggm
063g®bgBdo o dgoeay0bgm 33900l M3F0dosgry®o @o30mbo.
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093> 12: dgby@lgdol m3Godsgrag@mo gobsfoamgds

300 d3om, dmEgdgmo  agodal podg39ammo Gglg@lgoo (bgoeny-
900, bodydom dogns, obowys®gdo):

R, Ry, ..., Ry (1)
dgLododolo Gomwgbmdgdom
bibs,....by, (2)
>3 Mgbyg@lgbdols 2odmygbgdom dgodangds gofo@dmmo LsJmbgero:
T,T,,...T, (3)

T; LoJmberols gomo goOmgyeols Lofo®dmgdmow Lodko®ms R,

@gbyabols  a,, (izl,_m,jzl,_n){](ﬁm{mgmo. Ri agbydlol mommgygeno
gOmgg@o  odl di eos@o. T Lomberol mommgymo  gomgyeols
@goaobszos dglodgrms C, (j=1n) @S S.

LoJmberols mommgygeo Lobgmdols (o®@dmgdygao gOmgyagdols
@omEgbmds  dgdmgsdymygmos  dmmbmgbom.  3bmdogros, @™
dobo®o gg® dmosbmdogh T, (j=1n) LoJmbanols K, g@ognabg dg@
@5mEgbmdsb.

obdol joobgs: GmIgano LoJmbgero o Gs @omgbmdom 9bws
0d6gl  Fo@dmgdyyano  0dobomgol, @md dmbogl  dsJlodsgry@o
dmagdoll Mgoemobgds?

>dmblibo: sdm3obols 3006940 hog( germm VOx030
©530MaM5dgdol domgdo@ogy®o dmwgeols baboo.

dombmgbol 30Mmdgdo 5Fglgdl Igbrmaywggdl:

X <K,, i=ln. (4)

Ao0©s  sdols,  Gglyy@dlgdo  dJmobdomgds  s@oydgBgl  od
@omEgbmdols, godg  a35J3b  Lofymddo;  sdo@dmd  @gdyamdgb
dgbegrgodl:

Zn:a[jxj <b,  (i=1m). (5)
j=1

‘dggo00bmn amg)a&oB dobbol g9bios. Ti Lobols Lsgmbeools
JOM G0 oM bmdols sj-030mn®oM oy gds go®ol

§; = iaijdi (J= 1,_11) . (6)

Ti Logdmbaool, gomo gomgygmols @gomobgdom  domgdyeo
bggms g dmggds Goeos dol gobogow ¢ goblbs ©s 55 mgomwodg-
dgangdols dm@ols Lbgomdobe:

4;,=¢ 75 - (7)
4gges  LoJmbgool @goeobsigoom dowgdyemo Log@mm Lygms
doagds 0gbgde:
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n n

L(x,,x,5,0..,X,) :quxj :z(cj —iaijdi)-xj — max.
i=1

r38m@G3BmG0oaao bsdydse N 12

0dm(3065: LoMmogo QodMogs bodmol m@o Lobgmdols Lofo®-
dmgdao  094gbgol  Lodo  Fodol  bgpegyerl —  Lygms  dogols,
3530Mbl @ s3@Moenls.

gb®oando bohggbgdos bgpegymols bodyxgol bm®dgdo, dobo
Logmm  @omEgbmds, OMIgeoi FodMoged [aol aobdsgmmdbdsdo
9bs  2odmoygbml s mommgymo  Lobol bsdmol gOmo Fmbols

9o 0bo30000 dJowgdegano Jmygds.

165 bo@mo by bgeagaarol
bgeargaarol bomxgol beasdgdo bgeagaarols
5050 bobygmds 1 bobgmds 2 | Gom@gbeds
)

Tomo a, =0.5 a, =02 b, = 600
Jo3Bmb0o a, =0.1 a, = 0.6 b, = 620
SJPOEP0 a, =04 a,, =0.2 b, =500
I 6 bo@mols| ¢,=1100 ¢, =900
9500 bs3000
do@gdgeo
Jma 965

‘dg3o00bmm demagdols doglbodobsioobomgols bo@mols

Fo®dmgdol (avoygdo ggade.
Sdmblibs:  hodmgoysmodmm  sdmiobs. gmdgom,  x; — 30@®3gero

Lobol bo@mols MomEgbmdss s  x; — dgmeg Lobol bodmols Gosmy-
brdo.

dodob Igbroyoggdl 94bgds dgdwgao Loby:

0.5-X1+0.2-X2<600

0.1- X1+0.6- X2 <620

04-X1+0.2-X2<500

Jobbols 39bJizool (bygms dmagdsl) g4bgds dgdogao Loby:
L(X1,X2)=1100- X1+900- X2 — max
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3Oma®sds Mathcad-by

>dm@i3obol dobbols g9bios
f(x1,x2) := 1100- x1 + 900 X

(3300 gools Lo{yolo dosbeomgdgdo
xl:=1
x2:=1

5dm3obol sdmblbols s dgbmywggdols 3OMAMsTg@o deomgo

Given
x1>0
x22>(

0.5-x1+ 0.2- x2< 60C

0.1- x1+ 0.6- x2< 62(

0.4-x1+ 024- x2< 50

R := Maximiz{f, x1,x2)

1199.664
R =
0.839

f(Ry, R;) = 1320385.9

doJlodydol §g@@oao

>dmobols sdmbsblibo

3MmaMsd> Matlab-bg
% dobbol g3y9bjios
f=[-1100;-900]
% dmbo39dgdo
A=[0.5,0.2;0.1,0.6;0.4,024]
b=[600;620;500]
Aeq=[];
beg=[];
ib=[0;0]
% odmzobols goolyg9@o
[R,fvall]=linprog(f,A,b,Aeq,beq,ib);
fval=abs(fvall)

dg@g8900:
f —
1100
900
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A=
0.5000 0.2000
0.1000 0.6000
0.4000 24.0000
b=
600
620
500
ib =
0
0
Optimization terminated successfully.
R =
1.0e+003 *
1.1997
0.0008
fval =
1.3204e+006

bogodxco deo:

bodo  Lobgmdol 4, B o C  boggomdol  Lofo®dmgdansw
aodmoygbgds T1, T2, T3 Bodol bgoggyao. odsbmob T1 s T3

baeaggaol  Fgbgowggdo  Fgbeyegmos  Jmdfmrgdmydols
‘dglodan gdanmdgdbom. 3bGogdo dJm39dygeos by ggmols ba@xgols,
bgoagyels s boggmmdbdoby goligbol bm®@dgdo s byoergyaols
‘dglgogol ‘dgbmeywggdo.

bgwaryg | 18 JOw  boggmemds by bgwwyywob| bgwewygwol
aeolb | bgoayg | bs@xgol ber@mdado (48) dgdgbolb
Goso | gaob 9 b gwggdo
25 b0 A B (8)
(ano©0)
T] d]:2 Cl[]:] 6112:3 ap;z—a b1:3000
T2 d2:] (12]:4 6122:] (123:3 -
T3 d3:b a31=6 a32=5 a33=2 b3:3320
g0 c;=6b+1 |c,=5b+22 |c3=c
boggomdolb as5bo| 2
(aro0)
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2oblobwg@mgom  dmggdol dolbodobsiools Jobbom  3@mEeiools
Fo®dmgdol m3Godogoygdo ggads. dgopaobgm bmaswo Lobol domg-
do®0g9M0 dmgao.

aobobogngm (a,b,c) 35605dgBHMgdols de9dols Lbbgowslbgs
‘dgdmbggggdo:

a b c
2 1 17
2 2 19
2 3 21
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093> 13: 3o5bopggdol LsG@SbL3mME M Sdm3sbs

30300, @owoi 30mEyddo (Jgobsbdodo, sayg@o, d9bbobo,...)
0bsbgds m Lofymddo @o asdmoygbgds n 3963 3o (Jodbbyddo,
ddgbgoembdobyg, do@obogddo, dgbbobysbodo®mm Lowayymgddo, ...).
a; >®0lL 3OmEydBol  dos@opo i-9@  Lofymddo (¢,>0); b, —

aobozbogdo Lombgerbyg dmbdodgdol j-9@ 396J@do; ¢ — i-gco
Lo(ymdowsb  dJmbds@gbdols  j-90  39b6J@do  gOwmgy@mgsbo
@omEgbmdol  3OmEyYJdol  gowsbopgol  @oMgdymgds, ¢, >0,

i=lm, j=1n.
Sdolmob  omgagds, OMI  sIMEobs  @sdsEsblgdyyenos,  g.0.
xod7M0 Fo@53900 Geenos xodg®o dmmbmgboa gdols.

>a =3, M

9bs  sg30@bhomon  dosbowggdol  olgmo  LE®SGgR0s, @I
LA gmo  ©ogsgdogmgoemn  dmmbmgboggdgdo, sdosbmsob  goe-
bowggools xodydo bodxgdo oyml dobodsgry@o.

sdmbbbs:  godgom, Xi ULojmberol @omegbmdss, @mdgmog
2os0bogds  1-9M0  39bJBowsb  dmbdodmgbols  j-y@ 396 do,
d5dob Jobbol B¥bJ3aosl (yowsbowggdol xsdg®o bodxgdo) o3l
‘d9dwga0 Loby:

L= x, - min. )
3oMs sdobs, 9bws Qo;}odBog;r)%onm 4g9es aobsbowo, g.0.
Y, =y, (j=1n). 3)
o056 aolioba@xos bo%’glﬂl)baEmb dogero dodop0, 839]bgds:
Zn:Xijzai,(i=%. 4)
3bowos, M™I "
X, >0, (5)

SdM00©  gogdgmmdmn  [Ogogo  ©s3@mg®sdgool  (2)-(5)
Sdm3065L, mIemols sdmblibsi 9339 goEom.
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@58mM3BMG0zao bsdndse Ne 13

8dm(3565: D9p0mbdo s@oll m@o (39996G0L Jo@bobs s domo
30mEyJ3ool  dmdbdo®gdgero  Losdo  dobsmddgbgdemdbols  3mddo-
bodo. @gb®oendo dmEgdygeos (39996 0L Fomdmgdol ©@gmsdydo
JoEgemdgodo, 3mddobs@gdol wEg-@sdydo dmmbmgboggdgdo ©
0000 Jo@bbosb mommgyan  3mddobs@odpg  ghmo  Bmbs
399963 0L aosbowgols @o®gdyangds.

d93006mm  (39996GH0L  gosboggdol  Mm3FGodoey@o  9ds
LoB®obldm@E M bodxgdol dobodobsiools dobboo.

Jombbydo | 3999660L  [Fo@mdmgds | 1 & 99960 sowsbowgol
/e QOGS e g3s
JMI3.1 JMI3.2 | ymI3. 3
I Jombsbs a;=40 c;;=10 c=15 c;3=25
Il Jobsobs a,=60 ;=20 C2,=30 c23=30
9996506 dmbdsmgds | b;=50 b,=20 b;=30
O/

Sdemblbs:  5dmzoboll  sdmloblbgemo@  gowygbm  domgds@osyc

deogenls.
godgom, X, -39996¢0bL Gompgbmdss (izl,_2) @0  Jodbbowsb

2505 booyeo (jzl,_3) bod  b0bomlioddgbgderm  3mddobs@do. d5Tob,
dobbol 59bjiool ol dgdwgyo Loby:

L(X)= iicy - X; = min

j=1 i=1

235J3L dgdgao Lobol dgbemeywggdo:
ZZZXij =b;, (j:L_3)

ZS:XU =4, (i:r)
=1

X, 20.

LoB®SbL3MAOFM  sdmEobol  s3mboblbgarow  gowagbo  3GMAMS-
dols
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3Omp@sds> Mathcad-by

0begboios ofygds 1=1-sb
ORIGIN:= |

(10 15 25)
C:=
20 30 30
0@ Jo@bobsdo (39996@G0L dodopo

o

bodo dobsmbeddgbgdenem 3mddobs@ols dmmnbmgboggds

ao05bowgol gsligdo

2o05bowggbdols dobbol Kybiios

3002
L=, DG
i=li=1
3o gdols Lofgobo dosbanmggdgdo
i=1.2
1=1.2
i=1.3
X =1

i
dgboaeggdols s 5dmEsbol sdmblbols 3GMAMSIY@o deom o

Given
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X>0
R := Minimizq L, X)

>dm3obol dobodydol §g@@E oo
(20 20 0)
R =
30 0 30
2o05b0oeggbols Mm3F0dobgdymo gsbo
L(R) = 2000

30my®sds Matlab-bg

% dobbol g9bjios

L=[10,15,25,20,30,30];

% dmbo39dgd0

Aeqg=[1,0,0,1,0,0;0,1,0,0,1,0;0,0,1,0,0,1;...
1,1,1,0,0,0;0,0,0,1,1,17;

beq=[50,20,30,40,60];

b=[0,0,0,0,0,0];

% odm@obols gosfyzg@o

[R,Lval]=linprog(L,[],[],Aeq,beq,ib)

TIRIBIO0:
>>m3@0dser®o [9OGogol 3mmdoobs@godo
R =
20.0000
20.0000
0.0000
30.0000
0.0000
30.0000
Lval = 2.0000e+003

bogo@aco dea:

Vgoaobgm  gosboggdols  sbogmyoygdo  sdmsbs  mdggbo
@50mbolbomgol o 03mggom  Aosobowggdol  m3Godogy@o  gade.
(mommgygen LEAYogbBl 9bos 3Jmbogl Lbgosbbgs dmbsigdgdo wo
>dm3obols goblbgoggdyero dobss@bo).
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093> 14: 5@5{@x50g0 ©33OMYMsdgdol Sdm35bs

>M5(Mx8030 ©3OMAMsdgdols sdmzobols o3l dgdwgao Laby:
030390  dobodydol  (doflodydol) (g@Foeo ©s dobodsgoyy®o
(doJLodoeny@o) db0dgbgermds s@sf®x030 g9bjioolomgols:

z=f(x,X5,..X,) (1)
‘dgboyeggdobol, Gmdggdo dm3gdgeos Amamdgdols Laboom:
S.(x,%y50x,)=0,i=Lk , (2)
s gBmemdgdol Loboom
W, (x,x,50,x,) <0, j=1m . 3)

530G BmGogamo bsdydse Ne 14

SdM(3565: 303mMgmm >sMo{MB0g0 B9bjiool dsJlodsgoydo dbodg-
bgermdo:

f(x1,x2) = 6x1 - (x1)* + x2
B9dga0 dgbegwsgdomn:
2x1+3x2<24
x1+2-x2<15
3xI+2-x2<24
x2<4
x1>0,
x220
>dmblibo:

3Oma®@sds Mathcad-by

dobbols 39600
f(x1,x2) :=6- x1+ x2— xl2

>dm3obol 3gmogdol Lofyolo dosbanmgdgdo
xl:=1
x2:=1

‘Jgboaeggdolbs s 5dmEsbol sdmblbols 3GMAMSIY@o deom go
Given
x1>0
4>x220
2-xl+3-x2< 24
x1+2-x2< 18
3.x1+2-x2< 24
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R := Maximizg{f, x1,x2)

doglodydol §g@@oao

>dm3obols sdmbsblibo

f(RO,Rl) =13

30my®sds  Matlab-bg

% dobbol g39bjios
H=[2,0,0,0];

=[-6;-1];

% dmbs(39d960
A=[2,3;1,2;3,2];
B=[24;15;24];

Ib=[1,1];

ub=[10,4];

% sdmEsbol aosyg9@o
[R,fvall]=quadprog(H,f,A,B,[],[],Ib,ub);
R

fval=abs(fvall)

98900

m3@odogr®o [gOBomol 3mm@oobs@gdo
R =

3

4
fval= 13
bogomaco der

1. 03mggem  s@s{®x030  K9bjiool
dobodsgy@®o dbodgbgermdgdo
S()=(x,=3)" +(x, - 47,
3990930 dgbegrsgdom:

3x, +2x, 27
10x, —x, <8 ;
—18x, +4x, <12

102
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x20 x,20.

3oliggbo:

x<zg'x4:ﬁ- f:ﬁ
01 TP 1017 ™ 101 .
X)max = 25 Xy may =125 S =05

2. 03m390 5M5{®%xk030 }9bj00L dobodsgnyy@o dbodgbgamds
f(x)=4x, +x] +8x, +x3,
390 dgbegeggsomn:
x, +x, =180,
x20 x,20.
3obigbo:
X, =9L x, =89, f_ =17278.
3. 03m3ggm dolbodsgny@o dbodgbgarmds
f(x)=2x, +4x) —x) —2x;,
Y
x, +2x, <8
2x,—x, <12

x=20 x,20

3obigbo:
Ximax = Xomax = b S =3
4.03093900 [ s 09
f(x)=2x, +4x, —x —2x]
X, +2x,<8
2x,—x, <12
x20 x,20
3obgbo:
Xy = 0.99528;x,  =0.96321; f = =2.99957.
5.03390  frn s 09
()= =D +(x, =3)°
x20 x,20
—3x7 —2x; +21>0
—4x, —5x,+20=0
3oliggbo:
Ximn = 0.9989;  x, .. =2.999763; f... =0.
6. 030{)3800 Sains O
) =0 =4 +(x,-4)

9
x, +x,-5=0

b
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3obigbo:

Ximin = 2.5 Xy = 2.5 i =45
7. 030890 frin, 09

Sx)=(x =1 (x, =2)-(x, =3) + x,
x;—x—x; >0
x{+x;+x;-4>0

5-x;20

x20 x,20 x;,20

3obigbo:

Xjmn =201 x,.. =0.00L x,.. =201L f. =20.

8. 03M390  fius 09

f()==x=x3; 18=(x,=7) =(x,-7)’ 20, x>0, x,20.
3obigbo:

Xy = 4.021; x, =4.021; f, =-32.337.
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093> 15: 2o9bol gdi3odgl ggo@sGms dgmmeo sjiool gslgdol
30mabmbodgdobomngol. FORogo Ggad@glos

o306 olbol 9dEodgl ggoE@sGms dgmmeo  Lsdygomgdsls
0dgm g3 9Jb39™039b@ o @ V9o Boeogdls M3 0doer @ o©
dogyobgomgogm, dmigdygeo  geosbol  @ubiogdol  dgdzgmdoom.
5dobmsb, my dnzgdyeo g9bJzogdol jansbo Fo@dmowygbls {03
396J0oms  Lod@ogagl  y=a-x+b, 35Tob SImEsbol  gfmwgds
Fogogo @gadglools sdm@Esbs, bogm oy dJmEgdgmo  gublios
dogggmgbgds  ssf@xk0g  gubJiosms  geosbl,  3sTob  ggodsls
>®5§MOgx0g30 Gga09Lool sdm3sbo.

aobgobogomon  (@xgogo gybjioom gdl3g@modgb@ol dgwgygdmsb
doosbgomgbols odmzobs: y=a-x+b

X X; X . X,
Y Vi V7 .. Y

sdmblbs: Lobganomd®d, 0d y=a-x+b ¢ubj3ool Lodmgbgersw,

Gmdgeoog bbggdby 9390 9bog obogbls 9Jb39™039b@ a0
FaoBoangdol  830mJLodo@gdol, gmgger (Xi, yi) [gOGoerdo ybos
‘dggo00bmm bbgomdgdo (gopsb@dgdo).
= (ax; +b)-y,, ey
ooz,  ax,+b gdl3g®0dgb@ogy®d  y;  dbodgbgambdslionsb
0 go@ogmo  dJosbgomgdss  X=X; VaoBoemdo.  sd@ogoe, T
Foddmopagbl  x=xi [g®oado  g9bjiool  mgm@oymbs s
9LJ39®039b@G e 360d3bgermdgols dm@ols Lbgomdols 3b0dgbgemdsls.
9bs dgoagl (1) gopob®gdol jgo@s@ms xodo, Gmdganlss
gVmgds G (a,b) aonbol gubjcos [10].

n

GXab) =371 = (ax, +b-y,)" . )

demgoboobmm aombols Gl (a,b) 23964300l dobodobozoo.

30603930l (9d@omo (a,,.b,.) 06pogoys@mmdsl 1dgbls LYm@go 0d
Y= iy X+ by 3)

Vogab,  Oodgeos  ggamoby  gggmgbore  dogobmgrgds

9Jb390039b@>s 9@ (X, yi) F9@B0ggol g mmdeomdsdo.

ONCRNS aogbol dgomodo boyggmglm dosbermgdols
39009009l [o@Imopagbl  goob@oms  ggo@s@gdol  xsdols
dobodoboos, 8do@md 53 dgomel 9dxze®gl  3goE@SEmS dgmmeo
aVowgde.

M®OY3bmbdosbo (2) gybdioolomgol 9JbEH®9dydol syEoegdgeno
300mdgd0 LodYgoemgdols agoderggl dggoaobmm (@03 aobGmang-
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doms  Lob@gds, @mdgmoi  goblabwg®egl  dobodydol  [goOGoels

(amin > bmin )

2 n
9G] =2 (ax,+b=-y,) x, =0
da i=1
N @
ﬁbl :2~;(a-xl. +b-y)=0
(4) Lobgds aooglgmmon dgdwgao Laboo:
a-i}(f +b-i){i :iX,.y,.
[:1 i=1 ) i=1 ; (5)
a-ZXi +b-n:Zy[
LHENHTS
Zn:Xiz Zn:Xl n n 2
A== i=1 zn_ZXiz_[ Xij ;
ZXi n i=1 i=1
i=1
inyi ZXZ n n n
4, = i=1 - ”'ZXiyi _(ZXJ(Z%};
Zyi n i=1 i=1 i=1
i=1
iXiZ iXiyi " " " "
A, == = :[ZXiZJZyi_[ZXi)(ZXiyi];
X, ‘ i=1 i=1 i=1 i1
>Jgob dogomgdm:
All
amin =
A
p =B
min A

‘d9d 92, 9O byy@onby 350 90m ™M 3Mo5030:
9JU39M039bGo@y® [gOHBoagdl s mgm@oge m3Godsmy®d FoOagl.

I I I I I I
@
@
100 W
Y ]
YY) ® ®
f(x)
D
0 | | | | | |
0 2 4 6 8 10 12 14

X,x

9Jb39™039bGoemy@o [g@Goergbo s mgm@oygmo [ qgg.
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530G BmGogamo bsdydser Ne 15

0dm3sbs:  ojzool  Y-ggslol  obsdogs  X-3odggemo 10 mgols
dobdoanbg dmzgdygeros 3bGognTo:

1 2 3 4 5 6 7 8§ | 9 110 11 | 12
100 | 80 | 90 | 110 | 20 | 90 | 8 |100| 80 | 90 | ? ?

~

d93o030bmm gobols 3GMAbmbo bmgddgdls s 09393696 To.

o>dmblibe:
30my®sds Mathead-byg

0begboios 0fygds i=1-sb
ORIGIN:= |

9Jb39®039b@ o dmbs39d9d0
100

80
90
110
120
90
85
100
80
90

O 0 9 N U B W N =

—_
(=)

dmboigdms [@gogo (o@dmoagbols 3mgxn03096@9d0L demdgdbs

b := intercept(X,Y)

a :=slope(X,Y)

b =99.333

a=-0.879
>dm@3obol gdb3gModgbRyero dmbozgdgdols Josbanmggdol mgm@oyao
B96JGos

f(zy:=a-z+Db
dobozgdms  dogdbyemo  odmjoegdgagdol  3GMAbmbo® oo
db0dgbgenmdgdo

f(11) = 89.667

f(12) = 88.788
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I I ) I I I I
]
100 *W
Y
XX ® ®
f(x)
D
0 | | | | | |
0 2 4 6 8 10 12 14

5>dmgblbso ogogg odm@3obs  Matlab-do. sdolbsmgols dg3Jdbso lablS.m
o000 ©s ‘dggoa0bmm 3OMma®dsds  Matlab-oli gbsby.

3Oma®@sds Matlab-%g

X=[1,2,3,4,5,6,7,8,9,10]
Y=[100,80,90,110,120,90,85,100,80,90]
n=length(X)

xx=[ones(n,1) X']

a=regress(Y',xx)

z=[11,12]

f=a(2)*z+a(l)

f2=a(2)*X+a(1);

plot(X,Y,'or',X,{2)

dggagdo:

X:

1 2 3 4 5 6 7 8 9 10
Y:

100 80 90 110 120 90 85 100 80 90
n=

10

XX

O 01N Dn B~ WK —

—
e
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99.3333

-0.8788
7=

11 12

f=

89.6667 88.7879
>>

120 T T T

@_ ED """"Er"'""r"""'ir"'----r-------'r-------T-------'i' """"""""" =
= : : :
) ISR SRR RS SONUU UG SOUUUUUN SNSRI SUSNONS SO i
QD _““‘—‘Er“‘““r—““—‘ir“‘----r—----—-1-------1—----—-% ______________ -
0 i i i i i i i I
1 2 3 4 5 B 7 8 E 10
X
bogomaco der:

dgobfogemgm  »Jggbmgol  3bmdogro  dbbgoao  Lofo®dmgdols
>J30gd0lL  39@Lo  [obs mgggdol  gobdogermdsdo s  dgoaobgm
5J30gd0L  3geLol 3@mabmbo dmdwggbem Lsdo mgolsmgol. mdggbo

39093900 2odmbobgm a@sx0 9.
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093> 16: 256bmysgdgemo FHBogo Gga@gbos LoJmbarol gsbol
30mabmbobomngols

Vogogo  @ga®gbool dommeo, Dbeaxgm, 9bgd dosbarmgdsls
0dgoggs oJizool gy@Lol, Lojmberol gobols s gHmgbyeo goawy-
Aol 3960Lol 3@mabmbo®gdolisl. sligm dgdmbggggddo, b'dodow
04969096 256%mpogdbymo [Ogxogo Gga@glool dgomel. >3 dgmm-
ol 5@Lo  dEymdsdgmdl  0dsdo, @md  gJL3gMm0dgbGyao  (9m-
Gogrgdol dmEgdyger gOmmogomdsl gobamgogdosb

Fx, k1, k2,.... kn)=k1-F1(x)+k2-F2(x)+... +kn-Fn(x) (1)
Ao3ob ¥ubjioom, by Fl(x), F2(x),..., Fn(n), gybjzool {@xog0 303-
50653000, 53sLmsb mgom gl Bybjiogdo dgodagds ogml F@xog0(3,
@53 93390000  5RB5OMmgdl  sSbgmo  83GmJLodsiool  dglsdang-
dambgdl o gobog@mol Aol s@s{Mx0g 19b3090byes.

P58mBSBMGonao bodydse Ne 16

odmzsbs:  (3bmdognos, Gmd 5 mgol  aobdogermdsdo VX
LoJmbanol golio ogegomes dmizgdyero 3bGoaol dobgogom:

VX 1 2 3 4 5 6 7 8
ry 15 12 9.4 16.2 26 ? ? ?

‘dggo0a0bmm dmdoggbm Lsdo mgobomgol ool 3GMabmbo.

o>dmblibe: bmyowo Laobols V®9go30 @ 9a09bools
Agoeobgdobomgols aodmoygbgds linfit(VX, VY, F) g4b]3os, @mdgeoc
56@9bgdl  bmpswo Lobol {@xgogo @ga@gbool gmggxoE0gb@gdols
39JmAL,  @mIwol  wAmbsg VX VYY) gomeoobs@gdol  3jmbg
Lbofgobo  (g@Fogmgdols “o@9ool”  doosbamgdol  Lodygognm
3350@0@ gm0 goob@®s  0dbgds  dobodsanyy@o. F ggddméo b
dgoiogglb  FI(x),F2(x),...Fn(x) 59bj3ogdl hofg@oels Loddmery@o
Loboo.

sdm3obols 9Jb3gMm0dgbByyero Imbs39dgdo

30ma®sds Mathcad-byg

VX:=

AW N =
<
=
Il
0
~

5 26
dosbaomgbols gybizosms ds@G®ozs
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NN | =

F(x) =

aodenols 3095030963900l 3mgbols 3GMma@sds
1:=0..4
K := linfi( VX, VY, F)

14.899
K= { 0.509 1
0.07
doosbamgdols 9600l oggds
g(t) :=F(t) - K

r:=1,125.5
30 | |
o) 20 .
vy .
oo !0 [J n
o | | |
0 2 4 6 8
r,VX
3996J30mbser @0 sdm o dyga gdol 3GMAbmboMgdyeo
dbodgbganmdgdo
o(6) = 48.98

g(7) = 103.651
g(8) = 242.607

3Oma®@sds  Matlab-%g

296305 RS0EPO:
function yhat=oblinreg(v,X);
x=v(1);y=v(2);z=v(3);
F1=1./X;

F2=X."2;

F3=exp(X);
yhat=x*F1+y*F2+z*F3;

IHMG OIS RS0aP0:

vO0=[2,1,1];
X=[1,2,3,4,5];
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Y=[15,12,9.4,16.2,26];
k=nlinfit(X,Y,@oblinreg,v0)
%

X1=1:0.1:5;

F1=1./X1;

F2=X1./2;

F3=exp(X1);
ym=k(1)*F1+k(2)*F2+k(3)*F3;
plot(X,Y,"*', X1,ym)

%

X2=[6,7,8];

F1=1./X2;

F2=X2."2;

F3=exp(X2);
yp=k(1)*F1+k(2)*F2+k(3)*F3

dggegdo:

a0

2581

yp= 48.9796 103.6485 242.5997

bogo@aco dea:

5539m  aobbmaowgdbymo [@xgogo dga®glbool dgmmeom gobols
©obsdogols  3obmbmsob  dosbgomgds:  5)  bogmmdbobomgol;  d)
aobobomgol s @) 9egdd®mgbgdyoolomgol. godmmgsmgm gobms
30 bmbo®goyeo dbodgbgarmdgdo gobermglio Lodo mgolbsmgol.
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093> 17: s@s§{®gogo Ggadgbos sjzool
390Lol 3Omabmbobomgols

amas  (Ogogo  @9a09bos s 2obbmpswgdgamo (@030
@ga®gbos  hggbo  3OMabmbolomgol  9bgd  Ygogagdl  odengge,
9Ixemdglbos  dogdo®mmm  bemaswo  boboll s@sf®xog0 ®ga@gLools
dgomgdl.

bmgoo  Lobol  s@5(@g0g  @ga®glbosTdo oy yeolbdgds
bgdobdogtho F(x,klk2,.,kn) xubjiool K 35053980 gdol  gg@maols
303bo, G®d@ols O3, 9b®9bggergmgzgomos Lo gobo
Voo @oegdol “0@gdemol” m3@odogyy@o dosbenmgds.

P53 BSBGozao bodrydse Ne 17

8dm306s:  OYLgmoll  2ob3OMIol  s5J30g00L  3y@Lo  bobggeo®o
Veool dobdoenby 03gemgdmes b®omom dmigdygeo Fgboo:

VX 1 2 3 4 5 6 7 8 9
vy | 1.9 | 1.6 | 1.34 | 1.22 | 1.35 | 1.05 | ?

dgzo00bmm  o5f30gdol  3y@OLol  3OMAbmbo  dmdpggbe  Lsdo

ngolsmgol.

sdmblbs:  bmgoo  Lobol s@s{@g0g0 @ga®glbools hobs@omyg-
dano asdmoygbgds gubios

genfit (VX VY,VS,F). (1)

030 50M9bgol F g39bjiool K-3o05d93®g9d0L 39J@mOL, @mdgeo

mnogol  db®og  agodemggl  Lafgobo  dmbs39dg00l F(x,kl,k2,....,kn)

396J30000  osbanmgdol  dobodogoy@d  Lodygoene  3go@o@ e

omdogngdsb.
F 39d&m@0 9bws dgoogegl Loddmeny@® qgagdgb@gdl, sdsLmsb

obobo  ¥bes dgo3ogbgh  Sbo@oby®  godmbobyegdsls  Lofgolo
396J300bs s dobo [Fo®dmgdygagdolbsmgols gmggero 3oMsdg@@ols
dobgogom, 5by
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F(x,k)= (2)

dk,
VS 39d®dm@0  9bos  dgoiegogl  Lofyol  dosbgomgdgdl K
39JBm@0obamgol, @53 oyY@oegdgeos  Gga@glool  s®sf®go0g
aobBmegdoms Lol gdol 0@ gBsEoyeo dgmmeom sdmbsblbgers.
aobgobognmo  bmgowo  Lobol  o@of@xgogo  @gadglbools
dogogmomo dgdpgao B9biools Lsdygsa gdom:

F(x,a,b)=a-exp(-b-x)+a-b 3)
3odmgmgogmo [o@dmgdyga gdo g4ggms 3oModgB®@ol dobgogom, ob%
diF (x,a,b) —> exp(—bx) +b 4)
a
%F(x,a,b)—>—a-x-exp(—b~x)+a ®))

do@@oiyero F(x,k) g9bjios 300mgdls Lobgl:
k,-exp(—k, -x)+k -k,
F(x,k) =] exp(~k, - x) +k, (6)
—k, -x-exp(=k, -x)+k,
aobgoboarmm 3MMmabmbols 3mbi®g@eo sdmgobe.
2ob3®Mmdols >Jogdols 396Lols (338000 gb0ls 3ob6mbols
530 JLodsioolomgols  gobodpgdbermm  bmposwo  Loboli  s@sf®g0g0
A9a09boom. Josbanmgdols gybiools Logdwgb gesbsw sgodhomm

(3) 9Jb3mbgbEosgu® Bybizosms Lod@sganyg:

F(x k1 k2) = k- exp(—k2 - x) + k1 k2 7)
do>dob
%F(x, K1, k2) = exp(—k2- x) + k2 (8)
(k1 k2) = =] x - exp(—k2 - x) + k] 9)
diy R P

30ma®@sds Mathcad-bg

ORIGIN:= 1

LoFyobo dmbszgdgdo
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1 1.9

2 1.607

3 1.34
VX:= VY =

4 122

5 1.35

6 1.05

dJoobgmgbdols  gybjzools s dobo k  gmgx030gbdgdom  390dm
Vo®dmgdyegdols ds@@ois
kl-e_kz'x+k1-k2

- kz’X

F(x,k) := e + k2

—kz'X
—kl-x'e + k

1

93bmdo k 309503096@ gd0L Lofgobo dosbermgdgdo
VS:= z

s>dm3obol sdmblboll M3g@sE M@0
P := genfit(VX, VY, VS, F)

aodanols Ladogdgano 3mgxo309b@gd0L d60dgbgarmdgdo

1.62
P=
0.712
doobamgdols g9bjizool oggds
G(x) := F(X,P)1
T
vy 2 —
Y
& .
o | | | |
0 2 4 6 8
VX, x

bodmgbo 3GMmabmbomgdygao dbodgbgermdbgdo
G(7) = 1.164
G(8) = 1.158
G(9) = 1.156
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3Omy®sds  Matlab-%g
296300 RS0EPO:
function yhat=nelinreg(v,X);
x=v(1);y=v(2);
yhat=x*exp(-y*X)+x*y;

IOMZHSIS RO0EPO:

vO=[1,1];

X=[1,2,3,4,5,6];
Y=[1.9,1.607,1.34,1.22,1.35,1.05];
k=nlinfit(X,Y ,@nelinreg,v0)

%

X1=0:0.1:8;
ym=k(1)*exp(-k(2)*X1)+k(1)*k(2);
plot(X,Y,"*',X1,ym)

% 30mabmbodgdols gybios:
X2=[7,8,9]; ym=k(1)*exp(-k(2)*X2)+k(1)*k(2)

dgegs Joo:
k:
1.6197
0.7118
ym =
1.1640 1.1583 1.1555

bogo@aco dea:

1. PAO OC P®-ols s]iogdol 39@Lo bobggs@o Fanol aobdogenm-
b5do ogergdmes bdogom dJmigdyeo §gbom.
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dmdggbm  Lodo

VX 1 2 3 4 5 6 7 8 9
VY 2 1.9 1.7 1.8 1.3 |1.25] ? ? ?
dgoa0bgn  oj3zogdol  3@Lol  3GMabmbo
ngobsmgols.

2. dgoblfogegm (06Gg®@bgRol obdo®gdom) Jbmgeomls §ody-

3560 3mA3mA530900L oJ30g00L 3@ Lol wobsdogs o dgoppobgm

390Lol 3@mabmbo gobgomglo Lodo mgobomgols.
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093> 18: 3menobmdosgag®o @ ga@glios

>O5{Mx030 M9a0gbools  gOm-gdmo  Lobgs  3maobmdosgnydo
@9309L0s, Aol AMLsE 53@mJlodsizool gybdiose 0®bgggb
dOogoa(930ms Lod®sgangls.

aobgobogrmo 3mbi@gB o sdmsbe.

@3 GSB G0z bodydser NeI§

odmzobs: dmgdmos  Lydyymbosgmmdols  sji3ogdols  39@Lols
©0bodogo:

X |1 |2 |34 ]5|6|7|8]|9
Y 108135 8 | 1519|2627 | 2 |7

SGO{MM 3eg00bmdo, G Mdgeo(3 dmg39dL boygggmglm
doobaomggdols o3 dmbozgdgdmsb s dggoaobmm sji3ogool 3a@dLols
30mabmbo dmdggbm Lodo mgobomgols.

>dmblbs:  Mathcad-do 5@Lgdmol gybdiEos 3maobmdosgnydo
@9a0gbooll  9bOYbggmboymeis,  @gadgbool  d@sgoe§ gg@dols
bgdobdog®o ba@olbol EML:

VS:=regress (VX, VY, h) (1)
Amdgeroi 335deggl dgdogao g9bjioom dmmbmgboa VS 39J@maL
f(x):=interp (VS, VX, VY, x) (2)

O ‘dgozogls obgmo n-4®o boa®olibols daogoe{93mols
3098030963 90L, OmIgemoi  Loyggmgbme  sobgomggdl VX s VY
39JB™Ogd0m  dmEgdygmo  gom@obs@gdol  dJmby  Fg@Goergbols
@99l (9O0Mogomdsls), bmgm (2) ™m3g@sGm@o  odmggs X
Voo doado L3gosobol 360dgbgermdsl Lofgobo VX ©s FY-om o
Lb3gnsobols VS 3098030963 gd00.
‘dggoa0bmm data Imbszgdms dos@®o(se

I 038
3.5
8
15
19
26

)

data =

AN L AW

30300 3me0bmdol bo®olibo
k:=3 (4)
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3509960 Lofgolo dJmbsi39dgdol VX o XY 39]@m@gdl:
VX:=data™ VY:=data™"” (5)
aodmgomgerom dglsdg bodolbol “Loyzgomgbem” d@sgea(g3®ols

3M9B0G0bGHYOL (k=3):

VS:=regress (VX, VY, k) (6)
353900 159390glm 3m@obmdosgy@ dosbermggdgdl:
f(x):=interp(VS, VX, VY, x) (7)
358900 dggagools a@sxg03ge 06@gM3M R o300
40 | | | [
VY 20 .
X X
f(x)
0 ]
—0 | ! ! !
0 2 4 6 8 10

VX, x

3egnobemdosgy@o @ga®@qlools 0b@gM3agES300.
9339 ‘dgbodergdganos L URTGBN G UI) 30Mbembo@gdyao
dbodgbgenmdgdo:
f(7)=? f(8)="? f(9)=?
30ma®sds Mathcad-bg

>dm3obol dmbszgdgdo

108
2 35
data := 38
415
519
6 26
dJosbgomgbols 3merobmdols bo®olibo
k=3
dmbozgdms 39JBH™mOgdol Rm@dodgds Js@®oiol dmbs39dgd00sb
\/X::data<O>
\/Y::data<1>

Sdmobols sdmblibol Mm3g@sGmdo
VS:=regress (VX, VY, k)

119



3

3

3
VS=| -0.2
—-0.391
1.369
—0.097
f(x) := interp(VS, VX, VY, x)

40 | | |
VY 20 .
X X
£(x)
0 _
0 | | | |
0 2 4 6 8
VX, x
dmbogdms 30Mabmbo@gdyeo dbodgbgermdgdo
£(7) = 30.8
f(8) = 34.514
£(9) = 36.3

aodenols 3095030963 gd0l 3mgbs
coeffs := submatrix(VS, 3, length(VS) — 1,0,0)
CoeffsT =(-0.2 -0.391 1.369 —0.097)

a := coeffs

530 mJLodsiool 3maobmdo

3
3—i
p(x) = Z ay X
i=0

10

40 T
px 20[

VY
Y X 0

—20

X, VX

3Oma®sds Matlab-bg

X=[1,2,3,4,5,6]
Y=[0.8,3.5,8,15,19,26]
n=length(X);
p=polyfit(X,Y,3)
polyval(p,X)

120
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7z=[7,8,9];

fpr=polyval(p,z)

X1=1,2,3,4,5,6,7,8,9];

f2=polyval(p,X1);

plot(X,Y,'xr',X1,f2); grid on;

xlabel('X"); ylabel('Y,f(x)");legend("Y",'f(x)")

908900

1 2 3 4 5 6

0.8000 3.5000 8.0000 15.0000 19.0000 26.0000
-0.0972  1.3690 -0.3909 -0.2000

0.6810 3.7167 8.3238 13.9190 19.9190 25.7405

fpr=
30.8000 34.5143 36.3000

40 ) ! ) ) ) ! )

-0 i | i
1

bogo@aco deo:

3menobmdos@y@o  Mga®gbool dgmmeom  dgol§sgergm 2005
Teool 3omgger bobggo®do gbgaamds@ocgdemgdby @obol ©obsdogs
Jogmsd  mdognoldo o  dgowaobgmn  3OMabmbo  Fanol  dgm@g
bobggdolbomgol.  Fgogagdo  dgoodgm  GOgogy@l.  sbligbom
2oblbgoggdgdo.
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093> 19: 33980l 3OmEY]E 9oy gHMnMdanogo dmmbmgbols
2oblobwg@s. d@sgmmdomo GHga@dgbogeo sbogrobo

dOsganmdomo  Gga@gboygao  sbogrobo  [o@Imowygbl  m@O33-
@o0obo  @ga@gloygero  sbo@obols gobgoms®gdsl, @mdganoi od
dgdmbgggsdo  aodmoygbgds, @meglsi  LolEgdol  sa®ga0®gdygao
dobobosmgdgamo  ©o303doMgdgmos  gOmnbg 9@  ©oIMY owgdge
2obdLobwgMger (33en oM.
aobgobogrmm 33940l 3OMEYJHJOby gOHMMbeogo dJmmbmgbols
2oblobg®ols dopseomo. Jmbobagmdols x dgdmbogagdols s 339-
0l 3OmEY]Bgdbg p Bobgdol s@OLgdoyeo dmbs39dgdowsb sdmdwo-
bo®g godmgmm gogdo@o
y=f(x.p), ()
Lo, ¥ 33900l bodxgdol Log@mm Lowowgs, f— gybjioss dmig-
9o geobowsbh. dspomomolomgols gobo®ygdbermm 3meobmdgdom,

5by  3meobmdosgry@o  Gga@gloomn  IAsgoasbbmdogrgdosbo  dgd-
nbgggobogol. dGsgermdomo 3meobmdosgryg@o  Gga@glbool  39Odm
Lobgl (o®dmopygbl dMogomasbbmdogngbdosbo [®xogzo ®ga®glos,
oby d9dmbgggs, Om@Es dmbs39dgdl obermgogdom Rm@Iyeom:
y=a+p -x+p,-p. (2)
dOsgermdomo  dmgrobmdosgoyg®o  @ga®glbool  sdem3obols
sdmloblbgemsw, dmigdygeo  9bws odbsls @ogbgms dsbogo, @m-
dgemoi dggbodsdgds ¥ (33amol. godgom
350
360
400
380
400
450
393J36000 @ 56bmIogngdosbo MXP dmbsigdms dsbogo, dglsdsdolo

(x, p) V9o @Hoengdolomgols.

; (3)

400 2.5
400 3
400 3.5 4)
400 3.4
400 3235
400 3.4

MXP :=
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580G BmGozamo bsdydser Ne 19

0dm3865: 3 (3937e0s Y gemmderogo dmmbmgbs s dglsdsdolo
dmbogdms MXP ds@®ois, dmbobagmdols X dgdmbogangdobs o
33900L 30mEY]Bgoby P xsbgdol dobgogom. sgogmm dosbgomgdols
(2) IBogo@F 9300, 20g53900mm 3OMabmbo, dggoxzobmm s3GmJlods-

300L eemdoggds.

>dmblbs: aodmgoygbemm regress(MXP,Y,n) m3g@s@mco, Lopsi n — do-
sbgomgdols  3merobmdol  bo®obbos. (2) gm@dymobsmgol  ggoJ3L
n:=1

VS:=regress(MXP, Y, n), ®))
ooz, VS — (2) 3meobmdols boygggmglm dosbanmgdol 3mgxoi0gb-
Bgo0s. 535a0Mmm Mmgom dosbermgdol 3maobmdo (2), bowsi Xp:=X ©o
X].':P

f(x):=interp(VS, MXP, Y, X) (6)

X
©>  dm@ml, dggopaobmen  3Gmabmbo (Xo]blﬁ{;o d60dgbgarmdg-

1
dobmgobags.

20530390 0bGgA3@gRo300lsmgols dmbgdbgdyemos, ¥ g@mm-
danogo dmmbmgbols sbodgbs  Z-000 o dmbsgdms ds@®oieo
Lobom ‘dgygobe.

350 400 2.5
360 400 3
. g 400 MXP 400 3.5
380 400 3.4
400 400 3.35
450 400 3.4

VS:=regress(MXP,Z,n) f(x):=interp(VS,MXP,Z,x)

3G0360%0 : f[@sﬁ)nz? (3obs.: 426) f[ﬁ(’:on:? (3ols.: 488)

X:=MXP~"”  p=pmxpP~"
1:=0..5

2530mgagdols sdLm@yG o 3omdomgds: AC, :f(})f’}—Zi AC =2
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3odmmgamgdoll  goMmpmdomo  3EMmIoagds: v::%f)-loo v="2

maxv = 10%

i:=0..100 j=0..100 X1,
) . M1 = f
X1, :=400+i Plj =250+1.5-j I Plj

3Oma®@sd> Mathcad-by

33900L 30m9dBgdbg ghmmdenogo dmmbmgbols dmbszgdgdo, 33900l
bodxgdo s dgdmbogergdols dmbs39dgdo

350 400 2.5
360 400 3
. ‘3‘:2 Vs o | 40035
400 3.4
400 400 3.35
450 400 3.4
X~ MXP
p = mxp

309803096@gd0L 3mdgdbs
n:=1

VS :=regress(MXP, Z, n)
3

3
1
0.439
67.167
0.001

VS =

dosbanmgdols g9bJizool oggds
f(X) :=interp(VS,MXP, Z, X

9JONMd@ogo dmmnbmgbol 360dgbgamdsms 3MMabmbomgds

450

f] = 425.946
3.40
500

f] A = 488.199

coeffs := submatrix (VS , 3, length(VS) - 1,0, 0)

coeffs™=(0.439 67.167 0.001)
a:=(coeffs")™*
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a=(0.439)

B:=(coeffs")™”
B=(67.167)

m:=(coeffs")*
m=(0.001)
Z=m+to*X+p* P - g@0nmdaogo dmmbmgbol ¢ubioss
Z1(X,P) := 0.001 + 0.439 X + 67.167 -P
i:=0.35

b))

6.457
17.126
10.71
23.993
0.635
46.007

SOLm@y@yao 3emdoggds

—h

Ac =

BoAOEM0m0 (30mdoa gds

1.435
3.806
2.38
5.332
0.141
10.224
max(v) = 10.224

25d0mga 4ol GoO@mdomo (3mdoengdols 3Mox0 30

CDOMILEBA
15 T T
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3Oma®sds> Matlab-%g

7=[350,360,400,380,400,450];
X1=[400,400,400,400,400,4001];
X2=[2.50,3.00,3.50,3.40,3.35,3.40];
xx=[ones(6,1) X1' X2']

VS=xx\Z'

x=[450,500];

p=[3.40,4.00];
Z1=VS(1)+VS(2)*x+VS(3)*p
Z1=VS(1)+VS(2)*X1+VS(3)*X2;
deltac=abs(Z1-7)
v=deltac/450*100

max(v)
plot(v,'t");title('cdomileba');xlabel(1)

dgogsgdo:

XX
400 2.50
400 3.00
400 3.50
400 3.40
400 3.35
400 3.40

VS =
0
0.4391
67.1668
Z1=
425.9463 488.1997
deltac =

6.4570 17.1264 10.7098 23.9931

V:

0.6347 46.0069

1.4349 3.8059 2.3799 5.3318 0.1411 10.2238

ans =
10.2238
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cdomileba

bogo@aco dea:

dogdygeo Y g@omdaogo  dmmbmgborn s dglodsdolo
dmbsogdms MXP ds@@oiom, dmbsbergmdbdols X dgdmlsgengdols o
33900L  30mEYdBgdby P golgdol dobgogom soggm dosbaomgdols
3@ 0dogyg@o IAsgoeg3®o:

Y=a+p,-X+p,-P,

‘dgo0690 3OMAbMDbo s Soggm gMoR0g@o 0bFgM3MYEHS(30d.
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093> 20: gmd-pgamsbol LoFo@mdmm gublios

1927 (g0l aobomengbom  ggmbmdol@ds  3man  yaesbids
>dmohobs, ®md  my  gOmdsbgol  dggymegligdbon  (Y) godmdggdols
@goey@o  JnEygemdol, (K) godo@ommyg@o ©obsbosdxgdol w©s (L)
dOmdols  @obosbodxgdol  ohggbgdagdol  @mys®omdgool wOMDy
©05dM 30 gdYmgdol 205230390L, 35dob  sdm@gdgdo godmdggdols
dohggbgdengdols V900 gdosb ‘dOmdols sbsbo®yxgdols
dohggbgdan gdolss S 3o30@seols bodxgdols 30513039000
Vao0Boergdodwyg  dgoppgbgb  I9dog  3OM3m@AG0sL.  dgdwgy, dob
0nbmgbon d0do@ms  domgdoBogmlb  hodenb  3mdl, gdmgs  sbigmo
0og30Lgdy@gools  dJmby  Fomgdo@Bogy®o  sIMogdygds.  Jmdds
dgbmogobs gdegao gubios:

Y=4-K* L' (1)
b'dodo  aoboboanoggh gmd-yga@sololl  2obbmyowgdeygen
Q@Yo
Y=4-K“-1", (2)
bowsi, 4, a @ B 3m9gn030gbdgdo  gobolobwgmgds  os@s{OG0g0
dasgermdomo  Gga@gbool  dgmmpom, @mEgbsi  dmEgdygmos Y
dmbogdms g9Jdmc0, K s L.

@3GSB G070 bodydse  Ne20

odm3065: A 393eos [o@mdmgdol (V) @goeny@o dmEgemobols,
(K) @goamg@o  3530@o@mg@o bodyxgdolbs ©o (L) dgomyg@o ‘damdols
bodxgdol 0bgdlgdo s3g@ozsdo 1899 — 1922 Fangdolomgol. 03mggm
(2)  odmyowgdymgds, 09  a35J3l  dgdpgao  Jmbsigdgdo  (Lo-
09dgeo omgdymos 1899 Fanoli 100-0l Geeno dJmEygermds)

[r9ao Y K L [ 9ar0 Y K L

1899 100 100 | 100 1911 153 216 | 145
1900 101 107 | 105 1912 177 226 | 152
1901 112 114 | 110 1913 184 236 | 154
1902 122 122 | 118 1914 169 244 | 149
1903 124 131 | 123 1915 189 266 | 154
1904 122 138 | 116 1916 225 298 | 182
1905 143 149 | 125 1917 227 335 | 196
1906 152 163 | 133 1918 223 336 | 200
1907 151 176 | 138 1919 218 387 | 193
1908 126 185 | 121 1920 231 407 | 193
1909 155 198 | 140 1921 179 417 | 147
1910 159 208 | 144 1922 240 431 | 161
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Sdmblibs: 3mo-Ega@obol mobosmdol 3oModgBMgdols dmbodgo-
bo gogo@mas@omdmm (2) ©sdmowgdeyengds:

InY=InA+a-nK+ f-InL . (3)
09 49300560 >@b0dgbgdls:
InY=y;, md=m; mK=X;InL=P (4)
d03009b0 sdm oo gdaa gdsls
y=m+a-x+f-P (5)

oby,  3odggero  bos@obboll  3menobmdol  Loboo  dmzgdye
©odM ooy gdsl, bLopon m, a o f 9bps  2obglobwgdmm
dAsgemmdomo  3mgrobmdosgry®o @ga®glbool dgmmwon ©s dgdegy
4) gmadygeol  godmygbgdomn  aobglbobwg®mon  Ladogdgano 4

3505d9HM 03, OMAMAO3
A=e" (6)

3Oma®@sds Mathcad-bg

100 100 100
101 107 105
112 114 110
122 122 118
124 131 123
122 138 116
143 149 125
152 163 133
151 176 138
126 185 121
155 198 140
v 159 Kom 208 - 144
153 216 145
177 226 152
184 236 154
169 244 149
189 266 154
225 298 182
227 335 196
223 366 200
218 387 193
231 407 193
179 417 147
240 431 161
1:=0..23
Yli = ln(Yi)



Mxp® K

Mxp? - L
n:=1

VS :=regress (MXP,Y1,n)
3

3
1
0.233
0.807
—0.177
f(X) = interp(VS,MXP, Y1, X)
coeffs := submatrix(VS, 3, length(VS) — 1,0,0)
30o-©gamslol  Lofo@dmm  g9bjiool  @mays@omndyeo
309293030960 940 InY=InA+alnK+BInL;

VS=

coeffs ' = (0.233 0.807 ~0.177)

o = (coeffsT )<O>

a=0.233

B = (coeffsT)<1>
£=0.807

T
A= e(coeffs
A=0.838

)(2>

Lofo®dmm 9600l 3@mabmbo@gdbyero dbodgbganmdgdo

420

=364.107
330
400

=335.228
300

3Oma®@sds Matlab-%g

Y=[100,101,112,122,124,122,143,152,151,126,155,159,153,177,...
184,169,189,225,227,223,218,231,179,240];
K=[100,107,114,122,131,138,149,163,176,185,198,208,...
216,226,236,244,266,298,335,366,387,407,417,431];
L=[100,105,110,118,123,116,125,133,138,121,140,144,...
145,152,154,149,154,182,196,200,193,193,147,161];

Y 1=log(Y);

K1=log(K);

L1=log(L);

130

oo dgnols



n=length(Y);

xx=[ones(n,1) KI1'L1'];

VS=regress(Y1',xx)

A=exp(VS(1))

alfa=VS(2)

beta=VS(3)

% dmgobobmm 3Gmabmbod@gds 1(420,330)=f1 s (400,300)=12
f1=A*420"VS(2)*330"VS(3)

2=A*400"VS(2)*300"VS(3)

dggsgdo:

VS =
-0.1773
0.2331
0.8073
A=
0.8375
alfa =
0.2331
beta =
0.8073

fl =

369.3977

D=

338.1743

P.S. 30m@ydaool 3sdmdggdol geoslBogdmds godo@omobs @
dOmdols dobgogom dglsdsdobo o s B-I Gmeoos.

bogo@aco deo:

dmodogo (Y) {o@dmgdols @goamy@do dmEygmmdbol, (K) Ggomeyg@o
393030 @0 badxgdol s (L) dO™AoL  @goemy@o  bo®yxgdols
0begLbgdol  (3geromgdgdbo WOMOL dobgogom LosJo®mggarmlbsmgols.
03039m,  oY3ogdgero  dmbszgdgdo s aoblabwgdgm  3mo-
aa@sbols Lofo@mdmm g9bjiools 3o®edg@@gdo.
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bsfoao III. gubrsdgb@smy®o g3mbmdozols doGomswo
(3690900

033> 21: d030mgs3mbmdozol doMomswo (36g6960. goby@dhggemdols
dO9gd0. Jmbdodgdols s Jmnbmgbol mgm@os.

30050 dombmgboagdgdol obsdoymeommgdamam 0boogowgdo
dmobdomgh Lbgopslbgs @mgaoml.

300500 deobdo®gdols dopgaomgdolsmgols 04969096
3oby@dhggemdol IGgool (369050.

aobgobogome  dogogomo,  gmdgom,  Lomxosbm  dgy@bymds
dmobdo®l m@o Lobol @mgmonl (wmgmomo 1 ©s ©mgmomo 2).
©539dgom, HmI EAMOL Aoy 3gMomeols aobdsgemds'do oMggano
mgmsno  dmobds@gl Y, ,  bogm  dgmeg  ©ogmsmo — Y,
@5mEgbmdom.  mOasbbmdogngdosb (YY)  39d@meal  gfmogdgb
dobds®gdol gg9adsl. Lomywobm dg9@bgmds dmbds®gdol 4=(Y".Y,")
39JBMOL  somgdl, Jmbdsdgdol Lbgs B=(Y".Y") 3§gJdmalL s
5390g0L Jg99mm hodmmgeromosb gam-ghm ©sliggbsls:

>) A 39JB™OL 5J3L g30@s53gbmds B 3gd@m@msb;

d) B 39Jp™OL oJglb 930@5@ gbmds 4 ggd@mdmsb;

a) A o B 39JpmOgdL  0obsdo®o  g3o@sGglmds  sjgm
(dmdbdo@gderobomgol  byerg@mos @mdganl  so®bggl, A4 oy B
30dH0@L).

3obLobmg@gds:  dmbdodgdol  agadoms  Lod®ogarg, ®mdganoz
3oby@hgganmdols dpamdo@mgmdodos  goblobognggan 4 gadolomob,

Lod®BYygbyg  dgoeagbl  (gdBomms  Lod@sgangl,  @mdgeolsg
3obygMhgganmdoll IGgwo gfmwgde.

oy  U=UT,Y)-00 50360dbog300 gybiosl, o6 ULbgsbso@sw,
L@y gde0sbmdol 0bgJll, GmIganoi dgodargds dogowemm (Y, ,Y5)
39J&™@00m Jmgdygeo mgmsmol dmbds®gdom, d5Tob  goby®bgg-
comdols dO0 Vo®dmoma 9bls (Y; Y  3bodgbgermdoms
JOOMIomdsl,  OmIgemnsiz  dogyegeo®m  Lodggdamosbmdols U
0begJlol gOmbs ©s 0dogg d60dg3bgarmdodwg (9. 0. goby®@bggermdols
dOegdo  Fo@dmopagbgb  Lodpgdmosbmdols  g3ybjiool  ©mbols
Todgdl).

2oby@hggzemdol IO Yg©gdo goboliobmgmgdosh Lomygdeosbmdols
396J00L dobgogom.

aobgobogme Lo goeosbmdols  g9biools  @sdwgbodg  @odo,
Amdggdoz b'dodow aodmoygbgds g3mbmdogsdo:

1. ¥96dzos wmgmsmms LOyao gOmogOmhsbsigmgdom (doy,.
doJ@0l gbgbogro s dofodo bo@dgbgddos..)
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U=al +a,);; (1)

2. Lo gdEosbmdols bgmgmasbogy®o (gmd-egamsbol) gybios:

U=a)Y" xY,?,a +a, <1, (2)

3. Lodygdeosbmdol g9bjios bLOgmse yOmoghndgdsglgdgeno

OMg@sngdolosmngol (dogy. gododo s 39Mo, d3m{yfbogo (Lmbobo) s
doma30)...:

Y 2au

>
Y, 2 a,u

3)

4. Ygdgyeo, dgdoglgoger-hodbsgargdgmmo  Bodol  gybiios
(dog. hoo s @dy):

Y Y
U=min(—,2) U =u, Lo
(al az) R°G {

U=u,+1,, bowsg {YlZ“l”ﬁﬁl“Z 4)

2oby@hggemabols dOgools sboggodow Loy gdenosbmdols
}96J300L  gOm-gOmo sy udgbBo  ¢bos  godmglobmm  Lbge
>O29dgbBoms s LoMygdenosbmdols g9bjiool U 360dgbgermdoom.

dogogoma, (1) ¢¥ubjioobsmgols 339]6gds:
Y _ U_alYl
2 —_ T .

a,

Y, 2 a,u, + pu,

)

dogobodmm o s oy 3Mgn030963 0L Iywdogo 360dgbgermdgdo
s dggodbomm  Lo®ggdamosbmdols  gybjiool Uy 3dbodgbgeomds,
d9dymd dogobodgdm @, Lbgswslbgs 360dgbgeomdgdls Yi-U, (5)-ob
dogo@om  Y,-oll  dgbododol  dbodgbgermdgdl.  dowgdyero (YY)
Vao@oggdol  Lod®dBygbg sbobgom 3o, dogomgdm 2sby®bggeomdbols
dogel (bob. 1).

A dogowgdom  [Ox39gdl,  odsbmob  @o@
9O dgBos Uy dom ¢gu6m Dol  aob-
noglpgds dglodsdolo gobymdhggermdols I@-
0 3OMAOEobsGms Lomsgowasb.

396J30900  LOYP@o  YOMogAOMhHobs(3-

gegbdom mogl ohgbl d5dob, @mglsi Y @
0 ' Y; 90009600 dgd33erge gdos. 30000000,
0 Y1 hoos ©o Y5 yoge.

Lo gogosbmdols  (2)  g9bjioobomgols
aobyg@hggamdols dOygols sbop gdow
3300990 mdm  ¥,-bs:

1

v

boh.1

U e
Y, = ; 6
(o 0

(Y,Y3) Lod®ddggdbyg oo, oy, 0 s Upol woxgojbodgdom, dogomgdm
2obydhggenmdol IOyl (bob. 2).
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@53 PYR®m  dgdos Up-oll 3dbodgbgermds, dom dgBoe o®ol
5dMOJo@o JOmAOEobsGms Lomsgowsb goby®bggermdol dG¢wo.

Lo gogmosbmdols  (6) «19bjioobsmgols
2obydhggermdol IOyl oJgl  (bsb. 2)-om
dm9dgo Loby.

39630900 LOYmo  YOHMogOmdgdoglg-
> dangdom mogl ohgbls 35Tob, @m@Es Y wo Y

JOMSE  25dmM0ygbgds;  dogomomsw, Y Y
bsb. 2 hoos @ Y, Fodo@o (6sb.3).

‘dgH 9900 Godols 396Jdoobsmgols 235J3L (bsb4)-0m
dm39d9e0 2obydhggenmdols IO Y©gdo.

A

Y, A
Y>

v

6ob.3 Eob.d

bogagmo Lo@ygdmosbmds o hobsgegdol beg@gmo bm®mds

dobdo®gdol  mgm@ool  do@omswo  (3bgdgdos  brg@ymo
oM gomosbmds o  hobsiagangdol  begdgmo  bo®ds.  gmdgom,
U=U(Y.Y;) - Loty gdemosbmdols 96]ioss.

2obLob@gmgds: Lodygdanosbmdol gybjiool i-g@o  (3ges©ols
dobgogom (33e0egdols g—;j Lohdo®gl, i-g@0 mgmsmols brg®eyao

1

Lo®gdemoobmds gfmwgde.
3525@005@:  LoGgdbemosbmdols U=a Y +ayY; gubjioolomgols

Y @omgmsmol  begdygmo Loy goeosbmdss g—;j=al; bogom ¥,

1

OM3@sn0l brgdymo Lo®ygderosbmds 0]bgds Z—g:az. (bpgHyeo

2

bo®ygdemosbmds - marginal utility).
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3Mo-Egaamsbol  bgmgamsbogg®o  Godol  Lodygdeosbmdols
g96Jcoobomgols U =a, V"' 1,7 Lows oqtay<l. dogowgom, Gemd
M350l brg®yeo Lodpgdmosbmds 0dbgds:

o e may =4
oY, Y,

Y wmgeosmol dY; Loowomn d933009d0lLsl Lo gogmosbmdols
Jobobpgero U @mbols dglobo@bybgdaom  Lokodms, dgmeg ©mg-
om0l dJobdo@gds aogbodomm dY, Lowowoo.

>3  (3gmoggbols  sdbobggan  Bo@emosl  Yfmgdgb  hobsizg-
@qdol bpgdge bo®dsL (marginal rate of substitution).

3oblobwgmgds:  Lodmdbdo®gdam  mgmsmols  hobsgergdols
boghgmo bm@ds  (MRS) 9fmegds  dgdogao  aodmbobyangdom

dm 999 BoMEMSl:

A4Rs::-g%} . 0]

VlU=const

09, aogomgogolfobgdbm, @md A=(Y,Y,) wo B(Y,+dY; Y,+dY))
Voo Boggdo, aobydhgganmdol gombs ©s 0dsgg dOywobg dggl, (g.0.
dgglodoedgods Lodpgdmosbmdols 19bjiool ghmo ©s 0039 ©mbgl),

330d6g0e:

UY,Y)=U(Y,+dY,; Y, +dY;) (8)
9.0. dU=0, @53 bodbogl, ®™d
oU oU
Y gy + &gy =
oy I Gy =0 (9)
5J905b 25dmAPobs@gmdl, H™3
oU
dYy oY
MRS = ——2 = L 10
le U = const aU ( )
8 Y2 U = const

P.S. 859sLoodg, hobsiagargdol  bmgdygemo bm@ds  godmobobgds
OMgEsnms brgdhygmo Lodygdeosbmdgdol Fo@@mMdom.

donbmgbol g9bjisos

000 JYEO0 300 mgbgbdolomgols sdobslosmgdgeno
dombmgboan gds, bbgo@olibgs Lobols omgmomdy, solobgds
2obydhggenmdol  dOygeol  dgdggmbom, beoeem  dmdbde@gdaols
dJombmgbol  Igboyegs  dmoigds Lodogxgde  dgbeygwggools
30669500.
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09, 300390 ©s dgmAg ©MgEsnol Ladbsb®m Robgdl owg-
bodbogm P; o Prom, bogm dmdbds@goeol ‘dgdmbsgsenls (dogy-
x9Ob) B-mo, 3570b @mgmosmol dmbdo®gdols (Y,Y5) agadobsmgols

Lbodoygxgd™ dgboyegol g@memdsbs s doyxgdolb [Ogol oob-
AMegosls dmzgdygao 3o@mgbgdolbomgol gdbgds dgdmgao Loby:

P,Y;+P,Y,<B (11)
Gmamods (11)-do, odgnggs Lodoyxgd™ dgbmygogol gobGmegdst.

. 2))063013()@0)00 3obg®bhggenmdol d3OYLgdo ©s dogxgdHol [Oxg
ob. 5).

A
Y>

35b67@hggermdols IHygdo

Ladogx g [Ogy

»
»

Y,

bob. 5
hogmgogrmm,  ®md  mommgygeo  300m3gbgds  dogxg@ol
Fgboyegol  godaagddo  Gogmdl  msgobo  dgdmbsgsgo  olyg
2o050bofogml  Lbgoolbgs Lodmdbdo®mgdberm  @mgesml  dem@ol,
@md dos{oml Lodpgdeol doJlodobsiosls:
U — max,
. (12)
PY, +PY,<B
mg@smol dgbodsdobo dbodgzbgermdgdols (Yl*,YZ*) 9JONMS@omdsls
dmbdo®gdol  m3Godogrg®o 293> gfmegds. ol 5@bodbogls
dogxgHol  FOgolbs o  aobydhggermdol  dGyool  dgbgdols
Voo Bogols.
dodobowsdyg, @mEglsig  bodsb®m  ggoligdo  ©s  30Mmmgbgdols
‘dgdmbogogo  dmgdygeos, 300mgbgdol dmbdodgdol ™m3@Godsgry@o
29305 25b0lobrgmgds  Ladygdmol  dsJlodobszool  3@Gobiodom,
d099xg®do >OLgdgmo Igboyoggdolsl. Inbdodgools ™m3E0doay®o
29835 0330 gds gobobs ©s dgdmbogerols (30MHmgbgdol doyxgdob)
dobgogom.
{Yl: :(P1(Pl’P2aB)’ (13)
Y, :(/’2(})19132’3)’
>d 99bJ3090L 9fmegdgh Lomyxsbm dgu@bgmdols dmmnbmgbols
396430980
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LM 9o 0sbmdol ¢9bJi00L mgoligdgdo

Lo gdgosbmdols U=U(Y1,Y2) 39600l s@bowsb sdmdwobsdy

Lo@ggd@osbmdol g9bjiosl ofgl dgdpgao bmaswo (g.0. g3bjiool
®030bgob odmyzogdae) mgoligdgdo:

1) 0  Y,=const., dodob Y -0l bOHESLmSb JON S
Lo@ggdaosbmdol g39bjizooi 0b@egds; sbggg, o Yi=const ws Y,
0b@Ego., dodob Loy gderosbmdols 396J305G 0bOEdo,
bbgoggo@o

WY s0nY 0. (14)
oY, oy,
9-0. 30MEY]@gool bpghHymo LoMygdmosbmds @s®gdomos.

2) M00M Yo 30mEYJGol  bogdygmo  Lodygdbeosbmds
380 g09emdls, oy dobo dmbdo®gdol dmEyemds 0bOEgds.

o’U o’U

<0

0. 15
<0G (15)

53  mgolgdol  9fmwgdgh  bogOymo  Lo@ygdmosbmdol  gergdols
356mblL. gl mgolgds 0dols 60dbogl, @O®d Lojmbenols mommgeyen
Lobgmdoby dmbdomgds dgboygoyemos dommbmgboon.

3) mgmsmols 0 0MMIED0 Lobgmdols bEg@yeo
Lo gdemosbmds  0b®gds, 0y 0bOPgds  mgmsmols  Lbge
Lobgmdol  @omgbmds. 53  dgdmbgggsdo  Lojmbgero,  @mdanols
MomEgbmds  goJlo@goymos, dgoos®gbomn  ©WgB0EORAYM0S.  SJoG™I

dobo gmggeo sds@gdomo gomgygemo 0dgbl d9@ ©oMgdymgdsls @
dgodengds  9RO®M  989Jd90s©e  0dbgl  a0dmygbgdyeo.  mgoligods
doMmgoyeos, mgmsnols dbmgrme 0d Y, @s Y Lobgmdgdobomgol,
Omdggdo gOmdsbgmnl  LOgmosw  gg®  hoobsigergdgh.  ogo
Sbo@oby®oe d9dogaboo®o@ asdmolisbgds:

o*U

0. 16
oYY, (16)

bgdmmdmygoboano  mgoligdgdo  ggohggbgdl,  @md  (10)-ol
2odmygbgdom dgag0denos d0gommm YBHM@Mmds:
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oU

v, oY, ..
oy 8£<0’ (17)
0%,

@53 60dbogl, @™ Yi-ob bOslomsb Y, dodwmgds.
aodmgmgo@mm dgmdg @oaol {o®dmgdyano

0*U oU d°U U

d*Y, d (dv,) oY’ oY, ov,0Y, oY,
2 == 2 > (18)
dy;”  dv,\dY, ou
Lodogg mgolgdosh asdmdpobs®yg gwgdyermdm, O™I
d’y,
0 19
o (19)

g0.  Yo=f(Y) @ubliool  a®exgoz0  hobbgjogmos,  obyy  oJ3l
2oby@hggermdol IO ywols a@ox303bg (bob.5), aodmbobyeo gm@ds.

aobgobogremm 3Mb3M 9@ Yo sdmzobo demdbdo®gderols
>Mhggobby.
3dm3bs: g dgom 303l dgdwgao  Lobol  Lo®ygdeosbmdols

B9bJioo:

UZYl'Yz’ (20)
3bmbogos Y| o Yr 30m©ydgool dglodsdolo Py s Py ggoligdo.
33>J3L Lodogxgdhe dgdbeygogs

P-Y +PY, <B, 21)

od  300m96do  03mggm  M3Godogra®o  a9ads, go. Y ©s Y,

30mEY]Bgool ol @smEgbmds, MMAmol WOMLsiE bodygdaosbmdols
U 3996300 dolbodsgny@os.

>dmblbs: 3bowos, M (21) 3o®mds ™m3Godogyd [ 9@Eoado
0d9bl Amemdol bodsbl, sdo@md ggodgl sdmzsbe:

U=Y,-Y, >max (22)
B-Y\+P-Y,=B ’
93500600 @sa®obgol g3ybios:
L:YI-Y2+/1(P1-Y1+P2-Y2—B)’. (23)
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9JLEA®9d9dol >yEogdge 30Mmmdgol dgdwgao Lobg oJgl:
a_L:Y2+/1P1:O YZ:—ZR,
oy,

aa_){::Yl-i_ﬂ’%:O ) (‘]. 0. Yl:_//iPz: (24)

2

& —RY+PY-B=0 PY, +PY, =B,
booabsz gmgdammon:
Y2 _ PZ
von (25)
R-Y,+RY,=8B
300390 300mds  bodbogl,  @md  mdogg  30my]E by
obs@xgmo  gymol  Momgbmds  gbps  ogml  gOmbso@o
(P1-Y1=P»Y;). 35T0ob  (25)-0l dgm@g aobBmagdowsh  g3myermdm
donbmgbol g9bjiogdl:
B

=—; 26

=5r (26)
B

= 27

=3m @7)

5dM0Q5©, M0mmMgyee 3O0mEY]dby aofgymo bodxo dgomygbls
dmdbdos@gbderols Log®om ‘dgdmlogerols bobggomls (gL

©5353doMgdmos Loy gdeosbmdol g9bdiool Y ws Yr-ol dods@m
LodgB®oygemdolionsb).

dmdbdo®gdeols s@hggsbol bmyswo Imegeno

30300, a35Jglb Lodggdemosbmdol iybjios U=UY.Y,,....Y,),
oo ¥ - =90 pmgmsmnols Gosmpgbmdss, P=(P.P,,...P,)-gsLgbols
39JB™@0 s B- dmdbdo®gdemols dogyx g@o.

dodob, dogomgdmn dmdbdo®gdaols s®hggebol bmgsm dmzobsls:

Uey,,v,,..,Y,) — max, (28)
PY,+PY,+...+PY <B, (29)
Y, >0, i=ln. (30)
hog(gdmm anoa®sbgol g3ybjios (28)-(30) sdmisbobsmgols:
L=U(Y,Y,,...Y,)+A(P,-Y,+P,-Y, +...+ P,-Y, - B). (31)

9JbB®gIgdol  sAOLgomdol  oyEomgdgee  300Mdgol s gm
‘dgdwga0 Loby:
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L,=U,+AP, =0, i=Ln; (32)

P-Y,+P-Y,+..+P -Y =B, (33)
Lboowobs godmdpobo®gmdl, Gmd
h=Ti=in =1, (34)

sbg ®md, m3@0dydol §goFoado bgdoldogho m@o ©mgesmols
bwgOgmo Loy gdosbmdol Go@mds, Yo@ol domo  LodsbOm
obgdol Bo@EMdSL.

P.S. 3bowos, Hm3 bmpswsm dJmmbmgbols 9bjiool sbogrobydo
Lobom  (o@dmpagbs  dgydergdgamos 9y, o6 dgdmgogodymgdom
250 339900 Lobols Lo®a gogmosbmdols 396J309000m.
Lo@ggd@osbmdol 9bjiool slopgdo asdmoygbgds @gadgloyao
Sbo@obol dgmmwgdo, dgbsdsdolbo mgoligdgdol gomgogolfobgdom.

58m@356s. 5dmblgbon Jmdbdo@gogmol s®hggebol sdmzsbs s
030390 dmmnbmgbols 19bj3os, GmEs mgmmsmby Foligodos: P=10;
P,=2, d0gxg®o B=60, bognm Lodpgdeosbmdols 39bjiosl gl Lobg:

o) U=Y, Y, > max;

») U=Y,"".7,"" - max;

a) U=(Y, -D"* (¥, -3)"* - max;

©) U=3(5-Y,))>+(7-Y,)* > min.

aodmlbobgm goby®dbggermdol dOYgdo s doygxgdHol [Oxg.

r53m@G3BmGozamo bsdydse Ne 21

2dm356s: Am3gdy@os Lo goeosbmdol g3ybios:

U=12Y1/2'Y1/2

LoJmbenols goligdos: B =0.75 P, =0.5 s doyxgdo B=25.

>d 300Mmdgddo, Ybes godmgmm m3Godogry®o 2g98ds; 5by Yi-olo
©> Yr-ob ol 360dgbgermdgdo, @mImol @mbsi Lodygdaosbmdbols
396J30s o Jbodsgny@os. (sdmEsbs  sdmblgbom  sbo@oby®ep @
303309@gMol dgdgzgmdom, dggagoo dgos@gm gOmdsbgml. soggm
>dm3obols g®o3039ao 0b6@gM3MYEHS(300).

odmblibo:

‘d93o00bmm Lodoyxgdm dgboygoge:
RY, +PY, =B,

0.75Y, +0.5Y, = 25.
d93o030bmm sa®obgols gybios:
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L(Y,,Y,, 2)=12Y,"%.7,"* + 2(25-0.75Y, - 0.5Y,)
s ‘dglodsdobo dgbeyggdo:

a—i =6Y,"%.7,"* =0.754=0

1

oL _ 121, ~1Y2‘”2 —-0.54=0;
oY, 2

AL _ys_ 0.75Y, —0.5Y, =0

oA

dogzgom LobBgdol Lobyg:
6Y,"?.v,"* —0.754=0

12v,"? éYz_”z ~0.54=0;

25-0.75Y, —0.5Y, =0

| -
6Y171/2‘Y21/2 12Y11/2.5Y2 e
0.75 0.5 ’

25-0.75Y, - 0.57, = 0
(63,2 1,"*) 0.5 = [12)/1”2 -%YZ_I/ZJ-OJS_

b

25-0.75Y, —0.5Y, =0
6Y21/2Y21/2 05 = 6Y11/2Y11/2 .0.75
{25—0.75}’1 ~0.5Y, =0 ’
3Y, = 4.5Y, _
{25 ~0.75Y, -0.5Y, =0’
Y, =1.5Y, _
{25 —0.75Y,-0.5Y, =0’
25-0.75Y, = 0.5-1.5Y, =0
25-1.5Y,=0
Y, =16.67
Y, =25

3GmaMsds  Mathcad-bg

dJobbols ybizools dg@obe:

1 1

U(Y1,YD) = 12v1%.v22

Lofgobo dmbozgdgdol aoblisbmg@s:
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Yl1:

I
—_

Y2:=1

‘dgbeyogoms Lol gdes:

Given
Y1 >0
Y2>0

0.75-Y1 + 0.5-Y2 = 25
Lo gogmosbmdols 239674300l doJLodydols ‘dglodadolo

dbo‘dgbgermdbgdo:

R := Maximiz§U, Y1,Y2)
(16.667)
R =
25
U(RO,RI) = 244.949
535300  Ladoygxgd™  dgbeyogol a@sgogo  ©s  aoby@bggeomdols
dO0 9O Lo gmm@aobs@m Lod®@FYygby. sdobosmgols Y2

2odmglobmm Yl-ob Lodygoggdom, dogomgdm 39biosl:

Fy = B —0(.)575-y
2aoby@hggamdol  dOYols  sboggooe,  dmgobwobmo  slgmogy
aodmbobgs > ‘3930 >bm» h3gbls dog® 2odMMZE 000

Lo@ggdeosbmdol ¢9bdiools 360dgbgamds, dogowgdm:

2
244.949
G(y) =
1
12y 2

SGORMM MO0 30

100

F(y)

. i
G(y) °

| |
0 20 40

0

y
dowgdyero dgbgdols (go@oao [o®dmoagbl dmdbdomgdanols
>@hggobols dgbsdsdols §g@@oals.
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30my®sds  Matlab-bg
296305 RS0EPO:
function f=myfun(x)
f=-12*x(1)"0.5*x(2)"0.5;
IHMG OIS RS0aPo:
x0=[0;0];
Aeq=[0.75,0.5];
beq=25;
[R,fvall ]=fmincon(@myfun,x0,[],[],Aeq,beq);
R
fval=abs(fvall)
%
y=1:0.1:60;
G=(fval./(12*y."0.5))."2;
F=(25-0.75*y)/0.5;
plot(y,G.y.F)
xlabel('y")

ylabel(F(y),G(y)')
grid on

g J3900:

R =
16.6667
25.0000

fval =

244.9490

150

50

143



bogodxo deo:

dm3999o0s bLodgdaosbmdbols gybiios:
U=y'?.y"?
-1 2

LoJmbaool ggoligbos: P, =0.75 P, =0.5 @o doyxgdo B=29.

od 300Md96do, 9bws 303mgmm Mm3Bodogy@o aqads; oby Yi-obo
©> Yr-0lb ol 360d3bgermdgdo, @mIol Ambsi Lodygdaosbmdbols
396Jd3os o Jbodogoy@os. (5dm3obs  sdmbligbom  sbogroby@o® s
3033093 900l d9'dggmdom, dgogagdo dgoe®gom gOmdsbgml. sopggm
5dm3560L gM5Q039e0 06FJO3MYRS(300)
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093> 22: @. LEmygbol Lo®agdeosbmdol ¢9bji3os ©s Jmdbdsmgd-
ol 5@hggobols sdm(356s

LAMYbols Lo@agdeosbmdol 53ybjiosl oJgl dgdwgao Loby:
u,v,,..Y,)=( —a ) :(Y, —a,)” :...: (Y, —a, ) — max (1)

oo,  a; 1-9Mo mgmsmols  sygioegdgero  dobodsgyy@o
@5mEgbmdss, @mdgeoi dgobyoegds bgdolidogd dgdmbgggsdo @
o [oddmoagbl  o®bggobols  Logobl. odolomgol, ®md a; i=Ln
OEZJEDSM NS JONMS@omds, [HoR TN 0J69L ‘dgdgbogro,
5930 gdgemos,  @md B dogxgdHo  ogmb 83 mgmsmms
gOmmdemomdols  dgbodgbo  Lodkodm gyeol @omegbmdsbyg dg@o.
0;>0 bodolbol dohggbgogmgdo obolboomgdgh, dmdbdomgoegolomgols
OMZESNNS BSAOMI00 W0MJoYegdsl, 569 sbolioomgdgh 0dsl, me
@5dgbo  dgBo  Lobydggeros gbs, o9y ol bobol  @mgmsmo
demdbdo@godemolomgols.

(1) 30Bbols g9bj0obg Lodoyxgdem dgbwywggool sds@gdom
P-Y+P Y, +..+P Y <B
Y, >a, i=Ln (2)
dogomgdm @. LEMYbols Imwgels.
@. LAHMYbol Lodygdeosbmdols Bubioolomgol, Jmabds@gderols
>@0hg3obols  sdm@Eobol  5dmloblbgerse,  dggoaobmm  @sa@sbgols

396Ji00s:

L= H “+AMP-Y,+P-Y,+..+P Y —B) (3)

9JbE®gdydols o‘agoga%ag&o 300550 odgngge:
oL _a,-U(Y.Y,,....Y,)

= +AP =0, i=1,n (4)
8Yz Yi_ai
a. U
0. Y=a-- 5
80 1 al ﬂ/])l s ( )
51939, 335J3L 30GMds:
P-Y,+P-Y,+..+PF, Y, =B (6)

aogodMogemo  (5)-do  ymggero 1-9@o  gob@mangds APi-bg  wo
‘dggoxsdemm 1-I dodos®o, d5dob dogowgdm:

ZY - AP, z/laP ZaU (7)
(6)-0L godmygbgdom (7) QC)B 35333)‘3;@(*)?)00
i-B—lZai-R:—UZai,- (8)

i=1 i=1

bbgoggo@o:
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U_B—;a,.g

—— = )
2
(5)-do (9)-0L holdoom 2391695 émmbma[iob 6Ji0e:
a, B—iPlai
Y, =a, + = , i=1,n (10)
P

i=1
od  gubJ3o0ol  0bGg@3MgBH0Mgds  0mEos.  MOZOSI0MZJED SO
25dm0ygbgds  ymggewo a; emgmsmol dobodsgny@ds o930 gdgao
H5M©gbmdy, ‘dgdg? 2odM0mgen gds Ageools smhgbogno
@omEgbmds,  @mdgeoi goesbsfomwgds dmgdygemo  Labols

mgmsnols  Lolygdggermdol  a;  360dgbgermdol  (Fmbswmdols)
dobgogomn  3OM3MOGOYms©.  Fymol  @smegbmdol P slby
204mx0m  d0300gom  dobodygdol poMs ©ods@gdom dgbodgh i—y@o
OM3EsMnol MomEgbmdols s ©ogyds@gdm dobs aj-U.

@53809G53mGogaro bodydser Ne 22

58m3565: Loy goemosbmdol gy9bjiosl oJgl @. LEmyboli Loby.
03M39m denbmgbols 396Ji0o 0d ‘dgdomnbgggodo, QIDTER
dmdbds@gdgero syEomgdms dmobds®l mggdo a;=18 o 3@
Pi=0.5 goo@ol @o@gdyagdom, a4 3y 3oO@™MPoenls Pr=120 gos@ols
oM go Y gdom, az= 33y bm@il P3=8 ans®ol mo@gdyegdom, as;=2 3y
093blL  Ps~10 goos@ol  @o®gdyergdom s as=10 Gog 3390 3bL
Ps=0.25 @odol modgdyegdom, o9y a=5 a4 as=2; a4=3; as=l
dmdbdo@gdbemols doyxgdo ™ggdo 500 gos@os. sdmzsbs sdmblgbom
Sbo@oby@oe s 3md3doy@dgeom. dgogagdo dgos@gm gamdsbyml.

sdmblbs: @. LEAMYbol Lodygdaosbmdols gybjizosl gl Laby:

U(Y1,Y2,Y5, Y4, Ys)=(Y1-a1) " 1(Y2-a2)“2(Y3-23)"3(Y 4-24) “4(Y 5-a5)"s

Lodoygxgd™ dgbeyoggdl sdgm Lobyg:

P,Y+P,Y,+ P;Y;s+ PsYs+ PsYs<B

Yi=za; Yo=a, Ys=a3 Y= as Y= as

5dm(3560L  SbogobygMo  Sdmblbol  Igpgaoe  dogowgm, @I
dombmgbol g3ybjioslt oJgl Lobyg(10):
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devnbmgbols 39600l db0dgbgermdgdo 3o3MZ0mMZoEO MM
M@bs0®oE: dmdbdo®gderols 5@Hggobol 5dmobols sdmboblbowsb ©s
SboE0byy@0 sdmboblibowsb.

30mg®sd> Mathcad-by

dmbo39dgdols dgggebs ©s sdmEsbol m®bso®o
>dmboblsbo
5303560l 53MbobLbo, Sbogmobyg@o 5dMboblbol d5boby

ORIGIN:=1
B =500
5
18 5 0.5
B - P.-a.
4 4 1.2 ( Z lalJ
A
a==| 3 | a:=|2| P:=| 8 i=1.5 Yli::ai+oci' !
2 3 10 Pi'z a;
10 1 0.25 ;
i=1
311.133
101.711
Yli=| 10.328
10.794
127.253

UCY 1) = 8.449x 10°°

5303560l 5dmboblibo 5@5FOR0g0 3OMYMSIgdols 5Im 35601
55body

5
Uuy) = H (Yi - ai)qi
Y:.=a e

Given
Y>a

5
Z P.Y <B
i=

R := Maximiz¢U, Y)
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g J3go0
311.56

101.589
R=| 10327

10.792

127.099

U(R) = 8.449x 10°°

3Oma®sds Matlab-bg

% 505(09030 ©3OMAMsdgb0l 5Im35b0l 5dmblbs dmb@g-goGemls
%3dgmmom
a=[18, 4, 3, 2, 10];
alfa=[5423 1];
P=[0.51.2 8 10 0.25];
B=500;
b=[315,105,12,12,130];
y=[310,100,8,8,120];
%
Umax=prod((y-a)."alfa);
for j=1:10"7
r=rand(1,5);
y=a+(b-a).*r;
yl=sum(P.*y);
if yl<=B
U=prod((y-a). alfa);
if U>=Umax
Umax=U;
ymax=y;
end
end
end
Umax
ymax

dg@g8900:

Umax =
8.3663e+026
ymax =
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311.6736 102.1869 10.7863 10.6214 116.0728

% 505{098030 ©3OMAMsdgdol sdm3sbols 5dmblibs sbognoby@o
%dgomm@on

a=[18; 4; 3; 2; 10];

alfa=[5;4;2;3;1];

P=[0.5;1.2;8;10;0.25];

B=500;

Y 1=a+alfa*(B-sum(P.*a))./(P*sum(alfa))
Umax=prod((Y1-a)."alfa)

BRJdI0:

Y1=

311.1333
101.7111
10.3283
10.7940
127.2533

Umax =
8.4488e+026

bogo@aco deo:

Lo gogosbmdol g9bJizool oJsl @. LEMyYbols Lobg. 03mggm
dJombmgbol  gybjizos 0d  FgdmbgggsTdo, @m@s  dmIbdodgdgeno
5930 gdems©  dmobdodl mggdo a;=15 @Goge 3y@OL P=0.5 ao@ols
oM oy gbom, a=5 33 3o0Hmgoal Pr,=120 @os@ol wmocdgdy-
@wgdom, az= 33y boogl P;=10 @os@dol wodgdymgdom, a,=2 3y
093bL P,~10 @odol @wo®goymgdon o as=10 @Gogr  33903bl
Ps=0.25 @os@ol @o®gdygangdom, oy @D a3 az2; a4 as=l
dmdbdo@gdemols doyxgdo mggdo 400 grs@os. sdmobs Sdmbligbom
Sbo@oby@oe s JMd3doy@geom. dgogagdo dgos@gm gamdsbgml.
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093> 23: g9bgiool gensboy@mads

aobgobogme y=f(x) 69bJEombogry@do ©sdmjoogdyegds. @odm-
9g0RdgEmo X ggmorol  ggmomgdel  doggege®m Y ggbiiool
db0dgbgermdols (33ero@gdsdwg. oldol jombgs: GEam@ 2s3bmdmm
©5dmM3ogdgmo y 3gesol  dy®dbmdos@mds  X-ols  (3g3e0oengdols
dodo®m?! o3  (33eoagdol  gOm-gOm  Iohggbgdgerls  Fo@dmomagbls
396J300L Fomdmgdbyemols 3bgds »', @53 sbobosmgdl y-ob (3ge00-
agdols Lol{@oxngl x-0l 3geoamgdolsb.

09d3o,  93mbmdogsdo  Fo@dmgdymols  3bgdol  aodmygbgds
bdodow dmygbg@bgdganos, gobsowsb ol sdmgopgdagaos  Lsbmdo
9Omggeols  5@hggobg.  dspoomsw, g gobgobogsgm  dood by
dJombmgbol 'y 196]30oL x=p goliby ©odmgowgdyangdom, gbsbogm,
amd p gobol mommgyero dbodgbgermdbol @M, [o®dmgdyganols

®oibgomo  360dgbgemds y’:g—y ©5dmM3ogdgmos  0dsbg, @md
X

VoJodbg Jmmbmgbs 0bmdgds  jogma®sdgddo my, (3966bgHgSddo.
30039 dgdmbgggedo  [o@dmgdagmo  obmdgds  ga/co®o-Jo,
‘dglodsdolow, dolo db0‘dgbgeomods ool 9O 000503539
dbodgbgemdol  @®mL,  dmmbmgboll  Lowowol  gO®mgy@o©sb
20dmdoboty, 0b6gds Lbgowolbgs. sdodmd, g3mbmdogsdo 39biiools
(3o gbols dy@dbmdos@mdols gobobmdoe dgologmosh x-obs s
y-ob 505  Sdlm@y@u®o,  oModge  domo  go@Emdomno  ob
30m39b@ Yo (330 gdgdols 3og3do@L (d5dob, OmEs Bobogsdo oF
Lodmygamgl  mogh  sMogdgh  gOmgymms  Log®msdm@olm S
LoliGgdol dgdm@Esbom).

3oblobrmgmgds: y=1(x) ¥96j3ool gmoslGoygdmds gfmwgds x s
Yy (332o09d0L  go®ombomo (330 gdgdol dgaedegdol bwge@ml,
OMES 5My9dgbGol bobOo Ax— 0.

Lbbgoggotow, my y=f(X) 39bj3ool gaosliGoyg@mdsl s@gbodbsgm
Ex(y)-om, 35dob

Ay

E0) = lim 3 =lim = (1)
3oblbobmgmgds:  f(x) gybjiool  Lsdgogm  3bodgbgeomds  x
Va0 @oado gfmogds go@omdsls f(x)/x.
0y, f(X) ¥9bjiool  Lodygogm  dbodgbgarmdsls  os@gbodbsgm
Af(x)-00m, 339690

Af =12 (2)
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3oblobwgmgds: @ubdiooll bog@ygaro 860Tdgbgemds  gfmwgds
396J300L f'(x) Fo@dmgdyanls (smbodgbs Mf).

30000, gl m@0  goblobwgdgds  Lodygomgdols  agoderggls
2obgdo®@mo  f(X) g9bjizool gasbEoyg®dmds, GmamaE begdyao
dbodgbgamdols dgxnomgds Lodgoamm dbodgbgamdslmsb, 5by

_M_ )
R ®

X
beoaxg®  Jobobgdbgdgmmos  gaslGoyg@mdol  Fo@Imeagbs
@500 Fo@mdmgdbygmols Loboo.

_d(Iny)
o4 ~d(lnx)’ @)
305300 gm  gansbGogdmdbols (3bgdol ggmdg@@oygm 06 MG Y-
G>305by.

A
Y B -
C
C
y A\Y
Y=f(x)

ol A . 0 [\ X .

B
bob. 6 bob. 7

F396  gobgobognogm @  Fgdmbggaol  bob. 6, lLowpon  f(x)
G960 g gon@mdl s bob.7 — Lowsi f(x) gubdios 0b@wyds.
20blobmgMgdol  mobobdo@  y=f(x) 99bJaool  gaoliBon@mds

Clx;y) F9oBomBo dmogds gm@dgmon: E (y)=— =, = =-iga

(bob. 6-0Lb dgdmbgggsdo) o ?ztga (bob. 7-0l  dgdmbgggsdo)
x

Toddmgdyeol  ggmdg@@oygeo  dobos®lols  dobgogom, sd@oysw,

9O Iobgmols 3o@ogger@o@ gobgoboansgm m@ dgdmbgggol: o) bob.
6 ©o &) bob. 7.

gbowos, M™I

5) E,(y)=-tga-~;
v

®) E,(v)=1ga->.
y
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gbowos, ™I 0y
5) x=|0x

3

v =|0oy|
) x =|4x|+|04
v =|0oy|
do'dob dogowgdm:
|Ox| . |Ox| = |yC| = |BC| cosa;
|Oy ’ |0y| = |xC| = |AC| sine;

D) ()= ga 2,
X |Oy| bl

b

|Ax| = |AC| cosq; |OA| = |AB| cosq; |Oy| = |AC| sinq.

Ao boBgomgdosll  odemggs  y=rf(x) H9bdgool  gmslEog@™dS
hog(gdmm dgdwgyo Loboo:

|BC| cosa |BC| _

|AC|sina :_|AC ’

|AC| cosa +|AB| cosa |BC|

>) E (y)=-1ga-

) E.(y)=1ga-

|AClsina ek
53935000, ¥ = f(x) g9bJ300lL gaosbBongdmds Goeos:
£0)--29
* lac|’

am@s C (go@omTo godsgogro AB dbgdol gmm@d@obs@oms @g®-
dgdmob goagggmol A o B {gaRomgdo aobaospgdagaos C (9m-
Bogrosh Lbgowslbgs dbodgl (bob. 6-0l dgdmbgggsdo); boanem oy
20005339006 A s B {g@@oggdo aobamspgdoyemmos C {gd@Goemols g@m
dbo®gl (bob. 7-ols dgdmbgggsdo), dodob

£.(0)- 2

U Jact

aobgoboamm 396J300L gosbGog®mdol  ™3g@OSGM@0L
ngoligdgdo:

1) 9o 5sLE0YOMOS Toddmowagbls bogoggls, Gedenols
db0dgbgermdbds oM oMol odmgzogdygao  0doby, oy O
JOm g gddo 0bmdgds X oy bowowggdo. g.0.

E,(by)=E.(v), (5)
53 30(390:

dby) ax b dy ax
E (b-y)= o2 22 F (y) N N -
dx(b y) d(ax) by a dx by x(y) @obo  ©od(H30390°3  330b

QMoO.
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2)  9OmogOmndgdbaybgoymo  gubjogdol  gansboydmdgdo
51939 9OM0gOHMIgoO9bgdygao Lowowggdos:

Ex(y): Ey(x)' (6)
533 30(390:
_yox_ 1]
)= y dc y E(x)
dy x

3) 9000©s0039 X 5M39dgbRd by wsdmzowgdyemo mdo U(X) s
V(x) g396J300L bsd@sgeol  geosl@oyg@mds  Gmenos  geosli@oyg@em-
doms xodobs:

E(U-V)=E(U)+E(V) (7)

53 30390

EX(U_V):d(U-V)_ x _UV+V'U _dU x dV x

dx u-v u-v dx U dx V

4) 96000©s03039 X 5Ma9dgbdby ©odmjgoegdyemo m@o U(Xx) ©o

V(x) g9bJ3ool  dggodmgdols  gansbiGoy@mods  Goaos  gansli@o-
9OMosms bbgomdbob:

£[Y]-£.0)-£0) (8)
533 30(390:

U
d(j ! !
Ex[gj: 4 .i:U'V_ZV'U.ﬂ:d_U.i_d_V.izEx(U)_Ex(V)
ax U V U dc U dx V
V
5) 9Omo©s02039 X 5M9d96@ by wodmzogdymo m@o U(X) o
V(x) 9¥96J300L x50l geosb@og@mds aodmomgengds Bo@d g on:

E(U+V)= UE, (UU)+ VE, (V)_ )
+V
53 30(390:
dU x dv x
v- 2= .4y .22
E(U+V)=6(U+V) X =(U'+Vl)' X — dx U+ dx V=
' ox  U+V U+V U+V
_U-EU)+V-E)
- U+V ’
6) E (x)=1
533 30(390>:
E ()= 2y
dx x
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dgogagéo:

o) E,U”(x)=nE,(U)

d) ba@olbmgobo y=x" ¢96J300L geoslFoy®mdbs
E. (x”): nE_ (x)=n;

) dohggbgdemosbo y=a*gubiEool geoslBoy@mds

Ex(a'”): d;x -ir: a’ lna-ixlena;
X a

©) {®g5030 y=ax+b gybjiool gansb@oy®mds
Ex(ax+b):d(ax+b)- x ax

dx ax+b ax+b’
2503705 aobgobognmm geoslEoy@mbdols Lboowols
3goggds {@xogo ¥ =ar+b gygbjioobomgols (bob. 8).

A

YJ E.(y)=0

Ex(ax+b): —0

»
»

=ax+b
bob. 8 2a a y=a

OIOPNUTCTES g3bgoogm, Vog030 29600l 9o sbBOYOMbS
5dm3ogdgmos  [g@Goebg, Gmdgendoiz dob  gobgobogosgm, @
dobo Lopopg 03gegds —w-sb (sdbEobsms @gMImsb o 339000
VaoBoerdo) byyermgeb 360dgbganmdodwyg (mOobsGms  mgddmasb
aos339mol §g@@oando).

geo5bGogamdol (36900L godmygbgds gzmbmdogsdo

30350, 335J3L Y @mgmonby dmmbmgbol gubjios Y= f(p,B).
Lbosi p — Jmbgdol gsbos, bognem B —dmdbdodgdanols doygx gdo.
d5'dob, dmmbmgbols gaosb@oyg®mds gslol dobgogom
_or p (10)
oP Y
230h39690L ¥V @mgmombg  dmmbmgbol  Lowowol  3Gm396@ e
(3300 gbdsls, @m@s od Jmbgools golio 1%-0m ogengds.
E,(Y) obosboomgdl mdbdsdgdenols da@dbmdos@mdsl  3Gmwsy-

J3oobg goliols (3gaoagdol dodo@m. o9 Imnbmgbol gsLmd®ogo

E,(Y)
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JsbGog®mds  Sdbmeyg@gdo  Logowoo  dgBos  1-bg, d5Tob
Joonbmgbsl 9fmogdgh gesbGog®dlL, o9 bogamgdos 1-Bg, d>Tob
donbmgboll 9fmegdgh s@SgesLE0y@L. bogwm oy ‘EP(Y)‘zl, dodob
593396, @™ IMmnbmgbsl oJgl gHmgnmmgsbo geslGogdmds.

oY B
bogowgl E,(Y)=F5 (11)

9V megdgh dmmbmgboli ganslEoyg®mdsl ‘dgdmbsgemgdols dobgogoom.
gl bopowpg obosbosmgdl ¥ wmgmsndg dmmbmgbol  Lowowols
30m3gbG Y (330 gdsl  Jmdbds@gderols B dgdmlsganols  g@mo
30m396@0m dgigeoblsb.
dombmgbol ©ogdomo gasbGoyg@mos dgdmbsgerol dobgogom
Sboloomgdl mgasmols ba@olboob Lodmbganls, bogm ws@ymeomo
geosbBogdmds — gbo@olbbm  Lodmbgerls (AmdgenbsE yowommdgb
dbo@me ©sdsemo gobobs s Jmdbdo@godemols dzodg B dgdembog-
ol godm).
obg, ®md  dgy@bgmdbdoll  odydo  dgdmlogerols  dobgwgom,
dJombmgbol  domogno  oswgdbomo  geoslFoy@mdbols  3mgxn03096@30
E,(Y) dogmomgdls 0dsbg, @md dobo oo 930bmogn®  b@HwsTo
d9®0s, gow®g oo gzmbmdogol LEAGYJBAYOS>To. sdoGmd, ol ofgl
dobLo  Lodmdoganm b@obs ©o gobgomo®gdolomgol. 3o®ojom, 0y
E,(Y)<1, 35906 Y- LoJmbganls dmgemols hofmams s Fo®dmgdols dgd-
(303960l 396L39]@0gs.
Y, ~mgmsnbdg dmmnbmgbols Loowols IgLfogamoblsl, @m@s bbgs
Y, - @ogesnbg (dmbdosmgosdo dobo dgdigemgamo b dgdsgbgodgero)
P, @gobo oggmgds ghmo 3GMEgbdom, dgdmeol gsbol dobgogom
dombmgbols xgo®goobo gansl@oy@mdol (36g0s.
dy,
vy P
)= = (12)
P

J

~

oy E (Y)>0= 1 ©5 ] ©mgmeno gomog@nhsdbsigmgdamgdos.
09 E, <0= ©@mgmomgdo gM0mog@n'dgdsglgdgamos.
sl 3gbgdo:
1) 3mmbmgbols gybjiool, sboll dobgwgom geoslFoy®mds dom

9RO domoos, 53 93 do@og0s OMgEsMols
hobo3gam gdoliybo@osbmbs;
2) demmbmgbol K9bjiool, golol dobgogomn geslEoydmds dom

YRO  ds@o@os, Mo3  YROM  dopogros Mgl mgmsmby
bo®xgdol bggodomo {mbs 3mdbdomgdaols dgdmlsgogndo;
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3) dmmbmgbols g39bjio0l, @slol dobgwgom  gaslFoydmds dom
YRO  Jo@oos, o3 YROM  ©sdsmos Mgl mgmsmnby
dJombmgbol bygdogd@yco >9Eogdemds;

4)  dmobmgbol  gybjiool, gsboll  dobgogomn  gapslGoy@mds
0b@Egds GgansJboizooll @AMolL Iy gools bOEsLmsb gOhmasw.

r53mB5B G0z bodydsem Ne23.1

33m@3sbs: M@0  3OmEyJBobomgol, @mdgemmns  goligdos dgle-
dsdobo B o P, dmmbmgbs (o®dmwygbogros LEmybol g9biio-
00. 9bs 303MgM?m MoMmMIYE 3OMEYJGbg dmmnbmgbols gansli@o-
9AOmos Bobol dobgogom.

sbdygao 5dmEsbol sdmlsblbgemse dggoa0bmm 3O M@ sTs.

30my®sds Mathead-byg

LoFygolo dmbsozgdgdols dg@obe:
B = 12(

oy :=04

oy :=0.€
#obol dobgwgom dmmbmgbols LE®MYbol Kyubjios ImEgdyao m@o
3O gJBolbomgols:

al(B ~Pla, - P2-a2)

YI(P1,P2) := a +
P1~(0Ll + 0(2)

az(B ~Pla, - P2-a2)
Y2P1,P2) := a, +

P2~(0Ll + 0(2)
domo gansbGoyg@mdols godmmgens:

Pl
Y1(P1,P2)

E1(P1,P2) := (d—Yl(Pl ,PZ)J
dP1

E2p1,p2) = | & vaep1,p2) |. P2
dr2 Y2(P1,P2)

}obol 3063093900 db0dgbgeomdolsmgols 9o sbBoy@mools
2030 gE0 S
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P1:=15

P2:=12
E1(P1,P2):=-0.651
E2(P1,P2):=-0.789

30my®sds Matlab-bg

al=2;

a2=3;

alfal=0.4;

alfa2=0.6;

B=120;

syms P1 P2

Y 1=al+(alfal*(B-P1*al-P2*a2)/(P1*(alfal+alfa2)));
Y2=a2+(alfa2*(B-P1*al-P2*a2)/(P2*(alfal+alfa2)));
EY1=P1/(Y1)*diff(Y1,P1);
EY2=P2/(Y2)*diff(Y2,P2);

P1=15;

P2=12;

EYl=eval(EY1)

EY2=eval(EY2)

dgg3900:

EYI1 =
-0.6512

EY2 =
-0.7895

@8BS B G0z bodydsey Ne23.2

330356 Im3gdgemo a35J3L dmmbmgbols gubios:
Y:=100-2-B-P

030390 dermbmgbol geosbBoyg@mods gololbs s doyxgdolb
dobgegom, soggm dgbodsdolo aMo5303900; 03mggm, gansbFoyg®mdol
dbodgbgamdgdo goliols o doyxgdol Lbgowslibgs
db0dgbgermdgdolismgols.

odmblibo:

dmgdygeo ag35Jglb dmmbmgbols g3ybiios:
Y =100-2B-P
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o379 dgom, M3 Jmdbdo®gdenols doggx g@os:
B =1000
boam bombarols gslbo:
P =50
303m3m0 dmmbmgboli ganslEog®mds golol dobgogom:
Y =100-2000P

100—-2000P 100-100000 999

oP Y
@oEash  dmmbmgbols  geoslLFoy@mds  gsbol  dobggom
SOLmg R g@o dbodgbgermdomn I-ol Gmeoos, g35J3lb gOmgyEmgsbo
geosbBoyg@mbes.
30300300 domnbmgbol gersl@oy@mds doygxgdol dobgogom:
Y =100-2-508=100-1008B

E3(y):6_Y'£:_100‘ 1000 ZIOOOzl
0B Y 100(1—B) 999
dombmgbols 9 slE oA mbols SOJO0MO db0dgbganrmdys

dgdmboganols dobgogom sbolioosmgdl ba@olbosb bsmbganl.

30ma®sds Mathcad-by

Y(P) := 100 — 2000 P

100 T T

Y(P) 50 —

I I
0 0.02 0.04

P

Jombmgbol geoslEoydmdbols asdmmges gsbols dobgwgom:

E(P) := [d—(IOO - 2000P)}
dp

0

100 — 2000 P

53530  dmmbemgboll  gsboll  dobgogomn  garslFoy@mdbols  Rslbby
©5dM 30 oY gdol 4M593030, Loowsbsi hobl, M9 GMamM® o3gergds
geoslEoygamdols dbodgbganmds obols Lbgowslbgs
db0dgbgermdgdolismgols:
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L1 -
E(P)
— 105 .

S
w

10

P:=50
E(P) :=1.001

53530  dmmbmgbols  ©s  dmmbmgbol, dogxgdol  dodosdm

geosLEogamdol, dogxgdbg odmjoegdgamgdols y@sxi03900,
Y(B) := 100 — 100-B

100 I

Y(B) 50 ]
0 |
0 0.5 1
B
B
EB) =| (100 100B) |
dB 100— 100B
I
A _
E(B)
|
0
0 50 100
B
B:=1000
E(B):=1.001

30my®sds Matlab-bg

P=0:0.01:0.04;Y=100-2000*P;
subplot(2,2,1);plot(P,Y,'b");grid on;xlabel('P');ylabel("Y (P)")
%

syms P
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Y=100-2000*P;
EP=P/(Y)*diff(Y,P)
%

P=50

EP=eval(EP)

%

syms B
Y=100-100*B;
EB=B/(Y)*diff(Y,B)
%

B=1000
EB=eval(EB)

% 5go3mm 24M5¢3030:

P=0.1:0.1:10;

EP =-2000*P./(100-2000*P);
subplot(2,2,2);plot(P,EP,'m");grid on;ylabel('"E(P)")
B=0:0.1:1;

YB =100-100*B;

subplot(2,2,3);plot(B,YB,'r');grid on;xlabel('B');ylabel("Y(B)")
B=1:0.8:100;

EB=-100*B./(100-100*B);

subplot(2,2,4);plot(B,EB,'r");grid on;xlabel('B');ylabel('"E(B)")

dawgagdo:
EP =-2000*P/(100-2000*P)
P= 50
EP= 1.0010
EB = -100*B/(100-100*B)
B= 1000
EB= 1.0010
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100

80

40

100
80

20

..............................

______________________________

..............................

20
a

______________________________

______________________________

______________________________

bogo@aco dea:

2 :
R U E——————
- ---------------
71 SRR SRR
1.2 L ---------------
"o ; 10
25
50 100
B

dm3gdgeo g3543L Jmmbemgbol i3yb]ios:

Y:=1000-8-B-P
03m390 dmmbmgbols gersbBoyg@mds gsbobs s doyxgdob
dobgogom, soggm dgbodsdolo g@Mse303960; 03mggm, gansbiGoyg@mdols

dbodgbgammdbgdo gobiols o doyxgdol Lbgowslibgs
dbodgbgemdbgdoliomgols.
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093> 24: Imnbmgbol xgoMgEobo gersliGoyg@mds
x5Lol dobgogom

Y, -omgenomby deonbmgbols boowols (33000 9600
dgbobfogeop, dm@Es bbgs ¥, - poegmonbdg (3mbds@gdsdo dobo
‘dgdgegemo  ob  dgdoglgogero)  p,  gobo  ogggds  gBmo
30m39b@0m, dgdmeol golol dobgogom dJmmbmgbols xgo®goobo
geoslBoygamdbols (3bgds.

dy,
Y dy, P
E (Y)=—=—£.2L 1
)= e ot 0
P,
9, E, (Y,)>0= i ©O Jj OEOIZED SN0

DO0gA0hdbs(33e o gd0s(gogs o hoo). my E, <0= ©egmsmgoo
9AM0g@mdgdogligdgenos(dsdodo s hHoo).

580G BmGonao bsdydser Ne24

sdm@3obs:  Jmzgdygero  ggodgl m@o  3Omeyd@o, dglsdsdolo
@olbgdo s JmdbIs@godemol  doyxgdo. Jmmbmgbs  dm3gdygmos
LEmygbols g9bjiool dgdggmdom. godmgmgogmm gsbols dJobgogom
dJombmgbol ¥ 35090060 geoslFoyg@moes.
>dmblibs: ‘dggoaobmm dglodsdobo 3@my@sds.

3Omy®sds Mathead-bg

LoFygolo dmbszgdgdols g obe:
n:=2
al:=2

a2:=3

al:=04
o2:=0.6
B:=120

dombmgbs dmgdgmos @. LEHMYbol BWAOIYe gdom:
al-(B—Pl-al — P2-a2)

YI(P1,P2) :=al +
Pl-(al + a2)

0a2-(B—Pl-al — P2-a2)

P2-(al + a2)
dombmgbol  xgodgobo  gaoslEoyg@mbols  godmmgems  gosbols
dobgogom:

Y2P1,P2) :=a2 +
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P2
EYI(P1,P2) = | Lvip1,p2) |
P2 Y1(P1,P2)

PI
EYZP1,P2) = | L vap1,p2) |
dp1 YXP1,P2)

3obol 360dgbgermdgdols dg@obe:
Pl:=15 P2:= 12
geosBoyOmdols ysdmmgeos:

EY1(P1,P2):=-0.279
EY2(P1,P2):=-0.263

9:0. @MgEMgdbo YH00g®MH 0 dgdsoglgda gdos.
30ma®s8> Matlab-%g

n=2;

al=2;

a2=3;

alfal=0.4;

alfa2=0.6;

B=120;

syms P1 P2

Y 1=al+(alfal*(B-P1*al-P2*a2)/(P1*(alfal+alfa2)));
Y2=a2+(alfa2*(B-P1*al-P2*a2)/(P2*(alfal+alfa2)));
EY1=P2/(Y1)*diff(Y1,P2)
EY2=P1/(Y2)*diff(Y2,P1)

%

P1=15

P2=12

EYl=eval(EY1)

EY2=eval(EY2)

dgoJ3900:

EYl = -0.2791
EY2= -0.2632

bogo@aco dea:

sdm@3obs:  dmzgdygeo  235Jgb  Lodo  3GmEy]@o, dglodsdolo
Bobgdo o AmIbdo@gdanols doyxgBo So®bogm  sdMY o da .
dombmgbs dm 39990 LEemygbols 396J00b dg'dggmdboom.
aodmgmgoemmo  goboll  dobgogom  dmmbmgbols xgs®gwobo
geosbBoyg@mds. 5gblbosm dowgdyeo dgogagool gzmbmadosydo s@bo.
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09> 25: 53mbsggdol gansbGoy®mods gobols dobgogom

Y @mgmosmol gogoegoesb sdmbsggdol  gansl@oygdmds gsbols
dobgegom Fmao.s:

E, (pY)=E,(p)+E, (Y)=1+E,(Y) 30650056  dmmbmgbols,  gslols
dobgogomn geslFoy@mobds Igosd PodYmBomos, o3 BeMIYEowsb
aodmeol, @md geoslEoy®o Jombmgbol OML sdmbopagdo 0bOEgds
Y-ol Gomegbmdoll bO©slmsb, 5b gslol ‘dgdio®gdsbomsb gomsw,
boenem s@sgansl@oyg®@ol aml — jegdgamdls.

dog o 0ma, 35020 dobogeools OM 19®dgM gd0ls
dgdmbogergdo  dgdEodegds,  Goasb  Lmgwmols  dgg@bgmdbols
30mEY]Bgobg  dJmmbmgbol  ganslGoyg@mds  Logdom  odogoos.
Sbogrmaoy@doe, o9  aogbdwom  5J30bgol  odyol  Fo®dmgdsby,
do9gxgBdo  dgdmbogangdds  dgodangds  ogerml, gobsopsb  Lbge
43996960056 0d3m@FH0Ogo g0 0dbgds 0550 sGSYo. @olis swyoao
dJmbws 1993 (gaol LLOF-Fo (ao@doshmgol 3533560s). sbogmyoy@do
F93emdgdbo  YBOM  SEMOg 0533900 0gm  godobyBmbdo  80-05b6
Ve gddo, Om@Es 6%-0m 25bs@Egl aowsbobowo 696%0bby, @oby
dombmgbols geosbGoyg@mobs sdg@ogzgero 93mbmdob@gdol ‘dgasligbom
dgoagbes  02-, 09gdgo, o35b  dJmosbwobs  dmmbemgbols  33%-o0m
05(3990, (ONTE! ‘dgglododgods 9geosbBoyg@mdols 5.5-1 Geogm
dbodgbgemodol.  obg, @mI oo dbodgbganmds o3l dmmbmgbols
396J30olb sbogroby®o Lobol LY@ o 9bsL, [ONE:

bo@Gogaogds  hggbl  dog® 9339 aobbogrgao  dGsg@mdomo
@930 9bogao sbogrobols dgdggmdoom.

380G mGonao bsdydse Ne25

8dm(3565: 39990 a35J3Lb Lodmbanols dmmbmgbols gybjios

Y(P):=28-0.25-P. 303M3M” 254003900056 5dmboggdols geoslFoy@mdbs
aobols dJobgwgom EPY(P), gjobol 3mbidg@yeo dbodgbgermdbolismgols
P=12

sdmblibo:
3Oma®sds Mathcad-%y

LoJmbaooll  dmmbemgbols  g39bjiool  goliby  @odmgopgdyegdols
dobggom:

1
Y(P) :=28 — —P
(P) p

5353mm dmmbmgbol #Bobbyg sdmogdbymgdol a®og030:
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40 .

Y(P)

0 50 100
P

aodmgmgoemm  boJmbgool dmmbmgbols gansliGoy@mds gsbols dobg-

©300:
P

EY(P) := (d—Y(P))—
dP Y(P)
> bogmberol goyoegoseb 5dmboggdol gersl@oyg®mds dobo gobols
dobgogom:
EPY(P) := 1 - |EY(P)|
0039 domgobol gM5803900 >353mm gOm Lod®Eygby:

5 | | | |

EY(P)

Y \_
] ] ] ]

aobol  3mbg®gdyeo  360dgbgermdolomgols  godmgmo  sdmboggdols
gEosbBHogOmdS -

P:=12
EPY(P):=0.88

dogowgm, @md  Y-ob GomEgbmdbol  bOsLmsb, ob  goliols
‘d99300905Lmsb gOmow, sdmboggdo dzoMgds.

30my®sds Matlab-bg

P=0:100;

y=28-0.25*P;

subplot(1,2,1);plot(P,y,'r');grid on;xlabel('P") ;ylabel("Y(P)")
%

syms P

Y=28-0.25*P;

EP=P/(Y)*diff(Y,P)

EPY=1-abs(EP)
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%

P=12

EPY=eval(EPY)

%

P=00.1:100;

EP =-1/4*P./(28-1/4*P);

EPY =1-1/4*abs(P./(28-1/4*P));
subplot(1,2,2);plot(P,EP,P,EPY.'r")
grid on

xlabel('P")
ylabel('EY(P),EPY (P)")

dg@g8900:

EP =-1/4*P/(28-1/4*P)
EPY =1-1/4*abs(P/(28-1/4*P))
P= 12

EPY = 0.8800

30

EY(PIEPYIP)

0 20 40 &0 80 100 0 20 40 60 80 100

bogodxco deo:
8dm356s: 339990 2353l LoJmbanols dmmbmgbols g¥bjios
Y(P):=29-02:P. §0303M0 3540039000506 53mbopgdols  gasbEoy®mds
#obol dobgogomn EPY(P) gjobols 3mbg®mgdyero 360dgbgermdobsmgols
P:=12
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093> 26: Fo@8mgdols mgm@os. Lofo@dmm g49bjios

Fo®dmgdol  mgm@osdo  Lofo®ddmm  Loddosbmdol  Lsgombgdo
439505bg  do@omoos, dog®ed hggb mogosb dgdmgodebm, op@y,
dobds@gbdols mgm@osdo dgdm@sboaols sbogrmaoy® (369090L; Goms
>0g0e0  0yml  930bmdoJlols 3Omdengds@ogolmsb s j353d0Mgdeao
Logombgdols gm@dsgnobszos.

Lo@ggdeosbmdol  ggbjaool wmbol Fo®gdl  Fo®Imowagbgb
35byg@hggarmdoll IOygegdo. [omdmgdols mgm@osTdo Lo®ygommosbmdols
396300l dggbodoedgds  Lofo@Bmm  gubjiool (36905,  bmene,
Lofo@mdmm  g9bjaool  ©mbol  Fodgdli—0bmgygeb@els  3fmwgdgb.
dodolbosdg, 0bmyggebBol (3bgds Fo®Imgdol mgm@osdo, olgmogyg
Aol 0835Tdmdl, OmameO G  goby®dbggermdol @Yool (3bgos
dobdos@gdols mgm@osdo. of, oM Fo@F M  sbsgrmposlmsb  ggod3l
bogddg, s@sdge 396300l Lobggdoi mobbgogds.

3obLobmgmgds: Y=f(x1,x2...x,) Lobols 93996 J0ol,  Lowasgs,
X1,X2,..Xn  3odmYgbgoyemo  @gby@lgdol dmEygmmdgdos, bmegom Y
2odmdggd o 3OmEyool  JoEygmmds,  Lsfs@3mm  g9b6jios

gV orgoo.

de (399900 30m©9JRob 2odmddgzgd0 (3O 3JHE00
Lofo®dmbomgol (go@dolbomgol) Lofo@dmem gubjios Y=f(x,x,,...x,)

25dmdg9o9eo 3OmEyd3ool JoEgemdsl o353d0®gdlL (bos@ydogy®
ob  @o@gdymgdom Aodmbobyegdsdo) Lbgowsbbgs Lobol d@mIom
sbobo®x gomsb;  oliggg o@mol, bgo@mgymol  Lbgowslbgs
Lobgmdol, 353033e0gdBgogero  bofoengdol, 9bgdgaool, do@omswo
3530300l @obobo®yxgdmab. slgmo  Godol  Lofo®dmm  gybjios
350250 sbolosmgdl {o@dmgdols dmddge Bgdbemamposls.

Lofo®dmm  g9bdiaool  spgdolsl, @Gog3gyero  @gaombol  ob
dognosbo  Jggybolomgol, 3Omeyddol  Faoydo godmdggool Y
dohggbgdemoe @™ bdoMoe 00gdgh @grombols ob dgbsdsdobow
J399b0l  g@mmdmog  3OmEyYJBL  (dgdmbogoml),  s@oibyels
9330 g Bobgddo, Mgby@lgdoe gobobogsggh doGoms jodo@owls
(x;=K — Faool a5bdogeomdsdo godmygbgdbyero dmEyermds) ©s (30-
gbogr  dOMAsL (=L — gowmo (eool gobdogermdedo  mEbogo
9 dobgerols gOmgy@ms @omgbmds). sdMoow, 3530Mg30mbmdo sdo
3obobognsg9b m@RsJBM@05b LoFomBmm gubiiost.

Y:f(K’L) (1)

P.S.  ‘bmyxgo, 2odmYy9bgdeyeno 996966030 Agbyalgdols
JoEgemdol sds@gdom gomgomolifobgdols bodxbg, goboboansggb
d5300g30bmdogol 1odgsBm@osh Lofo®dmm gubioslt. Go@ dg@os
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BoJBmOms @oibgo, oo YROMm bybEos IJnwgao, dop@sd RO
AOMYE0(3.

Lofo@m3mm 9bJ3ool dbmaswo mgolgdgdo

>) [o®dmgdsdo aodmygbgdygmo @glyg@lgbol bodyxol asbOom
30mEJ3ool 2odmdggds 3g® dgdEodmegds, g.0.
Y so,  i=in 2
OX;,
2oblbobwg@gds: G Loddogangl gfmwagds Y=f(x,x5...x,)  Lofo®d-
dom  gubJ00l ggmbmdogndo stgsmo, oy V(x,x,.. x¥) F9@@0-
@olomgol G Lod®sgeosh saomo 53l (2) mobomdsl.
dogoaomo: my Ogbyg@bos aobobogrgds dofs, d5Tob Lodydom
dogmol g3z gemdolsl, oxo®omn  sgdbyeo  dofol  GoBmmbols
2obMsd dgodemgds 3o 5@ 2obodml dgdmbogsgo, 3o@ojom, dgod-
30Omb 3oy, ol dsJlodogoa@o  godmmdo,  OMIgasdog3
sJodsggdygao  dJofol  Fodmmdol  gobdes  dmdygdosbos, [ood-
dooagbl  dm@igdyee dogogmomdo  @Agbyg@Llol  ggmbmdogydo
st gogoll  bwgo®dl.  ggmbmdogydo sOgogols  aodgm, @gbydLols
180J60MS> 0fygdl ©sEgdals
3) 25bLobmgdgds: Y=f(x;,xs..x,) Lofo®dmm ubiools (33e0-
agdols Lob{®oggl, x, @gby@Lol Ggmoggdols dobgogom, i-y@o

@3bgabol bpgdhmo g89JBYO™ds gimwgds. Gbowos, @MI i-yg@o
@gly@Lol begOygmo 939G YOMds [o@dmoagbl i-®o (33eno@ols
399339200 Lofo®@dmm 196300l 3gddm Fomdmgdyenls: g
bbgs ®gby@Lgdol Gomwgbmdol dygodogmdols 30MmMmdgddo, 9O Mo
Amdgerodg  Aglyg@lol Oomgbmdol  bOLLMSE  gOmow,  od
@gby@bol  2sdmygbgdol  9039dd@mds  Igodwgds.  Lofo®dmm
396J3ool 53 dgm@g mgolgosl ¢fmegdgh gergdso  brg@mo
9989J690mdol mgoligdsl. gl 3o@mds dmigdgeos YBmeEmdom:
Of o, i-Tn 3)
Ox,
a) goOmo -0 Ogby@lbol aob®om ULbgs j-9@0 @gLy@ Lol
bwgOgmo 989JOOMds 0b@©gdS, g.0.
o f
Ox,0x ;
©) Lofo@dmm g9bjios [omdmowygbl k>0 bodolbol g@mgge-
Amgob  g9bJiosl.  @m@s  k>1, [oddmgdol  FsLIFsdol  t-xg®
2ob@om  (1>1) [o®Imgdol Jmagemds obdpgds  F-xg@, g.0.

>0, i=ln j=Ln i#j 4)
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Sa0m0 o5dglb Foddmgdol dobdRodoll bOwom godmggner {oddmy-
0L 9989Jd9Omdol bOsSL. Gm@Es k=1, 335J3b Fo@dmgdols dygwdogo
999J090mds  [o@dmgdoll Ibodwo  IobdGodgdol  300mdgddo  (ob
3353t bggo@omo  2sdmdggdol  @sdmylogdemds  Fo®dmgdols
dol'd@odoliogob - constant returns to scale).

gL 30@mds hoo(gmgds dgdwgpo Loboo:

flex,txy,.mx,)=t* fx,,x,,...x,) (5)
@53gb0dg @glby@ Lol dJmbg, Godoydo Lofs®dmm ¢9b6j30gdo

S) MmO E3  dogem,  sbggg  dogMmgzmbmdogy®  ©mbgby
Lofo®dmm  bogdosbmdol  dmpgero@gdolbomgol  Lbggdobg bdodow
25dm0ygbgds Jmd-yamslol LofFs®dmem 9bjizos:

Y =axx; . (6)

o3 gubjosl  9fmegdgb  IP@E0deogs309@(bsd@sgeols
Bm@dol 2o5dm) LofFo@dmm gybjiosb.

aobobognsggh  dgdmbgggol,  Gm@Es x, =K godmygbgdbyero
dJoM0msEo  3o30@ ool dmEgmmoss (dJo@omswo Bmbogdo), bmerm
x, =L go@bogo Lodygdom dognobg wobsbo®ygdo. g.o.

Y=a, KL . (7)
d) (09503 Lo(s@dmm g96j3oslt dgdwgao Lobg ogl:
Y=a,+ax +a,x,+...+a,nx,. (8)

030 9.5, dpo@ogao(xsdol ge®dol godm) Lofo@dmm gubjiost
Fo®dmoagbl.  aowolbgans 39 @E 0303530900050  S0G0yY®
LoFo®dmm 39bJoobg brogds aogrmas®ondgdoon.

domens(3, (6)-©ob gogmays®omdgdom dJogowgdm:

InY =Ina, +a,Inx, +(1-a,)Inx,. 9)
ob9) 2o830035MmM SE0F Y BMOISDY.

9RO ogBomagbom  aobgobommm  jmoé-yamslol  (7)
39605, ols dgodangds hog{gomm dgdwgao Lobom:

r_ ao(ﬁja'. (10)

L L
ao6lobEaHads: Fomowgdl % oo % gbododoliow  FGemBol
IF>@m3mgoegamds s O30l 3o smopdgmgommds 9{mogdo.
3obLobmgMgds: % Vool godo@samol dfs@Imgdbang@dmds b
35306o@949390> 9fmwgds
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3obLobmgmgds: % Fomowl  3@meyiool a53mBggdol  3odo-

Ao B ggo0mds gimwgds, boam %—b — 30mEydEool godmaggdols
VHM3oF) ggoomds.

Lo{omdmm gybjioobomgol ag,ay,....a, 3505993 9oL 3myamdgb
ao9bols «9dzocmgbo 33°0OSRA M dgomom, 2odm0y969596
@gly@Lgdols s odmdggdgools JmEygemdsms wamom I 3M0g90L.

P.S.: 9bps aogomgomolfobom, @md, my Lofs@dmm iybijiools
3505d9BMgol  2obglobwgdogmn T) @®mol 3g@omedo  dm3zgdyeo
amomo 3§ 3003900l Loggydggerbg, dodob dowgdyeds Lofo@Imm

396J3059  dgodangds  dmagigl  Lo@(dybm  Igogrgdo  dmdsgano
amols  dgoemgoobomgol,  @mdgeroi boba@dgrogmboom  o®

NOENGAED %To -b.

3obLobmgmgds: Voo Bogms Lbod®ogangls, OMdge0o(3
Fo®dmoagbl Y= f(x,x,,....x,) Lofo@dmm gy9bjizooll wmbol Fomgdl
(30390bgs300L) 0bm3gseb@s gfmwgds.

PS. ®Omamd3  gbgoogm, o0bmggebBol  3bgds  Lofo®dmm
396Jzoobomgols, sbogrmaoy@os, aoby®dbgganmdbols dGywols (36gd0bs
Lo gogosbmdols 3y9bjioobomgols.

2obLodbpg@gds: Y= f(x,x,....x,) Lofo@dmm  gubjagool  E (V)
JosLEogAMdsl i-gdo Ggby®dLol dobgogom 3fmwegdgb  i-y®o
@gly@Lol M, begdywmo IFoMIMgdbe@mdol dgxomwgdsls ol A
bodgoee IFo®Imgdag@mmdsbmsb i—g®o @gly@Lol dobgwgom.

MY o X,
Ex"(Y)zﬂza_xi.f(xl,xl,...,xn)' (11)
3oblbobmgmgds: yzgas Ggly@Lol dobgogom geoslGoyg®dmodsms
xodl glmegds Fo®Imgdol garslEoyg@mads:

Ex (Y):zEx,- (Y)‘ (12)
i=1
dm@3obs:  dgodm{dgm  LOgmegds, oy o®s  Lofo@dmem
cg“aEd@oob bmyoo m3z0Lgdgdo @ B03e0035309M0 S SOGHOYMO
Lofo®dmm g9bjioolsmgols.

2obbobwgagds:  i-g@o  Agly@OLol  j-y@om  hobsgergdols
boghge bm®Isl Yfmegdgb godmbobyemgdsl:

Rffz_flij’ i,j=Ln; (13)
aodmdggdol Y dmEygeomdbols dygodogmdols 3o®mdgddo.
38m3565: MmOPsJBHM@0sbo  Lofo®dmm Y = f(x,x) gybjaoolom-

30l hodmogoeodgm mgm@os sbogmaoyg®o 0d mgm@ools, GmIgeroc
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hodmgogogodgm m@ ©mgmsmnosbo bodygdeosbmdol aubioobom-
gob.  dgolfogamgm 53  Fgdmbggzsdo  0bmggeb@gdol  Loby.
5533 30(3gm, Gmd o3 dgdmbgggodo hoboigawgdol bpgH g bo@dss:
_ExY x, (14)
Ex,Y x
©065d039M0 dmEgmgdo g3mbmdossdo
35b@ol 393omdols MdmMbsLJlgeroligdydo dmegeno

12

>J0dwy, doMomssw gobgobomsgwom LEsG0g9®0  g30mbmdogols
5dm3obgdl. gbans g3y ge @obsdoy®o sdmiEebgdol dglfogensl,
5by 0d sdmzsbgdobls, Lowsi gzmbmdogol aobdbsbwgdgao 3o65dg-
B®gd0 — goligdo, dmmbmgbs, dofmgds s 5.9. ogergds WOMdo
©> YOM0gAmJdgegdl gOmIsbgmmsb.
ogo(gmo  dob@ol ¢do@Boggbo  dmpgeom,  Gemdganbisg
9V 09696 @bmdsliJlgamoligdy®ls (cobweb model).
hogmgommm, Gmd ghmo LoJmbmol dobodby, D(t) Immbmgbols
a96Jcos s Y1) dofmegdol g9bdios, P) golol §@gogo ¢3ob-
Jogdos o6 P(t-1) golobls, w@mols Fobs dmdgb@olomgol.
dombmgbol 539b]ioo:
D(t) = 4, + 4, - P(¢), (15)
Lo, 4, 0o 4, 3gpdogo 35M5dgF M gdos.
dofmgdol 539bios:
Y(t)= B, + B, - P(t -1), (16)
bosi B, @o B, 3903030 3505393 gd0s.
aodmgbobmm dombmgbols S do{mogdol dO9gd0
Lod@RYgbg, AMAgol soLoboms @gAdbyg aobmoglgdymos gsligdo,
boaem m@OEobs@oms @gddbg ooy gdoms @oibgo.
3°M03g05m> 1

®oibgo
(v, D)

Gy G; dofmegdols

dooo

e\
=
Gs G,
o >
<O ﬂ
i o, |4[>[B]
P(0) P’ aslo (P)

bob. 9
®moMm-
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ol Jlgeroligdy®o dnwgaol s@Obo dpamdodgmdls dgdwoge do:

o) dofmpgds M9500096L  Folol  (3geromgdsby  ao® 33990
@og0m  (opg0sbgdom),  Lbgs  Lodyggdom, ©eygebogaro  Y()
Jofmgds  2obolobwg@gds  a9dobogao  Pl-1) golom, bogne
©Eggobogmo  D(r) dombmgbs 3obolobwgmgds  @ggebegero
aobom.

3) ymggeo 3gdomwol P(t) gobgdo aobpgds 03 ©mbyby, Gmd
2005b50Mgl dJmmbmgbs o dofmegds, g.o. 03 ©mbgby, GmIaols
©Aembsi D(E)=Y(r).

gL 30mEgLbo Mmobomsb gobarmgogds [mbosl{m@yga P* gsbl,

<1.Lbgopagotom 30Mm3glo gobdamswos.

Bl
1
aobgobognmm bob. 9 30m@Eglo ofygds G, [g@Fomopsb, @dmog-

Lo 3GmEydol gobo Gmmos P(0). gobsowsb G, (gd@omo dwy-
d5Mgmdl dmmbmgbols dOyol J3gdmm, Robo as0b®gds G, (96-
Ao@sdeg, gy folo ao0gobgds s 0b@PYds 3OMEYJEol dm-
Fowgools dm@gemds G, [goRomsdeg. Gopasb G, (go@omo dog-
d5Mgmdl dmmbmgbols 3Oygool bgdmm, hggh a35d3l 0dobg dg@Eo
LoJmbgero, gow®g dmmbmgbss dsbbyg, sdo@md G; go@omowsb G,
Va0 @Hoesdpg golgdo ©ogigds. G, [godoedo @gslo o0gobgds o
d3000gds bobs@bY JnFmgdgao Lomberols dmiEyemds G, §9o-

Gogodeg. odol dgdogy Jmmbmgbs  3gansg owgde@Bgds dofmwgdsls
©> gobgdo 0bOEgds o 5.9

@G53 mGozemo bsdydsem Ne 26
3dm35bs: Lofo@mdmm g9bdiosl gl Loby:

Y= (0025 0,) -
M0Q5BmOYgo Lofomdmm g9bjiools dgdmbgggsdo:

Y=f(,y,)-
053533 3030, @™ 5d dgdmbgggsdo:

R .= Eyl(f) &

v EyZ(f) M1
533 30390 2ob3LobrgOmm ganslFoy@mds y,y,-bmgols:

o . o y,.
Enlf)=g 7 Exlf)=g
o (»1,3,) S(9)

E,(f(7,5,))-
Roo B T ow _E Sy _Eoy

dy, A uw) (7 (» y)).M E, v f E oy
oy, »? v V2
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d93°8mFdmm  bLOgmegds 0y oMs  Lofs@dmm  gybjiools
JoG0M>©O ngoligdgdo, d9e0B03e00 353090 Lofomdmm
396J00bsmgols.

L. dmg9dgeo 3Omy]@ol Oomgbmdbols bOsLlmsb gHmow

9989Jd9Omds 0bOEgds, g.o.
i >0
v,
02320 400" ab dgeHodE0goGogo bofo®dee
396J00bsmgols
f:ao.ylal,yzaz; a1+6¥2— : 0[
a —
é:ao'al-y1 = a, - al[ J
1
a,,o, >0
Yi,¥, >0
obey:
;-1
Q- (&J >0 ﬁ)gg&

2

2. dmigdgeo  @glyg@bol  dmbdo®gdol bOsLbmsb  gOmow
>d Mgbyy@lol 9839 yemds dEoOwyds:

2
aJ:<O

1
3ohggbmm gl mgoligds jmo-eyamslol |ybjioobsmngols:

= 5 ()
=a, a,-(a -1)|— J— <0 ®.0.9.
8)/12 ’ ( ) Yo Y s

3. @mdgerodg Agbyg@lol GomEgbmdols bOEsLMSE gOmo©

Lbgs @gby@bol 9839JB9O™ds 0b@gde.
o’ f (y JM { y ]
=a,-a, (a -1)|—+ : =120 @.
0y,0y, P ( ) Y2 yz o
3ohggbemm, @md Lofomdmm gubjios gOmags@mmgsbos
f(KypKyz):ao '(Kyl)a] ‘(Kyz)l_a] ZOCOK%KHZ1 'yla]yzl_al :Kf(ylayz)

.00.9.

bogomaco der:

530 mdomo 3t 0bedos@y@o A g9a09bools dgomools
2odmygbgdomn s  @mdgerodg  [o@dmgbols  dmboigdms  dsbols
dobgegom, oogm, o3 [o@dmgool  Lofo@ddmm  3mb-yamsbols
396J30s s dgoblogegm  Lofo@dmm  gybjiool  geosloyg@mos
393030 sbsbegdoms d0ds@m.

173



093> 27: goan@sboll mobdodggdyano dosbamgdols 3@m3gLo
gOmg-2399@a3030L dmegendo

d5300930b6m3039M0 sbsgnoboli g m-gOmds gydgdogdgends
.  gogo@olids  dgodydogs  bob@ol  bmgowo  ggmbmdogydo
Fobolfm@mdbols  mgm@os. o3 omgm@ool  ©gdmblE®o®gdbolomgols
aobgobogrmo  gamey-a9@g030l  domgds@ogyg®o dmwgmo  Lbogmbom
b0Mg9d0L  ob  33900L  3OMEYIBgool  dob@ol  gybjizombodgdols
> gdobomgol, Lowsi ,,Lods@meosbo  s9diombolb@o  somgdls
45b@ol  dmbofoamgms dmmbmgbsls ©s dofmEgdsl, ©o goligodols

o( 9300  ob  ©ofggom  o@gag@mo®mgol  yopgo-aogowasl,  mdmdbsls
JLgeroligdy@o dmwgemols sbogrmyoy®s.

b0l gybJiombo®gdols  3Gm3gldo  dmbsfoerg  Lodgy@bgm
bgd0gdBgde ogo®@bomm m@o Lofo@dm, @mdgemsasb mommgyao
Rmol  m@oggbmgol bgerdolbs(gomd gOmspgam @gLbyall (doy.
gm@bogr  dOMIsL), ofo@dmgol Lodmermem dJmmbmgbols s gOmo
dobds@gbols  momm  Lobgmdol  3Omeyiaosl, @mdgeoi  od
dJombmgbol  Lopobl {omdmowygbl. dggmebbipgm  sg@gmgg, @™
25(33s bmO30gmgds gOmsg@mo dygsdegeol — o9diombol@ols
dgdggmdoom. o3  dgdmbggzsdo  g3mbmdogydo  gogmo  oSbg
2odM0g @ gos:

>9JdaomboliGo Ll dmdbdomgdgaro

@9b@ Lo

<{ boVoéam Nel — S(ﬁ(v)g)”g]j(’)nl

bb%’é(ﬁa(") Ne2 P 3@mesddo 2

bob. 13

sbgmo 93Mbmdogolomgols A gbyalgdols 3@ 0dogr®0
2obofoggdols 3@mdagds Bm@IYmodEgds dgdpgao Loboom:
o) 30mEediool dmmbmgbols s dofmegdol 30Mmdgdo:

v =FL)z (1)
bos@, Y o@ob i-g60 Lofoddml 809@ 36m9ddol dofmegdols
InEemds, Y — -6 30m09]bg dmdbdsdgdmol dnmbmgbols
dogyemds, LY - oglndbdy i@ Lofe®dml  dmobmgbols
Jogemds, F; — i—g@o Lofs@dmlb Lofs@dmem g39bios.

d) Agbyy@bol dofmgdols s dmmbmgbols 30MmMdgdo:

ZzlLfSLS; (2)
2) dJmdbdo@gdenols dog® 805]1)08(_)%0(4)3?)‘3;@0 Lo gogmosbmdols
396J30s:
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Uy, v") - max (3)

Lowoi, U dmdbdodgogmols Lodggdaosbmdols g9bjioss.

d960dgbs: 350 gdsBodn®  93mbmadogedo dmmbmgbol (33e0o©gdo
>m0bodbgdosh d  sbmmo  (obyenr. Demand -dmmbmgbs), boam
dJo{mgdol 3gmogdo s sbmmo (0byen. Supply —dofmgds).

gbowos,  ®mI  gOmP-ag®goE0L gl sdmEsbs,  GmEglsg
dm3999005 Fi bLofo®dmm g9bjios @o bodagoemosbmdols ¢9bjios
LEoEombosdygao  gg3mbmdogol  3o@mdgddo, dgodgngds  Sdmoblbsls
dmb@g-go@@mls dgonmeom. dodmens(s, 9O Y-29G 30300
LEoEombodygemo  dmwgmobomgols b3gioseyd  g9bjiost dgdogao
Lobg odal:

2
I =U(Y(’,Y2")—ﬂl(iLf -r +rfj (0 = F (L )+ 2] - A (v =By (L) + 22 ). (4)

i=1
hggbl dgdmbgggsdo 4, =& (e - gbogogoms ©s3dsgmezoagdols
LobylBgs); gdis 9bos gogomgosolifobmm dgdogao 30OMdss:
©) i-9@0 Lofo@dmlb dmpgdol doglbodobsizos:
7 =P-F(L)-w-L (5)
bows3, P o®ol i-g@o Lofo@mdmlb 3®mwydiool gsbo,
W — Léagbygalbol gobos.
dodob, LEs>EombsdYao g3mbmdogolomgols L3gioseyg®o

39605 doowgdl dgdwgy Lobgl:
1=1'+Yx,. ©6)
i=1

09d3o, go@slol  Lodsb®m 3&)(;)(33150 ©0bsdogyg®  3Gm39LL

> gal, oby dmggds ©o Gobgdo O™l  gybjiogdos, olgay,
Amam@3  dJombmgbs s dofmpgds;  dmggdol  godmbobyegdsls
d9dega0 Lobg odgl:
7,(1)= B(0)- F (L (0)-(0)- L{ (). (7)

od odm35bol IMbEg-goMeml dgmmpom sdmboblbgmem @Ml
gmggen  dmdgb@do  8394bgdbmws  Lbgowslbgs (6) ¢9bj3ogdo @
dogero ©obsdogol goblabmg@obsmgols dmpago(ggos d@sgom(3games-
©0obo g9bJi300l 306030boMgds, dsLmsb Mol Logdomo a@dge
dmbogggmdo  dgbfogamoliols  3geswgdol  @oigbgo obg Lidsgswe
03320905, @md 5dmblbs dJmombmgl Lodobobm @mols @sdwgbody
Losobs.

od odmobol sdmloblbgmo asodmoygbgds gogr®@slol dodwgg-
Amdomo dosbermgdols dgmmeo.
>) 99J3ombolRo i -9@ Lofo@dmbmgol sFgbgdl dolo 3@meeyiool
P(r) aobls s dobo @gbydLol Wi ¢obl, spdgmgg dmabds@gdganls
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536mdgdL P(t) ¢3olls s dmmbmgbols golil, @Gmdgmoi bwgdyao

Lo gogosbmdol Gmenos.

S, ®)
o)  I-g®o  Lofo®mdm dobmgol dogdygmo  @olgdowsb odmd-

©obs®yg, o00hggl  [o®dmgdol bodyxgdols ©s dgogagool olbigm

Mob{ymdol, GmIgeoi dobo z,(r) dmggdol odbodobo@gosls sbgbls

©> o3 mb{ymdsl goblsboanggmsw Fodywagbl oyjiomby@gol.
) dmdbdo®gdgeno i -9@ 3OmEY]Bbdg Immbmgbsls dgdwgabsod s

sabowgol: w9y i-9@  3OmEY]ddy  Joobmgbs  o@  s@ol,  ob
dobdo@gooll brg®ymo Lo gogosbmds bwgdygam bodxgdbg bsj-
@qb605, dodob dmdbdodgdgano  dmmbmgbol  Lowowgl 93380 gers©
A™ggdl, [oboowdogy dgdmbgggsdo, ol Jmmbmgbsls 3m@gGomgosls
939090L, begOymo Lodggdberosbmbols s brgdymo bodxgdols
Lbgomdols 3Gm3mAGogme ©s gogase oFglgdl Yi()—ol dglo-

b5dol Lowowgl.

©) >9J3ombol@o bgeddmgsbgamdls Jmmbmgbols ©s dofm-
©gdol 3obmbon ©s 3gmol #slgol (0sbdodwgg@yero dmbobyxgols
30m3gLbo). m9 30mEY]ddg Jnmbmgbs smgde@dgds dofmgdsl, ol
sL{93L gobl s 3o@odom. mydEs 03 dgdmbgggsdo, Gm@Es ko@do
dJombmgbs  go@ygmazomos  ©@s dobo  dgbodsdobo  goligbo  byanols
A0, Boligbol s@Lgdye ©mbgby Jggdmm s ggs dgydergdgemos.

93™bmdogy®o  bAol  mgm@osdo, Logo®@gm  gok@mdobs  ©o
130bsbligdols >bogr0obdo b'do@ o 20dm094gbgdgb bmg oo
Foboslfm@mdols dogeols 9JO»M-gO» boo@bobgmdsls -
MGOLgJAm@osh  Jmegeml.  opo  [obs  dmegmolsgsh  0dom
2oblbgogogds, @mI:

o) dsldo  Dgygobogos  [Fo@dmgdol goJdmmdgdols m@o  Loby
(go30@o0 s dOMIs);

d)  ygmggo  bofo@dm  gobobogogds, @mam®3 (o0 399
©O5MY0;

a) domo  Lofo@dmm  gybjiogdo  szdeymgomgdgb  Fo®dmgdols
dol'd@Bodol  gOmgyebg  Iyedog  93uago0l  @AmL  dofmegdsls
(TOg030 g0mggo0mgsbo g96Ji0960).

Fbslbfmegmo g3mbmdogols 3530mg3006m30379@0 Sbsgnobo

“popo  ©0g30gbools”  @obsfgobos dmgargbs, @mdgenlisi  dgd-
amddo “dogo Mm@ Tdodomo” gfmwgl, GmEs gohmo ol gobdsgenm-
5o 03gM0godo  dmbps  gobosbo  Joomwgdol  gy@Lols 3@ sb-
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AOMFYEo  go®bs. 53  dMmIgbGHosb  g3mbmdogydo  sbEMgbgbdols
5356L(39b60bg bgmgemsliogy®o mgm@ools bogersw godmgows
3906Lol 3530mg3mbmdogygdo 3mb3gnEos, M®dmol dobgwgomsis —
Jomgbaa  Jgambgmdsdo  [omdmgds, gobofoangds s  bomagdo
33605 bmg@gds gomo  S8@9500939am0  RoJBMGor — JHmZbaa0
d9dmbogarom. gomgbygao Jgdmbogomo gobolobwg®gds 2997405200
dnbmgboo. 353609930bmdogy@  mgm@osl bdoGow dgdmbagangdols
0 g@dosl yfmogdgb.

>bobodbogos,  ®md oo  ©g3@gLost  500bodbgdmws
»3906L05bga Mol holisbgom do30Mg3mbmdogy® mgm@osdo, beenem
930b60mdogol  sbogroboll odydo  dob obofgobo  oyom
3000 9d5® 04900 3530Mg30bmdogol wodswgdsl.

aobgobogrmo gOMgbygmo dgdmbogmol goblobwg@ol dgdsbobdo
989J6 900 Imnbmgbols 30063030l Loy ydgge by.

983J6 00 dmmnbmgbol 360bz030l dobgogom, @MOlL ULsidsme
dogang Igomgegdobsmngol, OmIgenbgi Lofo®dmm dglsdangdenm-
doms  ©mbg  dm3gdymo omgangds,  gOmgbygmo  dgdmbagoeo
(35dmTggdol ©mbg) gobolodbmg®gds dmmbmgbol dogd do®mgswo
35JBH™magdom.

‘dggoa0bmm dglsdsdobo dosmgds@ogyg®o dmwgao. gOmmdaogo
9939Jd 900 dmmnbmgbs D asbolobrg®gds, @mam@i C dmbds®gdobs
> 1 0bggbBoiools wodo:

D=C+I )
bodmdbdo@gderm dmmbmgbs dgodangds sbg Fo@dmgomaobmo:
C=a¥+4, (0<a<l) (10)

Lbowoi, € dmmbmgbss, Y — 9omgbyeo dgdmbsganols {Og0g0 139b6]-
(305, a > A 3obl@ob@gdo,

A=(Loo@lgdm dobodydo)x(Izbmgdgdms Goibgo).

P.S.  C=Consumption (dmbdocgds), I[=Investment (go30@ogo-
©545bwgos), D=demand (dmcmnbmgbs).

a-3093030963L glmegds dmbds®gdolowdo domgioagds;

A—=1— 15d5bm dmbdo@gds.

0639LB00gd0L  aoblobwg®olomgols  gobadygdermm  0bggli@o-
300l ©sdmyz0egdgero bobosmol dodmmgbom, Aol msbobdsw
0639LB0E0ol  mby  2obolobmg®mgds  Lofo®dml  dgdmbagergdols
Ombolygsb  2oM3g3ge oo  ©sdmyzoogdgao  a®dgergo©osbo
devgrmobom.

Fobsbfm@gmo Y* ghmgbyao dgdmbogogo, Gmdgmoi 3oby-
bemdl dmmbmgbols s dofmegdol Gmemdols 30@MdsL,

D=Y* (11)

3obobobwg@mgds, OMAMAE 3obGmagdols sdmbsblibo:
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C+I1=Y (12)
@mdgeoi  dJoowgds (9) ©o (1)-psb. dgdwga, (10)-ob s (12)-0b
aomgoaolifobgdom dogowgdm

aY" "+ A+1=Y" (13)
(13)-ob sgogmse dogomgdm
A+I=(1-a)" (14)

@53 mogol dbcdog dglodangdganl beol Y* {mbolfm@ygamo
9OH™M3byero dgdmbogmols 3mgbsl,

V' =(l-a)'(4+1) (15)

256LsbEg@gds: godmlobgmadol (1-a)' — GmIgemoi ag0hg96901

0639bB030gd0L dmgdyco bEEol 30MHMmdgddo @sdogbo 0b@Egds

9gOmgbyeo ‘dgdmbogoano, 0bggLEoiools 90 G03@ 045G ™A 0
gV mgde.

Fobolfmambols {goRomo Y* sbobogl dodpobodg Lsdgy@bgm
>JBogdmdols obgm ombgls, GMdgeno(3 250 33990 oen s
53354mgzoggdls  Lomyxobm  dg9y@bgmdgdols o  LoFo®mImgdols
dJombmgboangdgdl, dopa®ed o@ gdmbgggs Lolydgger ©mbgl —
Omdgol  @Ombsg dooef(gzs LOgmo  ©olsddgds.  sdo@md,
Lobgerdfoxam  3meno@ogol  dobsbos  0bgglEoEogdol  dmbopgom
dos@{oml  g@mgbygmo dgdmbsgamols oligo Y, >Y" ©mbgl, ®mdeols

OAmbsi 9bOybggerygmaommos LOYmo olisddgds.

@58m6G33mGonao bsdydse Ne27

sdm3obs: 0b3gLE0E0gd0L  Iga@odenogs@m@ol, 0bggl@oEogdols
bogogolbs > Lodobm dobds@gbols 30630900
db0dgbgenmdgdolomgols  godmgmo  [mboblfm@ymo  g@mgbyano
‘dgdmbogogo.

dobds@gbdobo@do do@gzoemgds

a=0.35

Lodobm dmbdo@mgds

4=12-10°

0639b@ 0300

1 =150000

s>dmblbs:  godmgmm  {mbsb{m@gmo  gomgbymo dgdmbsgoao,
Omdgeo3 3odmomgegds ‘dgdogao Ro@dygeon:
Y(D=(1-a)" -(4+1)

dol'do 3mbz®mgByyero 3b0dgbgemdgdol ‘dg@oboom dogomgdm:
Y(1):=1.847x10°
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30my®sds Mathead-by

LoFyolo dmbszgdgdols dg@obe:
dobds®gbdobo@do dJo@gzoegds
a = 035
Lodobm dmbdomgds
A=1210°
9O™M3byero dgdmbogoao:
Y1) = (1-o) La+1)

2052303bg gbgoogm, M9y OMam@ 033 gds gO™Mabyero
‘dgdmbogoao 0bgglGoEogdol Lowowol (33eoegdol wOML:

1.846154-10°

Y(I) 1.8461539-10°

1.8461538-10°
0 2 4 6 8 10

20dmgmgo@mm Fmbsbmdygemo g@mgbyao dgdmbsgsgro
0639LG0E00l 3mbg®gdero 360dgbgemdol OML:
1 := 50000

Y(I):=1.847x10°

boboboob hobl, G™3 0bgglbBoiogdol Lowowol bOs 0fg93L
9gOMgbyero dgdmbogaols bOsL, ob9y [mbosb{mdygao 9@ mgbyao
‘dgdmbogomo 0bOgds 0bgglBoEogdol dmbowgols dgogaysc.

30my®sds Matlab-bg

alfa=0.35

A=1.2*10"8

1=0:10;
Y=(1-alfa)*(-1)*(A+I);
plot(LY,'r")

grid on;

xlabel('T")
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ylabel("Y(I))
1=50000
Y=(1-alfa) (-1)*(A+])

dgg3900:

1.84682

e N SRR S A— -
MBS R R = —
77 NSRS SO N el a—
= 1.8462 ----------- ------------- -------------
MU . SR N—
IR S B S —

8460 |- A S

1 o6 I i I I
1]

I= 50000
Y = 1.8469¢+008

bogomaco deo:

3dm3bs:  0b39LBH0E0gb0L  IgaEodgmogs@m@ol, 0bgglEoEogdols
bogogols > Lodobm dobds@gools 3630900
dbodgbgermdbgdolomgols  godmgmm  Fmbosl{maymo 9@ mgbyeo
dgdmbogogo.  Lododm  dJmbsigdgdo  dmodogm 305 ]E 030050
25dmdobs®y.
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09ds> 28: 930mbmdogg@o bOeol 3s3GmImegemo

Fobs  Fobosl{mege  ds30mggmbmdogyd  dmwgando  hggb
gngeoom, @md Lofo®mdmm Loddansg®ggdol dmEygamds dygwodogo
boopgs. gl ©5dggds,  @go@my@msb  sbgoms  dbmgrmo  0d
dgdmbgggodo, o9y gobgobognsgm  bogombogry®o  dgy@bgmdols
93060303900 Loddosbmdol @mols dmgang ‘o gogdls.

aobgobogrmo  ‘dgdmbgggs, Omeglsi Lofo®dmm  Loddasgdggdo
0639LR03E0gd0L Fyommdom 0b@Pgds. gogomgoolifobmm sa®gmgg
39303 ool @oaMmmggdol dglodangdamdbgdo, o3 dglodamgdamosls
0dggge 53ogMm §30bmdoz®mo b@ols do3dmmdmwgeno.

aobgobogrmo  {@xg0go, gOmagodmgebo  Lofo@Imm  g9bios
933209800 dsLdGodom.

Y=F(K,L); (1)

booi K gododogos, L — gm@abosgro dOmds, ¥ — g@mgbyeno

‘dgdmbogomo. (3gero@se dgagoderos aobgobogrmo  3o30@smsmdn®-
300 mds> (Bmbposmdyg®goammds):

=k @)
09, yogomas®omdgdm (2)-U, dogowgdo:
Inx=InK-1InL. (3)

3030300 (3) gobBmagdol ®m@ogg bofoemols [o®dmgdyagdo
OEAOMOM:
x K L.
KL )
>0gb0dbem y:% — d@mdol I[o@Imgogyy@mds. (1) Lofo@Imm

396J3ool  {OR030 g@mygo0mgbgdosb  godmdoobs®g  dgygodenos

og3{ 9O mm
Y K
s F(f’lj; ®))
Lbbgobso®o,
y="F(x]) (6)
(2)-0L pomgogolifobgdom dogomgdm:
y=f(x). (7)

gbeos a535390m0 dgdagao ©sdggodgdo:
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S) OMOL mommgymo dmbsjggmolbsmgols g Mmgbymo ‘dgdmbog-
aols 2odm9ggbgdgeo bofoaols Fogro, 5by og®mggbdbols bea®ds
Y-C
S:Tzconst, (8)

bo@m, ©Omol  gmggeo  dmbsiggmobomgol  og®mggdbyero
39303 ool bOws, wOMol dmiEgdye dmbsiggmdo aodmibowgdaao
sbogro Loobggb@oiom dmmbmgbols Gmenos, g.0. I=K.
d) dOmdol dofmwgdol bOs n—oll Femero dyedogo Lowowys,
@53 @Yol Lobom sbg hoofg@gods
L
Lo ©)
9:0. n- 3oEbogo dOMdol bAols Fgdsos.
Jomgdygmo 059390900056 25dmAEobody, godmgoygobm bOwOl
do3Mm93mbmdogol do@oms 2sbFmagdsl. (9)-0l pomgogoolifobgdbom
(4)-©5b dogowgdom:

)'szg—nx (10)

09 aogomgomolifobgdm (2)- s dbgoggermdsdo  dogowgdm
I=K 5d39doL, 239690

K I K I 11
X—= =— —=—'—

K K LK L1 ~§=%-—:y-s=s~f(x). ()
Lboo@sbs (10)-0l gomgogmolifobgdbom gmgdeyganmdm:
x=5-f(x)-nx (12)
(12) Fomdmowygbli g3mbmdogy@o bOwol ©0bsdogy®d asb@mangdsl.
(12)  aob@mergdol  [mbolfm@mdbol x*  {gdFoemo ggodenggls
AOmdol Fmboslfm@ye jo30@sms@dydgoemdsl:
s-f(x*):n-x* (13)
(13) 2ob@magdowsb gogdymmdm ©sbsddgdol bEwols Fgddols
db0dgbgermdbsls:

_Y
L

nzs-ffx*)’ (14)

X

@mdgool Ambsi doow(ggs g3mbmdogy@o Fmbsb{m®mmds.

n58mHS5GMGogamo bodydse Ne28
5dm35bs: Amzgdyaos Lofo®mdmm gybiios

1
0 =2 X+ 2

>dmbligbom ‘dgbadsdolo 93M™bm30 3960 bOEols ©0b5d03y@0

2obBm@mgds s 03mggm:  3odo@omomkyg@gommmdols Ymbslfm@dyao
dbodgbganmds M9, woa@mggdols be®ds s=0.4 s slsddgdol bl
®gd30 n=0.3.
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>dmblibo:

aobgoboermm, 196300l bodgbgamds s Lofyolo dmbszgdgdo
f(X) ::%-X+2

s: =04
n:=0.3
5>dmgblbso dgdogao gob@mangds:
s-f(X) =n-X
l«X +2= nX
3 S
2
X:=
n 1
S 3
dogomgdm dgogaL:
X =438
3Oma®@sd>s Mathcad-byg
f(X) = %X +2
40
f(X) 20 —
0 |
0 50 100
X
n:=0.3
s: =04
X:=1
Given
[3%2)
S| —X+2|=nX
3
Find(X) = 4.8
30my®sds Matlab-bg
n=0.3

183



s=0.4
x=solve('0.4*(x/3+2)=0.3*x")
X=0:100;

fx=1/3*X+2;
plot(X,fx);xlabel('X");ylabel('f(x)")
grid on;

g g3900:
>>

n =
0.3000

w2
I

0.4000
X =
4.799

>>

40

0 20 40 50 80 100

dogogm, @md [mboslfm®yemo godo@omomdyg@gocmmds go®ols 4.8-1.

bogo@aco deo:

dm9d9eos Lofo®@dmm g96]ios
£(X):=8-X+29.

>dmblgboon  dgbodsdobo  g3mbmdogydo  bOwol  ©obsdogy®o  gob-
AOEgds  ©s  03mggm:  3o30Hosedg®goemdols  Fmboslfm@gao
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dbodgbgenmds M9, woa@mggdols be®ds s=0.2 s wslsddgdol bl
®gd30 n=0.5

093> 29: gmb b6g0dsbol Fmbslfm®gmo g3mbmdogzgdo beOl,
0065303960 ©s@O2M>dm@0lo dsasblol dmwgeo

hggb 9339 ‘dggol§ogergm 5O dMm@0bo doensblols
wgmb@Boggol  LEsEomboGygmo  dmwgmo.  gbaos  asbgobogomm
©0bsdo3y®o dmgeno:

X(t)=ax()+ (), (1)
Lowoz, Y1) Ladmemme dmmnbemgbol(s@sfs®@Imgdbomo ©sbodbyga gdols)
39J®™@00, X() - 930603030l Lgddm@gdols asdmTggool ggddmeo,
boam A —@Fg9dbmemaoyg@o ds@G@ozos.

Lodmenmm dombmgbols 39J&m®0 V990 @0
33306963 0Logob C(t) ImbIs@gdol g9ddm@ols s () 0bgglBozools
39JB™@0bogsb, g.0.

Y(t)=C(t)+1(z). (2)

09, ©Amol ¢ Imdgb@do  Ygdmlogoanls  sgboTbogm  F(t)-mo,

dodob  mgmsmol  (ggmbmdogol  LgdBm@gdol) 3o 390
Lobgmdgdols dmbdodgdol i3ybjios dgodergds hogfgdmm obyg:

Ci(e)=h-F () (3)
F(r) 999mlogogmo dgodangds Jo@mImgomaobmm g96d300l babom
Fe)=PX,(0)+ P.X,(0)+..+ X, (1) 4)

bogogs, P >@oly =960 mgsmobamgol ©05d5Ggo g0

©0M g0y gools Foano.
dgLodsdolbo 39d@m@gdol dgdm@Eebom dogowgdm:

hy A
h P

(3) ©o (4)-ob 3rgdgmmdn:
C(t)=h-pX(t). (5)
09, =900  sMAosb  domgdygmo i-g@o  Lobol  jodo@sgols
Lbooegl, Gmdgaoi syEoggdgeos j wmgmasmol {o®ddmgdobomgols,
>50360dbogm b, -0m, 35Tob jo3o@omols jmgn0309bGgdol B ds@@ois
hoof{g@gds dgdgaboo®sg:
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b, b

399093,  3>dmgoygbmm  Lodyggerlmb-3oglbol  3mbignEos. o9y
©539d390m, OMI 3OMEYJ300l 3odmdggdsls s sdobmgols syEoeg-
dgen  3o30@o@l  dm@ol  sOLYIMAL  3OM3M@ oY ©SIM J0wYbY-
@gds, 35dob dogowgdm, G®A ¢ @OMol dobdognby i-9@ mgEsmby
((—9®0 @osdyols Lombgano) LoobggbEoiom dmmbmgbs

10)= Y 5,A%, (1) bogo AX, ()= X, (+1)- X, 1) (6)

(6) aodmlobyargds  dgodangds  gowsofg@ml  dos@@oEyero
Lobom:

1(t)= B(X(t+1)- X(¢)) (7)
(D) ©> (2) yobHhomgdgdowsb 33gdbgds:
X(t)= ax(¢)+C(e)+1(z) (8)
d9d©gy (5), (7) o (8)-sb dogomgdm:
X(t)=4-X(t)+h-PX(t)+B-(X(t+1)- X(¢)) 9)
5by
X(t)=(4+h-P)X(t)+B-(X(t+1)- X(¢)) (10)

L{mege gl s@ol  @obsdogymo  s@amsdm@olo  Imegaols
doM0M>E0  AobEmagds. od  IsH@oEymo  AobBmegdol  sdmblibom
dogowgdm, GmI

X(t+ 1) =B [X(t) - A-X(t) - h-(P-X(V)) + B-X(1)], (11)

r580G3BmG0aao bsdydser Ne29

58m@35bs:  godmgmm  dogosbo  2sdmdggdol  sbogmo 293
©0b5d0399@0  oMamsdm@olo  dmpgmobomgol  mg,  dm3gdygmos
do@®03900 AMol {obs Losbas®odm 3g@omwoblsmgols:

10 20 30 0.1 0.4 0.15 50
B:=| 30 20 10 A:=|03 04 0.05 X:=| 80
20 30 20 , 02 0.6 0.1 , 60/

100 0.8 0.05
E={010 h:=| 09 P:=| 0.13
001 0.5 0.1

b b 9

bosi, P ©od5@gdgmo  @wo®gdygangdols  Fognos  i-9@o
mgmsmobogol, X)) —  ggmbmdogol  Lg@m@ol  asdmdggdyeno
M350l 3gddm®os [obs Losbyo®modm 3g@omwoblsmgols.
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hggbo 3dbodgbganmdgdols  holidom obsdogy®  oGAmSTmEA0L
dmegendo, dogomgdm:

X1:=B 1-[X—A-X—h-(P-X) + B-X]

51.345
X1 = [78.562}
60.14
LoFyolo dmbszgdgdo

10 20 30 0.1 04 0.15

B:=| 30 20 10 A:=[03 04 0.05

20 30 20 0.2 0.6 0.1
100 0.8
E=l010 h:=| 0.9
00 1 0.5
0.05 50
P:=| 0.13 X:=| 80
0.1 60

Log@mm 25dmdggdol, sbogro ggadols aodmbomgmgaro gm@Iygens:

30ma®sds Mathead-byg

Xl =B '[X-A-X-h(P-X)+ B-X]

51.345
X1=| 78.562
60.14

3Oma®sds Matlab-%g

dgoJ3900:

B=[10,20,30;30,20,10;20,30,20]
A=[0.1,0.4,0.15;0.3,0.4,0.05;0.2,0.6,0.1]
X=[50;80;60];

E=eye(3)

h=[0.8;0.9;0.5]

P=[0.05;0.13;0.1]
X1=B*(-1)*(X-A*X-h*(P'*X)+B*X)
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B=
10 20 30

30 20 10

20 30 20
A=

0.1000 0.4000 0.1500
0.3000 0.4000 0.0500
0.2000 0.6000 0.1000
E=

S O -
S — O
— o O

h=
0.8000
0.9000
0.5000

P=
0.0500
0.1300
0.1000

gg3900:

X1 =
51.3454
78.5615

60.139
>>

bogomaco der:

3030300  dogrosbo  godmdggdol  sbogo  agads  @obsdogy®o
s@msdm@obo  dmpgmobsmgol o9,  dmEgdgeos  doF®03960
@m0l [obs Losbaomodm 3g@ompobomgols:
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10 20 30 0.1 0.4 0.15
B:(SO 20 10} A:[Oﬁ 0.2 0.05}
20 10 30 0.2 0.6 0.1
L oo 0.8
E:[O 1 OJ h:={03
001 0.5
0.5 80
P:[O.M] X:[SS}
0.2 65
bosiE, P ©0035¢gogeo  0odgogmgools  fogos  i-g@o

mgmsnobngol, X(@#) — g3mbmdogol  LgJdmdol s5dmdggdeyano
M350l 39ddm®os [obs Losbyo®modm 3g@omwoblsmgols.
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093> 30: grm@gbzol domgdsGogg®o Imegao g3mbemdogsdo

(o®dmgdol  dJmapygermdol 3gmogngbols  Lohdo®dg  Foaos,
3OmEygJcool  @gogobooopsb  sdmboggdls o Fo@dmgdols
obobo®xgol dm@ols Lbgomdole.

09, d9dmgomgdm s@bodgbgdl:

X — {o@dmgdols dmEygamds;

Yy — ®95@0bgdgemo 30meyJiool dmEgmmds;

a— @go@obgdymo 3OmEYJgool gOmngyeo JoEymdol gsbo;

B o03dmgdyano 3Gmydicool gomgymo dmEgemdbols
0 30m®oM oo gdos;

do'dob, d0go0gdm ob@mangdsls:

x=a-y-f-x. (D

Agoeobgdgmo  3OmEygJaool  dmEygmmdols (33eroagdols
LohJomg BME0o, Vo®dmgdyeoo 3Omydiool dob@om
JbOYbggergmazol  dmEg-armdols, 2oxgegdol  JmEygmmdobs  ©
Fomdmgdols gl Lgdom 9b-@9bggaymaols RIOTERICIUINION
Lbbgomdole.

09, d9dmgomgdm s@bodgbgdl:

ro- 8B@0L dembmgbol gmgn030gb@do [o®dmgdol x dmEygenm-
dobg;

7 - 33bOol goxg@gools 3mgxno0gb@Eo;

5 - [o@3dmgdoll @dglyy@lgdom 9b@Ybggeymazol 3m9x803096@0;

z - (o®dmgdolbomgol Lododm @gly®dligdol dmEygemds;

dodob, dogomgdm aobFmangdsls:

y=r-x-y-y-6-x-z. (2)

Foddmgdol  @gbyy@dlgdol  dmEygemdol  3gmoggdol  Lobjomdy
Am-gos,  Mgbyalgoom  PbOYbggmymaol  JnEyg@mdsls @
sbs@xgamo @gly@dbgdol doEygmmdsms do@ols Lbgsmdbobe.

09, dg3mgo@gdm 50bo'dgbgdl:

b — Ogly@Lgdols bodyxgol LobhJo@ol gmgxnoiogbdo;

I — (o®3dmgdol @gly@dlbgdomn 4b@ybggamymazols 3mgxno096@0;

dodob, dogomgdm aobFmagdsls:

é=—b~z+l-x~y. 3)

>d@ogo, dogomgm Lofomdml gybiiombodgdol dsmgds@ozydo
dmEgeoo:

x=a-y-f-x;

y=roxey Y-8z (4)

éz—b~z+l-x-y.
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Sgogse  d9gb0dbogm, @md  (4) gob@mangdgdo  gdmbgggosb
m®gbiol domgdo@oiy® dmwgel, Gm@3o

a==10; r=28; y=o=1=1; b=".

o>d  d9dmbgggedo, oby®  Lod®EFYgbg dogowgdbom  @m@gbiol

SAOSJBHMOL, OmIgaoi  BOsJBHoy®  Lod®ogmgl  Fo®dmowa gbl.
m@gbiol sG®sBmmo dggbodsdgds wgdgmdobo@gdbye Lol gdsdo

Joelol {o@dmJdbol dmgergbsl. 53 dgdmbgggsdo, (o®dmgdols o
Sdmbop gdol dmEyermdgdo so®es dodmgopo s Lol gds dowols
ba®g30Log9b.  5do@Gmd,  Lomdgh  msgo  soMoemb  LobGgdol
Jomlg@o dy'domdols 099039, 3oMdgRMgdols ‘dgbodsdolio
©0bsdogols Lody-segdom.

@n58m@G3B G0z bsdydsem Ne30

53m356s: 5dmbligbom cm@gbiol aob@megdoms Loli@gds:

L) = 10- y(t) - 10- x(t)
dt ’
%y(t) = y(t) = x(1) - Zt) + 28- x(1)

%z(t) = X(1) - y(t) - § )

9O G gsbo bo’Vgobo 300mbgd0L dgdmbgggsdo s 2odmojgerogm
@m@gbiol 9i3boyg®o SGHOSJHMO0 Boby®d LoddGYgby.

S>dmblibe:
m®gbiol gobBmagdoms Lol gdol spgomoee sdmgblbom
Mathcad-ols dg9dggmdom.

30my®sds Mathcad-bg

m@gbiol aobGmergboms LolEgdsl, Mathcad-bg dggliodsdgds
doB @030 Mm3g@MsEm@o:
10-Q, - 10-Q,

D(t,Q) = —Q7QQy+28-Q,

8
P Q-7
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Npts :=300(

1
L:= Rkadap‘{[ 1 ] ,0,50, Npts ,D]
1

_ L<0>
i)

v)]
Y

5dmboblbgdo dmozgdosh a®oxgoizgdols dgdggmdom:
i:=0.. Npts

N < % ~
LT
S S o

20

60

40 I n

20 [~

0 10 20 30 40 50
15
5353mm ©obsdozol Ly®omo Foby® Lod®EGYgdby:
€ :=0.00]

R<o> X

RV x4
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S(o) :
v
(o

T<1> =7Z+¢

dogowgdm @m®gbizol YEbosyg®o sA@sJBm@ol Lydoml, dmdgeoc
‘dgglodsdgds wgRg@dobo®gdyamo LolEgdol Jomlby®d @gg03do
aoalgansl, dog®sd Mmdgaroz o3gerols “393g9@sl g@mgodols”
dobsbyemdsl r-30M0d9B®ols 3ge00egdolisl. do3 dgglodsdgds
35b@0l Jmmnbmgbol (3300 gdols Fo@dmgdyero 3Gm©y]@ob
doEgemdsby.

Y
=Y+¢

S
T =7

(R,S,T)

30mp®sds Matlab-%bg

function dxdt=lorenci(t,p)

dxdt=[10*(p(2)-p(1))
28*p(1)-p(2)-p(1)*p(3)
p(1)*p(2)-8/3*p(3)];

end

t=[0 501;
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yO=[L;1;1];

[t,p]=ode45(@lorenci,t,y0);
subplot(3,1,1);plot(t,p(:,1));xlabel('t");ylabel("p(1)")
subplot(3,1,2);plot(t,p(:,2));xlabel('t");ylabel('p(2)")
subplot(3,1,3);plot(t,p(:,3));xlabel('t");ylabel('p(3)")

20

_20 | | | | | | |

50

p(2)
o

_50 | | | | | | | | |
0 5 10 15 20 25 30 35 40 45 50
t
50
D
a
O | | | | L | | | |
0 5 10 15 20 25 30 35 40 45 50
t
t=[0 50];

yO0=[1;1;1];

[t,p]=ode45(@lorenci,t,y0);plot(p(:,1),p(:,2))

30 T

20r

10+

10+

20+

-30

| | | | |
-20 -15 -10 -5 0 5
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x=[0.1,0.1,0.1];

xdot=[0,0,0];

sigma=10;

r=28;

b=8/3;

h=0.01;

p13=plot3(x(3),x(1),x(2),"-,...
'EraseMode','none','color’,'d");

grid

axis([-20 20 -20 20 0 80])

xlabel('x")

ylabel('y")

zlabel('z")

hold on

while 1
xdot(1)=sigma*(x(2)-x(1));
xdot(2)=r*x(1)-x(2)-x(1)*x(3);
xdot(3)=x(1)*x(2)-b*x(3);
Xp=X;
x=x+h*xdot;
set(p13,'XData',[xp(1) x(1)],...

"YData',[xp(3) x(2)]....
'ZData’,[xp(3) x(3)])

drawnow

end
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J Figure 1 EJ@E|

File Edit Yiew Insert Tools Deskbop Window  Help

DEedE W RN ¥ 08 = O

-20 :
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